[2020]

Right Angle Reducers 5% {5 R A E 32 &l 5 5% 1%

BFE &

i E O K S H B 3 EE KOS o B I o

[ mozEmmrss /| AEgnES2E |



-_ L/ " 7/ / ; "““ ’./ ’ \ »

Quality Supreme & Customer's Satisfaction

ERERHBERE - EEETRUFI RZERE

Space can be more effectively used by right angle reducer

& LIMING




= mZY5% MODEL

BEUR D
1-Stage

SR RED
2-Stage

SUW=15N
Min. Backlash

BE— R
BREME

BHERAANTA
Max.
Input Power

BRE B A\ R
Rated
Input Speed

=P IPN L3
Max.
Input Speed

Efficiency

arcmin

arcmin

kW

FT

JT

HY

HF

o
’.r"‘
1
J

2 38 44 56 84 | 87 98 108 124
50 - 75
oz 2.3 5.10 | 5-10 | 510 | 20 2000
3.4 . 2 . . . 30 - 40 | 200 - 250 .
5 50 ~ 60 | 300 - 400
500
10~50 10 ~50 10 25 ~ 150 - 25~150 . - 251‘0500‘
<3 <10 <3 <3 <3 <3 <8 <8 <1
<2 <2 <2 <2 <2 <2 <10 <10 <2
22 0.75 15 22 11 11 15 0.75 15
2,000 = 2,000 2,000 700 700
~ ~ 3,000 ~ ~ ~ 2,000 2,000 3,000
3,000 | 3,000 3,000 | 4,000 @ 4,000
3,000 4500 | 3,000 | 3,000 4,500
~ 7,000 | 6,000 ~ ~ ~ 3,000 3,000 ~
7,500 8,000 | 6,000 @ 6,000 6,000
94% 94% 93% 93% 55% 55%
e ~ > 96% = = > 96% ~ ~ >98%
98% 98% 96% 96% 90% 90%




e e

ST series

)8 2% HIGH PRECISION SPIRAL BEVEL GEAR REDUCER

Indication of Model Numbers
HTE R R

@J _F 1 N | B 3 -- PO

R T
Type

ST

Model

65
75
90
110
140
170
210
240
280

ANFER
Input

F: AJ1ER
Input Flange

R44: B &% Reducer

1-Stage:
R44 -~ R62...
2-Stage:
R62S...
2-Stage (A-Type) :
R44A - R62A...

D: EANEL (BHRE)
Single Input Shaft
(Keyway)

D1: EANEL (i

&)

Single Input Shaft
(No Keyway)

Y: AL (BEIE)
Double Input Shaft
(Keyway)

Y1 A T80 (FRRE)
Double Input Shaft
(No Keyway)

HAZER
Qutput

O: B hzEd
Hollow Output Shaft

N: BB RUE (BRE)
Single Clamping
(Keyway)

N1: EZ R REE (REE)
Single Clamping
(No Keyway)

M: &2 RWME
Double Clamping

S: Bl NED (BRE)
Single Output Shaft
(Keyway)

S1: B DB (FRIEE )
Single Output Shaft
(No Keyway)

V: EH AL (BRE)
Double Output Shaft
(Keyway)

V1 &R N8 (EEE )
Double Output Shaft
(No Keyway)

P: 12485
Ball Screw (75#~210#)
PR PR s o
Taper Bearing Only

#hER R

Bearing

B: iR ERBAE

Ball Bearing
(65#~280#)
(Ratio: 1~5)

T: R B

Taper
Bearing
(75#~280#)
(Ratio: 2~5)

&L
Ratio

B 1-Stage
1,2,3,4,5

BECEE
TERE
With 1-Stage
Planetary
Reducer

10 ~ 50

biYi-324
TEREW
With 2-Stage
Planetary
Reducer

75 ~ 500

Shaft
Direction

L: ZT

Left Shaft
R: A

Right Shaft

1. B HER

N - S oIl
e

Shaft direction
is optional for
output type N,
S.

2. HAOERKP
HRE@E
Output type
P only for R
shaft.

A%
Backlash
Class

PO
P1
P2

The Model & Ratio Table of Bevel Gear Reducer Assembly Planetary Reducer
o R 1 1 o 17 52 B0 3R e B 578 KR EE—

él:-&‘x_-

e Kl

110
140
170
210
240

280

abhwN =

BRAESR | ITERERIEAESR
Flange Planetary
Model Reducer Model

62 44 -~ 62
90 62
90 80
120 90
142 120
180 142
220 180
220 220

5:10

BERTERRE R R
Ratio of 1-Stage Planetary Reducer

LB RATERURMR 2R
Ratio of Bevel Gear Recucer Fitted
with 1-Stage Planetary Reducer

10-15-20+-25-30-40- 50

LEATE R IR IELD

Ratio of 2-Stage Planetary Reducer

25-50-100

RIS RTE R R R
Ratio of Bevel Gear Recucer Fitted
with 1-Stage Planetary Reducer

75+100 ~

125 -

150 ~ 200 ~
250 ~ 300 - 400 - 500




Selection of Type

iR T EE

4 I &+ E

adA] indinp

A A = Input Type

F ATARE R R D AN
Input Flange Reducer Single Input Shaft

(0]

H A p 2=
Hollow
Output

Shaft

N
B
RREME
Single
Clamping

M
s
RRME
Double
Clamping

S
BB N8
Single
Output Shaft

Vv
€8 DB
Double
Output Shaft

P
ZAR

Ball Screw

1. HAFC N ~ S G LUEEZE NG - Shaft direction is optional for output type N, S.
2. A% P % R #E - Output type P only for R shaft.

Y € AE
Double Input Shaft

& LIMING




= iE 2 IR e AR e iR % HIGH PRECISION SPIRAL BEVEL GEAR REDUCER

Rotating Direction
fie#& 75 [mlE AR

H0E 2
Output Shaft 2

AT 1
Input Shaft 1

L E@
Shaft Direction

7% 1

L @@
Shaft Direction
%A 1
Output Shaft 1
HEh 2
Output Shaft 2
R @5
Shaft Direction - A8 1
i Input Shaft 1
Note:

RATLBIREmER "IREWME L - R BEENETE L -

708 2
Output Shaft 2

]
4

AT18h 2 L A A28 1
Input Shaft 2 ‘ _ Input Shaft 1

708 1

A8 2 o f - VA8 1
: [ Input Shaft 1

H 7% 1
Output Shaft 1

O 2
Output Shaft 2

A o S PSR )
Input Shaft 2 i ] Input Shaft 1

Standard product is L shaft direction, R shaft direction is optional.




Selection Direction of Installation

LRIy O

Side 6

Side 2

A T8 - | ; 5 !' ’ Output Shaft
Input Shaft e - ;
/ \ Side 3

Side 3 Side 4

Side 6

[ Note 1] 0230 % R @@ - Output type for R shaft.

& UMING




= iE 2 IR e AR e iR % HIGH PRECISION SPIRAL BEVEL GEAR REDUCER

Features of ST Series

ST 2SI Em45rh

=R E SRR RIEEER
o HBRERNEKERN FEEBERSS
AGMA12 #RIZHELIR -

High precision grinded and

carburized spiral bevel gears
® High precision grinded and carburized spiral
bevel gears to meet standard AGMA12.

RBERVRRETR CAE il
o 1% Gleason SHEMBM BN - BIBECEBARVENSY - RETESHEURS/NRE -
o IRIFE 3D-CAE BUBMIRRATOATILHT - iR ISR E RIBIEREMETHN - WINEHR R RARMNERED -

Optimized Design and CAE Analysis
® Use Gleason's design software to design new spiral bevel gears. Through the ideal gear contact pattern for

application, achieve high permissible output torque.
® Employs 3D-CAE software for analysis and design, the software allows for analyzing the strength of the entire gear

reducer and helical teeth. Increasing the service life of gears and the gear reducer.




Features of ST Series
ST 5 Emi4FEL

(B
®

£ Gleason £ Eea#w N L& - NN
ITHESRNIERSZER  BRES

R ERE -
o BIgs/NTZE 2 WA UA -

Low Backlash

® Using Gleason high precision CNC
grinding machine to grinding the

spiral bevel gears.

e Torsional backlash depending on

design up to <2 arcmin.

ZEREBMIRESRAE
ERZESE -

o AENHMRTIMBERRZELE

ERANEX -

Mounting Position

® Multiple precision machined surface
is easy for assembly, suitable for any

optional mounting orientation.

® Qutput shaft and input shaft are
designed to suit for various industries

applications.

BAR

E SR IRED

c BREEHENBREERALER
EERFANTEXERATLUEF
500:1 HIRERLE -

More High Gear Ratio

® High precision grinded and
carburized spiral bevel gears with
optimal designed planetary gear can
do ratio 500: 1.

elReE
o SREMATHNEN BEAVHE -

No Maintenance
@ |t features no maintenance and long
service life.

SHEEE
o — Bt TR IR B A M) BT A
,& °

o HEEZE EAMMREHRE &
VEBTE - EEEMNIER FEEHESIE
S R ARBRIRLE -

High Output Torque

® The gear box is one-piece
constructed to ensure the high rigidity
and corrosion-resistant capability.

BRI BE B

o A IGE A0 E IR B AT A
L WEBTFEHF - MRRE
BHABRT &SN ERELERF
BE - RESKROBHISE -

Collet Locking Mechanism

® The input-end and the motor are
coupled through a collet locking
meshanism. It has passed
dynamical balance analysis to
assure concentricity and balance on
the connection and no backlash for
power transmission while running at
high speed.

& LIMING




[SE-pa i
Characteristic of ST Series
ST 4 EmiFE

B EURIZRT% 1-Stage

25 B E HIGH PRECISION SPIRAL BEVEL GEAR REDUCER

BSfiI Ll:
150 1,300 | 1,688 | 2,110
2 24 42 68 150 330 544 1,220 | 1,510 | 2,666
REE#H H4E / Rated Output Torque
’ Nomini pt » d W 7 Nmo| 3 | 18 | 83 | 54 | 120 | 270 | 450 | 1020 | 1,266 | 2213
ominal output torque
4 13 28 52 100 224 376 860 1,048 | 2,026
5 12 25 40 85 196 320 740 1,022 | 1,888
B A NNZRIE / )
;ax Accsleration Torque T | Nm | 1~5 1.5 (358 EH L %R 1.5 Times of Rated Output Torque
Bz AR AE / Max. Output Torque
ZF%%E | Emergency Sfop Torzue wor| Nm | 1~5 3 [ZRAEH L 3 Times of Rated Output Torque
RAE# AB:R / Rated Input Speed Pis rpm 1~5 | 3,000 | 3,000 | 3,000 | 2,500 | 2,500 | 2,000 | 2,000 | 2,000 | 2,000
B AH ABZE / Max. Input Speed N rpm 1~5 | 6,000 | 6,000 | 5,500 | 4,500 | 3,500 | 3,000 | 3,000 | 3,000 | 3,000
PO - <3 | <3 | <3 | =3 | <3 | <3 | <3 | <3
=P& / Backlash arcmin| P1 <6 <6 <6 <6 <6 <6 <6 <6 <6
P2 | <9 | <9 | <9 | <9 | <9 | <9 | <9 | <9 | =9
B[FR@A | Max. Radial Force
o ) Fop N 1~5 700 1,050 | 1,500 | 2,360 | 3,080 | 4,800 | 6,400 | 8,200 | 9,500
R EK % Ball Bearing
BEFFEE ] / Max. Axial Force
L N 1~5 350 525 750 1,180 | 1,540 | 2,400 | 3,200 | 4,100 | 4,750
R IR Ball Bearing
BFFE@A / Max. Radial Force
25 o i T B Fop N 2~5 - 2,400 | 3,200 | 5,000 | 6,500 | 9,00 | 13,000 | 17,000 | 19,300
ki aper Bearing
AFFEHE A / Max. Axial Force
348 Taper Bearing Fop N 2~5 - 1,200 | 1,600 | 2,500 | 3,250 | 4,550 | 6,500 | 8,500 | 9,650
bk
65#~210# :
S5 FHAERE : >30,000 (S1 E#EE# : >15,000 hrs)
PN . . S5 Cycle O tion: >30,000 (S1 Conti o tion: >15,000 h
fFEFEEdn / Service Life Ly hr 1~5 240#~2):OZ: peration: > ( ontinuous Qperation: > rs)
S5 FHAERE : >20,000 (S1 E#EE#E : >10,000 hrs)
S5 Cycle Operation: >20,000 (S1 Continuous Operation: >10,000 hrs)
e * | Efficiency n % 1~5 94% ~ 98%
/ Operating Temperature °C 1~5 -30°C ~ +100°C
i3 & / Lubrication 1~5 = 5/EBE M Synthetic Oil
12 = 18 / Noise Level dB 1~5 <65 ‘ <67 ‘ <7 ‘ <73 ‘ <74 ‘ <75 ‘ <77 ‘ <80 ‘ <82

EHE

£ Mass Moments of Inertia (kgcm?)

1 0.51 1.79 4.93 12.5 36.8 85.9 287 428.4 668.7
2 0.44 0.95 2.78 7.41 15.6 39.3 123 250.8 526.5
3 0.43 0.78 2.34 6.18 10.9 28.5 84.1 183.5 357.0
4 0.43 0.72 218 5.71 9.19 24.5 69.9 157.4 309.2
5 0.43 0.69 210 5.48 8.32 22.6 62.7 137.4 267.7




Characteristic of ST Series
ST 4 EmiFE
SELEEM 2-Stage

B | &b
1% Model No. ; UrIit 65 75 110 | 140 | 170 | 210 | 240 | 280
10 24 42 68 150 330 544 1,220 | 1,510 | 2,666
15 18 33 54 120 270 450 1,020 | 1,266 | 2,213
20 13 28 52 100 224 376 860 1,048 | 2,026
e p— ) Ton Nm 25 12 25 40 85 196 320 740 1,022 | 1,888
ominal output torque
30 18 33 54 120 270 450 1,020 | 1,266 | 2,213
40 13 28 52 100 224 376 860 1,048 | 2,026
50 12 25 40 85 196 320 740 1,022 | 1,888
B A NNRTHAR / N
;Iiax Acceleration Torque Ts | Nm |10~50 | 1.5 1ZZEZEH LA 1.5 Times of Rated Output Torque
B A# LR / Max. Output Torque .
Zfﬁﬂi%ﬁ  Emergency Sfop Tor?}ue Tnor| Nm | 10~50 3 (258 e 4R 3 Times of Rated Output Torque
XA E ) A\ B3R / Rated Input Speed N rom | 10~50 | 3,000 | 3,000 | 3,000 | 3,000 | 3,000 | 3,000 | 3,000 | 2,500 | 2,500
B AH ABEZR / Max. Input Speed 7 rom | 10~50 | 6,000 | 6,000 | 6,000 | 6,000 | 6,000 | 5,000 | 5,000 | 4,000 | 4,000
PO - <4 <4 <4 <4 <4 <4 <4 <4
=P8 / Backlash arcmin | P1 <7 <7 <7 <7 <7 <7 <7 <7 <7
P2 <10 <10 <10 <10 <10 <10 <10 <10 <10
B[FFZ[EA | Max. Radial Force
vk an% Ball Beari Fop N 10~50 | 700 1,050 | 1,500 | 2,360 | 3,080 | 4,800 | 6,400 | 8,200 | 9,500
P all Bearing
BEFEREA / Max. Axial Force
WEWE];( Ball Beari A N 10~50 | 350 525 750 1,180 | 1,540 | 2,400 | 3,200 | 4,100 | 4,750
pic all Bearing
REFE@A / Max. Radial Force
5387 Taper Bearing Fo N 10~50 - 2,400 | 3,200 | 5,000 | 6,500 | 9,400 | 13,000 | 17,000 | 19,300
ik r Beari
REFEHE A / Max. Axial Force
Wfﬁﬁﬂi;( Taper Bearing Flp N 10~50 - 1,200 | 1,600 | 2,500 | 3,250 | 4,550 | 6,500 | 8,500 | 9,650
K i
65#~210# :
S5 EHAE# : >30,000 (S1 E4EEHE : >15,000 hrs)
= . . _ S5 Cycle Operation: >30,000 (S1 Continuous Operation: >15,000 hrs)
fEF=1 / Service Life Ly hr | 10~50 040#~2804
S5 FEHAE : >20,000 (S1 EAEEEE : >10,000 hrs)
S5 Cycle Operation: >20,000 (S1 Continuous Operation: >10,000 hrs)
M # | Efficiency 7 % 10~50 90% ~ 94%
AR E / Operating Temperature °C | 10~50 -30°C ~+100°C
M 8/ Lubrication 10~50 = EREE M Synthetic Oil
1 & {& / Noise Level dB | 10~50| <68 ‘ <69 ‘ <73 | <74 ‘ <75 ‘ <76 ‘ <78 ‘ <82 ‘ <84

88 S Mass Moments of Inertia (kgecm?)

)

#ZELE Ratio
10

65 | 75 ] 90 | 110 | 140 | 170 | 210 | 240 | 280
8.9

0.05 0.15 0.18 0.41 0.56 3.25 23.29 53.27
15 0.05 0.15 0.18 0.41 0.56 3.25 8.9 23.29 53.27
20 0.05 0.15 0.18 0.41 0.56 3.25 8.9 23.29 53.27
25 0.05 0.15 0.18 0.41 0.56 3.25 8.9 23.29 53.27
30 0.05 0.15 0.16 0.38 0.53 3.09 8.4 22.51 50.56
40 0.05 0.15 0.16 0.38 0.53 3.09 8.4 22.51 50.56
50 0.05 0.15 0.16 0.38 0.53 3.09 8.4 22.51 50.56

& LIMING



HETRES

ST-FO series

25 B E HIGH PRECISION SPIRAL BEVEL GEAR REDUCER

RATIO : 1.2.3.4.5 ( E2E% 1-Stage)

ATVER - Pz E
Input Flange - Hollow Output Shaft

?B8 h7

B3 (B3
B4

B5

8-B9
(Up & Down)

8-B9

(Front & Back)

D
+3
A1
(170#2A L)
A1 D E
»35 | 10 | 38.3
¢38 | 10 |41.3
@42 | 12 | 453
®48 | 14 | 51.8
¢55 | 16 | 59.3
®60 | 18 |64.4
@65 | 18 | 69.4
unit: mm

65
65
hﬂ. 1:1
M| otta | avte | 1071922 1 49.20.24 |24.28432.35) 3538 354:;85‘;2 485560 | 556065
e 114.3-230 |114.3-180-
N 2 | osoro | sos0ro ) TR 80,95 95110130 | 110130180  114.3-180-230| '*43:230 | 1143190
A3 |M4~M5-M6|M4-MS5-M6| M5+ M6+ M8 | M5+ M6 - M8 |M6 - M8 - M10|M8 - M10 - M12|M10 - M12-M16| M12-M16 | M12-M16
90100115 90 - 100~ 115 200265+ | 200-215-
A4 | 707590 | 70-75-90 | 907190 100.1"% 115145 165 145165200 | 200215265 | 200 e o
222250~ | 222220~
A5 | 6417080 | 6417080 92110130 | 92+110+130 [122+130-150| 146150190 | 182+200+250 | 222 2 o
A6 | M5xP0.8 | M5xP0.8 | M6xP10 | M6xP1.0 | M8xP1.25 | MI0xP1.5 | MI0xP15 | MI0x P15 | M10x P15
B1 M0 | 15-122 | 148162 | 177-191 | 224-238 274 357-350 2945 4215 453.5.483
B2 45 40 58-72 6781 8498 104 147 1545 1815 1735203
B3(B3)| 65 75(74) 90 110 140 170(168) 210 240 280
B4 52 60 72 88 110 134 170 190 220
B5 26 30 36 44 55 67 85 95 110
B6 36 3643 | 51655 | 51655 | 6881 84.5 M7-119  |115-142-145 112.5+142
B7 7 713 9235 | 9.235 9-10 9.5 14-16 1254155 | 12.5-42
B8 | 62 | 64 73 88 106 135 164 205 228 275
B9 | M5xP0.8 | M6xP1.0 | M6xP1.0 | M8xP1.25 | M10xP1.5 | M12xP1.75 | M16xP2.0 | M16xP2.0 | M16x P2.0
c1 |84 |8 | 100 118 144 174 204 250 202 328
c2 | 42 |445| 50 59 72 87 102 125 146 164
c3 | 42 |4a5| 50 59 72 87 102 125 146 164
c IR 2 2 2 2 2 2 2 2 3
cs 5 5 6 6 10 12 14 16 18
cé 16.3 16.3 20.8 24.8 353 433 53.3 59.3 64.4
c7 14 14 18 22 32 40 50 55 60
Weight £3% (k)| 1.7 24 43 74 14.9 245 46 607




ST-RO series

RATIO : 10.15.20.25.30.40.50 ( £E% 2-Stage)

FBECITERIER - B =i

Fitted with Planetary Reducer - Hollow Output Shaft

?B8 h7
T
1 4
~| |8 | A [
©® 7 ©
R -k
o N
([***I***;j HE—
preie
8-B9
(Up & Down) L&_I
B1
8-B9 B3 B2
(Front & Back) B4 B6
B7
=1 T
T g
7 |

L
C1
C3 C2
C4 . .
A3 A6
&
8-B9 12
(Front & Back) 00;77

C4

A1
(210#)

#A1| D E

28 | 8 |313
32| 10 | 353
35| 10 |38.3
38| 10 |41.3

unit: mm

s o5 |75 ) 0 | ro ] w0 | 0 | 20 | 20 | 20

11+ 14 16|11+ 14 16 16+ 19 22| 22-24-28 |28~ 32 35| 35-38-42- | 38" 42 48~
Al | 8911 | 8:9:11 (14)~16-19 2935 4858
50-70-80 |70~ so 95| 95110 | 110~ 130\ 114.3-180 - 114.3 180~
A2 |30-40-50|30-4050|5060-70 (506070 95 o 130 180 30250 930250
M3 M4~ | M3 M4~ | M4-M5- | M4-M5- M5-M6- | M6-M8- | M8-M10~ | M10~M12-
A3 M5 M5 M6 M6 M5~ M6 M8 M10 M12 M16 M12>M16
70-90-100 | 90-100+ | 115-145- | 145-165- | 200-215 | 200-215-
i R R e e S T TP e 165 200 265300 | 265300
A5 | 46-55 | 46-55 |64-70-80|64-70-80|80-92-110 921;2)0 12215130 14619150 13520~2ggs 222520 ?226(3)5
A6 |M4xP0.7 | M4 xP0.7 |M5x P0.8 | M5 x P0.8 | M5 x P0.8 | M6 x P1.0 | M8 x P1.25 | M10x P1.5 | M10xP1.5 | M10x P1.5
B1 132 137 149157 | 165-173 | (191)-203 260 313334 399 479.5 580.5
B2 67 62 74-82 | 75-83 | (81)-93 120 143164 189 239.5 300.5
B3(B3)| 65 75(74) | 75(74) 90 110 140 170(168) 210 240 280
B4 52 60 60 72 88 110 134 170 190 220
B5 26 30 30 36 44 55 67 85 95 110
B6 26 26 |33.5-41.5|33.5-41.5|(33.5)- 455 59 67-83 85 116.5 1175
B7 5 5 6 6 (6)-10 9 1011 10 13.5 12.5
BS 62 73 73 88 106 135 164 205 228 275
B9 | M5xP0.8| M6 x P1.0 | M6 x P1.0 | M6 x P1.0 | M8 x P1.25 |M10 x P1.5|M12 x P1.75| M16 x P2.0 | M16 x P2.0 | M16 x P2.0
c1 84 100 100 118 144 174 204 250 292 328
c2 42 50 50 59 72 87 102 125 146 164
c3 42 50 50 59 72 87 102 125 146 164
C B 2 2 2 2 2 2 2 2 2 3
c5 5 5 5 6 6 10 12 14 16 18
Ccé 16.3 16.3 16.3 20.8 24.8 35.3 43.3 53.3 59.3 64.4
c7 14 14 14 18 22 32 40 50 55 60
Weight £3% (kg)| 1.9 36 3.4 4.8 8.5 14.2 24 52 73.7

& LIMING




= iE 2 IR e AR e iR % HIGH PRECISION SPIRAL BEVEL GEAR REDUCER

ST-DO series

RATIO : 1.2.3.4.5 ( E2E% 1-Stage)

BANEL - HApzEs
Single Input Shaft - Hollow Output Shaft

.
A - {
 9B10OW =
| |
[ ] N B2 | B1
$ | 4 A2
| Ta |
g © Fq' 0"’[
~|m T - & —r - j <|
B N N
i @ A1 Ad
pid Cod e i
] A-A SECTION
8-B11 -
(Up & Down) | ?B10n7 |
1
B3
oB5 B4
8-B11 B6
(Front & Back) B7 B8 C4 C4
TR ] __I
_ B9 -
® | B\ C5
A
® ® - -
de - o - oL S
@ @ A (boz\ e
8 | 8% | 8-B11 | | ANET 84
(Front & Back)
unit: mm
65
SO e
A A1 14 16 18 22 32 40 50 55 60
A2 5 5 6 6 10 12 14 16 18
A3 16 18 20.5 24.5 35 43 53.5 59 64
A4 M5x P0.8 | M5xP0.8 | M8 xP1.25 | M8 x P1.25 | M10 x P1.5 |M12 x P1.75 | M12 x P1.75| M16 x P2.0 | M16 x P2.0
B1 25 25 5 5 5 5 5 5 5
B2 15 25 25 30 40 50 65 70 90
B3 127.5 143 168.5 207 250 300 375 430 505
B4 62.5 68 78.5 97 110 130 165 190 225
B5(B5') 65 75(74) 90 110 140 170(168) 210 240 280
B6 52 60 72 88 110 134 170 190 220
B7 26 30 36 44 55 67 85 95 110
B8 22 32 38 43 53.5 64 77 82 105
B9 20 30 35 40 50 60 75 80 100
B10 62 64 73 88 106 135 164 205 228 275
B11 M5xP0.8 | M6xP1.0 | M6xP1.0 | M8xP1.25 | M10xP1.5 [M12x P1.75| M16 x P2.0 | M16 x P2.0 | M16 x P2.0
C1 84 89 100 118 144 174 204 250 292 328
C2 42 | 44.5 50 59 72 87 102 125 146 164
C3 42 | 445 50 59 72 87 102 125 146 164
C C4 2 2 2 2 2 2 2 2 3
C5 5 5 6 6 10 12 14 16 18
C6 16.3 16.3 20.8 24.8 35.3 43.3 53.3 59.3 64.4
C7 14 14 18 22 32 40 50 55 60
Weight +3% (kg) 2.1 2.8 4.9 9 15.5 25 53 73.4




ST-YO series

RATIO : 1.2.3.4.5 ( E2E% 1-Stage)

EANE - HAPEH
Double Input Shaft - Hollow Output Shaft

) @ B10 h7 .
B1 B2 |[ ]| B2 , B1
= _
$ | 4 A2
g EJ I T2
PR S ™
Slg| =11t e = 2
© I
—— o | Nt
B N S T | _$_
— ]_ A-A SECTION
8-B11 -
(Up & Down) | ?B10 n7 |
I 1
B3
B4 , B4
|
0B5
B6
B8 | B7 B8 C4 . L C4
B9 _ I _ B9 Iﬁ _I
¢ & | & C5
A A
[  E DSNNSZ/7J0 | B 5
® -
A @ ® A (\)Of\
[ 2 | @4 8B11 | | |
8-B11 ' (Front & Back)
(Front & Back)
unit: mm
65
65 210
1 1
A
A2 5 5 6 6 10 12 14 16 18
A3 16 18 20.5 24.5 35 43 53.5 59 64
A4 M5xP0.8 | M5xP0.8 | M8xP1.25 | M8 xP1.25 | M10 x P1.5 [M12 x P1.75|M12 x P1.75 | M16 x P2.0 | M16 x P2.0
B1 2.5 2.5 5 5 5 5 5 5 5
B2 15 25 25 30 40 50 65 70 90
B3 190 210 247 304 360 430 540 620 730
B4 95 105 123.5 152 180 215 270 310 365
B5(B5') 65 75(74) 90 110 140 170(168) 210 240 280
B6 52 60 72 88 110 134 170 190 220
B7 26 30 36 44 55 67 85 95 110
B8 22 32 38 43 53.5 64 77 82 105
B9 20 30 35 40 50 60 75 80 100
B10 62 64 73 88 106 135 164 205 228 275
B11 M5xP0.8 | M6xP1.0 | M6xP1.0 | M8xP1.25 | M10xP1.5 |[M12x P1.75| M16 x P2.0 | M16 x P2.0 | M16 x P2.0
@il 84 89 100 118 144 174 204 250 292 328
C2 42 | 445 50 59 72 87 102 125 146 164
C3 42 | 44.5 50 59 72 87 102 125 146 164
C C4 2 2 2 2 2 2 2 2 3
C5 5 5 6 6 10 12 14 16 18
C6 16.3 16.3 20.8 24.8 35.3 43.3 53.3 59.3 64.4
Cc7 14 14 18 22 32 40 50 55 60
Weight +3% (kg) 2.85 3.6 6.2 11.5 18 28 57 95

& LIMING




BB

RATIO : 1.2.3.4.5 ( E2E% 1-Stage)

ANER - BEERBWHE

Input Flange - Single Clamping
@ B8 h7

B3 (B3
B4

B5

8-B9
(Up & Down)

8-B9

(Front & Back)

®B8h7

OA5

A A

WSy

N

‘{'

92 fie AR e ¥ Bl 3R HIGH PRECISION SPIRAL BEVEL GEAR REDUCER

ST-FN series

I"

Shaft Direction

C1

(170#LAL)

®A1| D E

35| 10 |38.3
38 | 10 |41.3
42 | 12 | 453
48 | 14 |51.8
55 | 16 | 59.3
60 | 18 | 64.4
65 | 18 | 69.4

unit: mm

o5 |53 75 | o0 | o | wo | w0 | 20 | a0 | 20
Al | 9114 | 1a19 |16 19 22" | 192224 |2 28 32 3538 35428522 48-55-60 | 556065
70 80 95+ |70-80-95- 114.3-180- | 114.3-230 [114.3-180"
A A2 | 506070 | 506070 10 10 | 95°110°130| 110130180 230 250 930250
A3 [M4-M5-M6|M4-M5-M6|M5- M6~ M8|M5 M6 - M8 M6 - M8 - M10|/M8 ~M10 -M12|M10 M12-M16| M12-M16 | M12-M16
90-100- | 90-100- 200265 | 200215+
A4 | 70°75-90 | 707590 | T i | 15145 |115145°165/145:165200 200215265 300 265300
A5 |64-70-80 | 64-70-80 [92-110-130|92 110~ 130 12215130 146150190 182200 - 250 222262550 222520?2225
A6 | M5xP0.8 | M5xP0.8 | M6xP1.0 | M6xP1.0 | M8xP1.25 | MIOxP1.5 | M10xP15 | MIOxP1.5 | M10xP1.5
B1 110 115122 | 148162 | 177-191 | 224-238 274 357359 394\'22*:_251'5 453.5-483
45 40 5872 6781 8498 104 147 154.5° | 4735203
181.5-184.5
B3(B3) 65 75(74) 90 110 140 170(168) 210 240 280
B4 52 60 72 88 110 134 170 190 220
B5 26 30 36 44 55 67 85 95 110
B6 36 3643 51655 | 51-65.5 6881 84.5 117 115142145 112.5+142
B7 7 7413 9-23.5 9:23.5 9-10 9.5 1416 125155 | 12.5-42
B8 | 62 | 64 73 88 106 135 164 205 228 275
B9 | M5xP0.8 | M6xP1.0 | M6xP1.0 |M8xP1.25| MI0xP1.5 | M12xP1.75 | M16xP2.0 | M16x P2.0 | M16 x P2.0
c1 | 104 | 109 120 138 169 202 240 285 324 370
C2 | 42 | 445 50 59 72 87 102 125 146 164
C3 | 62 | 645 70 79 97 115 138 160 178 206
c4 2 2 2 2 2 2 2 2 3
c5 | 110 | 113 124 142 171 202 242 288 329 369.8
C e 5 5 6 6 10 12 14 16 18
c7 16.3 16.3 20.8 248 35.3 43.3 53.3 59.3 64.4
c8 14 14 18 22 32 40 50 55 60
c9 22 22 28 34 44 52 65 73 83
c10 6-M6 6-M6 6-M6 8-M6 8-M6 8-M8 8-M8 8-M8 8-M10
Weight +3% (kg)| 1.7 2.4 4.3 71 14.9 245 46 61.2




ST-RN series

RATIO : 10.15.20.25.30.40.50 ( £E% 2-Stage)

BETERERK - EEREWHE

Fitted with Planetary Reducer - Single Clamping

P B8 n7
& 1 4
s 0 T
2l ‘ A
i ot
3 s —
o J
FooTT e
8-B9
(Up & Down)
P B8 h7
B1
8-B9 B3

(Front & Back)

s 65 |75 S0 o | w0 | 0 | 210 | 20 | 200

OA5

B7

hi‘ Ll
N

8-B9
(Front & Back)

R &

Shaft Direction

C1

gA1| D E
928 | 8 |[31.3
$32 | 10 | 353
$35| 10 |38.3
$38 | 10 |41.3
unit: mm

i

M14~ | 11-14- 16192222 2428~ (20-32.35- (3538 42 (3842 45
AL 89T 1 891 | yg1g | 16019 (14716719 3235 4855
A2 [304050|304050|50+60+70| 506070 o 70" 79%\2(1’0 95110130 1101;30 e ey "243;3\122%
N s | MM MOMa MM M NS | ey | MO Mo | MOMB: | MMIO- BIOMIZ: | oy
A4 |46+60-63]466063]70-75-90(70+75-90 1090 | 99 100 l415.145.165 140 105" | 200 210" | 200 215
A5 | 4655 | 4655 |6470:80|64-7080|8092-110| 92 110" | 122 190~ 1146 150~ | 182 200 | 222 220
A6 |M4xP0.7| M4 xPO.7 | M5 x P0.8 | M5 x P0.8 | M5xP0.8 | M6 x P1.0 | M8 x P1.25 | M10 x P1.5 | M10 x P1.5 | M10 x P1.5
B1 132 137 | 149157 | 165173 | (191)-203 | 260 | 313-334 399 4795 580.5
B2 67 62 7482 | 75-83 | (81):93 | 120 | 143-164 189 239.5 300.5
B3(B3)| 65 75(74) | 75(74) 90 110 140 | 170(168) 210 240 280
B4 52 60 60 72 88 110 134 170 190 220
B5 26 30 30 36 44 55 67 85 95 110
B6 26 26 |33.5-415335.41.5((33.5)-45.5 59 6783 85 116.5 175
B7 5 5 6 6 (6)10 9 1011 10 13.5 12.5
B8 62 73 73 88 106 135 164 205 228 275
B9 |M5xP0.8|M6xP1.0| M6 xP1.0| M6xP1.0 | M8 x P1.25| M10 x P1.5 | M12 x P1.75 | M16 x P2.0 | M16 x P2.0 | M16 x P2.0
ct 104 120 120 138 169 200 240 285 324 370
c2 42 50 50 59 72 87 102 125 146 164
%) 62 70 70 79 o7 13 138 160 178 206
c4 2 2 2 2 2 2 2 2 2 3
cs | 118 124 124 142 171 202 242 288 329 369.8
C S 5 5 5 6 6 10 12 14 16 18
c7 | 163 16.3 163 | 208 24.8 35.3 433 53.3 59.3 64.4
cs 14 14 14 18 22 32 40 50 55 60
co 22 22 22 28 34 44 52 65 73 83
C10 | 6M6 | 6M6 | 6-M6 | 6-M6 | B8M6 | 8-M6 8-M8 8-M8 8M8 | 8-MI0
Weight 3% (kg)| 1.9 36 3.4 48 8.5 14.2 24 52 74.2

& LIMING



= iE 2 IR e AR e iR % HIGH PRECISION SPIRAL BEVEL GEAR REDUCER

ST-DN series

RATIO : 1.2.3.4.5 ( E2E% 1-Stage)

BANEL - BERREE
Single Input Shaft - Single Clamping

?B10 h7
N
NL
m

] B2 B1 ( | ]

B5 (B5')
B6
*.
_i©_____
Sl
N
|
|
I
|
J
A3 )
RS\ 3
|
|
I
RN
BN
|
|

8.B11 ] A-A SECTION [
Up & D %
(Up own) ‘ ‘ R 8

| | Shaft Direction

2
E_
R
<13 e aa T
pid L“‘|““J 4| ] 4 L‘“,"“’ sd i
! |
+ 1

B4
8-B11
(Front & Back) B8 T C4
B B9 6 .
clo ||
A B
Bl (RN ul
VYRS ©
NSS! -
A R
)
- 8-B11 —
(Front & Back)
unit: mm
65
S5 08 75 | 0 | o | o | o | 200 | 260 | 20 |
A Al 14 16 18 22 32 40 50 55 60
A2 5 5 6 6 10 12 14 16 18
A3 16 18 20.5 24.5 35 43 53.5 59 64
A4 M5xP0.8 | M5xP0.8 | M8xP1.25 | M8 x P1.25 | M10 x P1.5 |M12 x P1.75|M12 x P1.75| M16 x P2.0 | M16 x P2.0
B1 2.5 2.5 5 5 5 5 5 5 5
B2 15 25 25 30 40 50 65 70 90
B3 1275 143 168.5 207 250 300 375 430 505
B4 62.5 68 78.5 97 110 130 165 190 225
B5(B5') 65 75(74) 90 110 140 170(168) 210 240 280
B6 52 60 72 88 110 134 170 190 220
B7 26 30 36 44 55 67 85 95 110
B8 22 32 38 43 53.5 64 77 82 105
B9 20 30 35 40 50 60 75 80 100
B10 62 64 73 88 106 135 164 205 228 275
B11 | M5xP0.8 | M6xP1.0 | M6xP1.0 | M8xP1.25 | M10 x P1.5 |M12 x P1.75 | M16 x P2.0 | M16 x P2.0 | M16 x P2.0
C1 104 | 109 120 138 169 202 240 285 324 370
C2 42 | 445 50 59 72 87 102 125 146 164
C3 62 | 64.5 70 79 97 115 138 160 178 206
c4 2 2 2 2 2 2 2 2 3
c5 | 110 | 113 124 142 171 202 242 288 329 369.8
C C6 5 5 6 6 10 12 14 16 18
Cc7 16.3 16.3 20.8 24.8 35.3 43.3 53.3 59.3 64.4
c8 14 14 18 22 32 40 50 55 60
C9 22 22 28 34 44 52 65 73 83
c10 6-M6 6-M6 6-M6 8-M6 8-M6 8-M8 8-M8 8-M8 8-M10
Weight +3% (kg) 21 2.8 4.9 8.59 15.5 25 53 73.9




ST-YN series o

RATIO : 1.2.3.4.5 ( E2E% 1-Stage)

€A - BERBEEHME
Double Input Shaft - Single Clamping

?B10 h7
B1 B2 | B2,  B1
[ | ]
i i @ A2
o B £y A
2 -
. BA1 w7 \ A4
A-A SECTION
8-B11
(Up & Down) R i
Shaft Direction
B3
B4 , B4
|
0B5
B6
B8 | B7 B8
B9 _ I _ B9
& & | G
® @
} NEARNW i
NZ K%

— 8-B11

8-B11 (Front & Back)
(Front & Back) -
unit: mm
65
SNEHEEIEAEIEIEIEIEN
A1 14 16 18 22 32 40 50 55 60
A2 ) 5 6 6 10 12 14 16 18
A3 16 18 20.5 24.5 35 43 53.5 59 64
A4 M5xP0.8 | M5xP0.8 | M8 xP1.25 | M8 x P1.25 | M10 x P1.5 |M12 x P1.75|M12 x P1.75| M16 x P2.0 | M16 x P2.0
B1 2.5 25 5 5 5 5 5 5 5
B2 15 25 25 30 40 50 65 70 90
B3 190 210 247 304 360 430 540 620 730
B4 95 105 123.5 152 180 215 270 310 365
B5(B5') 65 75(74) 90 110 140 170(168) 210 240 280
B6 52 60 72 88 110 134 170 190 220
B7 26 30 36 44 55 67 85 95 110
B8 22 32 38 43 53.5 64 77 82 105
B9 20 30 35 40 50 60 75 80 100
B10 62 64 73 88 106 135 164 205 228 275
B11 M5 x P0.8 M6 xP1.0 | M6xP1.0 | M8xP1.25 | M10x P1.5 |M12x P1.75| M16 x P2.0 | M16 x P2.0 | M16 x P2.0
C1 104 | 109 120 138 169 200 240 285 324 370
Cc2 42 | 445 50 59 72 87 102 125 146 164
C3 62 | 64.5 70 79 97 113 138 160 178 206
C4 2 2 2 2 2 2 2 2 3
C5 110 | 113 124 142 171 202 242 288 329 369.8
C C6 5 5 6 6 10 12 14 16 18
Cc7 16.3 16.3 20.8 24.8 35.3 43.3 53.3 59.3 64.4
C8 14 14 18 22 32 40 50 55 60
C9 22 22 28 34 44 52 65 73 83
C10 6-M6 6-M6 6-M6 8-M6 8-M6 8-M8 8-M8 8-M8 8-M10
Weight +3% (kg) 2.85 3.6 6.2 11.5 18 28 57 95.5

& LIMING



= iE 2 IR e AR e iR % HIGH PRECISION SPIRAL BEVEL GEAR REDUCER

ST-FM series

RATIO : 1.2.3.4.5 ( E2E% 1-Stage)

ATER -

EERRBME

Input Flange - Double Clamping

)
B5

B4

(Up & Down)

8-B9

(Front & Back)

D
+
A1
(170#24L)

#A1| D E

$35 | 10 |38.3

®38 | 10 | 413

42 | 12 | 453

®48 | 14 |51.8

55 | 16 | 59.3

60 | 18 | 64.4

#65 | 18 | 69.4
unit: mm

65
65 210
hﬂ. 1:1)
A1l 91114 1419 16- 19 22: 19-22-24 24 28 32: 35-38 35428522 48-55-60 | 55-60-65
70~ 80 95+ 70-80-95- 114.3-180 - 114.3-230+ |{114.3-180 "
A A2 50-60-70 | 506070 110 110 95-110-130| 110130180 230 250 230250
A3 M4-M5-M6|M4-~M5-M6| M5~M6~M8 | M5~M6~M8 |[M6-M8-M10/M8~M10~M12|M10~M12~M16| M12 - M16 M12-~M16
90-100" 90100115~ 200265+ 200215~
A4 707590 | 70~-75-90 115145 145 115-145-165| 145-165-200 | 200215265 300 265300
122130~ 222-250- | 222220~
A5 64-70-80 | 64-70-80 | 92110130 | 92110130 150 146-150-190 | 182200250 265 250 - 265
A6 M5 x P0.8 | M5 x P0.8 M6 x P1.0 M6 x P1.0 M8 x P1.25 M10 x P1.5 M10 x P1.5 M10 x P1.5 | M10 x P1.5
B1 110 115122 148162 177 ~191 224238 274 357359 394"152;12;'5 ) 453.5-483
45 40 58-72 6781 84-98 104 147 154.5 173.5~203
181.5-184.5 :

B3(B3') 65 75(74) 90 110 140 170(168) 210 240 280

52 60 72 88 110 134 170 190 220

B5 26 30 36 44 55 67 85 95 110

115~

B6 36 3643 51-65.5 51-65.5 6881 84.5 117 142 145 112.5-142

B7 7 7-13 9.23.5 9.23.5 9:10 9.5 1416 12.5-15.5 | 12.5-42

B8 62 64 73 88 106 135 164 205 228 275
B9 M5 x P0.8 | M6 x P1.0 M6 x P1.0 M8 x P1.25 M10 x P1.5 M12 x P1.75 M16 x P2.0 M16 x P2.0 | M16 x P2.0

C1 124 | 129 140 158 194 230 276 320 356 412

C2 62 | 64.5 70 79 97 115 138 160 178 206

C C3 136 | 138 150 166 198 232 280 327 370 4117

C4 14 14 18 22 32 40 50 55 60

C5 22 22 28 34 44 52 65 73 83

C6 6-M6 6-M6 6-M6 8-M6 8-M6 8-M8 8-M8 8-M8 8-M10

Weight +3% (kg) 1.7 2.4 4.3 71 14.9 24.5 46 61.8




ST-RM series

RATIO : 10.15.20.25.30.40.50 ( £E% 2-Stage)
BT ER R -

EERRME

Fitted with Planetary Reducer - Double Clamping

B4
B5

8-B9
(Up & Down)

8-B9
(Front & Back)

DA5

B7

.

A2 Hg

C1

C2

8-B9
(Front & Back)

C3

%
N
7

(210#)
#A1| D E
28| 8 |313
32 | 10 | 353
$35 | 10 |38.3
$38 | 10 | 413
unit: mm

S 65 )75 | 90 ) 0 | M0 | 10 | 20 | 20 | 260

1114~ | 11-14~ 16-19~ |22-24-28- | 28" 32 35+ | 35-38-42- | 38-42-
Al 1891 89T yeiqg | qee19 |(16°19) 5504 | 32035 4855 4855
50-60- | 50-70- | 70-80- | 95-110- | 110- 130\ 114.3-180 [114.3-180-

RO DA B DA S0 S0 B 80-95 | 95-110 130 180 230-250 | 230250

M3 M4 | M3 M4> | M4-M5- | M4~M5- M5 M6~ | M6-M8- | M8-M10+ | M10-M12-

A IS M5 M5 M6 M6 M5~ M6 M8 M10 M12 M16 M12-M16
70-90- | 90100+ | 115-145- | 145-165- | 200-215- | 200215+

A4 |46:60°63]46-6063/70:7590\70°75:90] 455 415 | 115.145 165 200 265300 | 265300

A5 46-55 | 46-55 |64-70-80|64-70-80|80-92-110 921;g) 1221;30 1461;30 1350?225 ngg?égg
A6 | M4 x P0.7 | M4 x P0.7 | M5 x P0.8 | M5 x P0.8 | M5 x P0.8 | M6 x P1.0 | M8 x P1.25 | M10x P1.5 | M10x P1.5 | M10 x P1.5

B1 132 137 149-157 | 165-173 | (191)°203 | 260 313334 399 479.5 580.5

B2 67 62 74-82 | 75-83 | (81)-93 120 143164 189 239.5 300.5
B3(B3") 65 75(74) | 75(74) 90 110 140 170(168) 210 240 280
B4 52 60 60 72 88 110 134 170 190 220

B5 26 30 30 36 44 55 67 85 95 110

B6 26 26 |33.5-41.5|33.5-41.5|(33.5)-45.5| 59 67-83 85 116.5 117.5

B7 5 5 5 6 (6)-10 9 1011 10 13.5 12.5

B8 62 73 73 88 106 135 164 205 228 275
B9 | M5xP0.8 | M6 x P1.0 | M6 x P1.0 | M6 x P1.0 | M8 x P1.25| M10 x P1.5 |M12 x P1.75| M16 x P2.0 | M16 x P2.0 | M16 x P2.0

c1 124 140 140 158 194 230 276 320 356 412

c2 62 70 70 79 97 115 138 160 178 206

c3 136 150 150 166 198 232 280 327 370 a7

C 14 14 14 18 22 32 40 50 55 60

c5 22 22 22 28 34 44 52 65 73 83

cé 6-M6 6-M6 6-M6 6-M6 8-M6 8-M6 8-M8 8-M8 8-M8 8-M10

Weight £3% (kg)| 1.9 3.6 3.4 4.8 8.5 14.2 24 52 78.6

ﬁﬁumme




= iE 2 IR e AR e iR % HIGH PRECISION SPIRAL BEVEL GEAR REDUCER

ST-DM series

RATIO : 1.2.3.4.5 ( E2E% 1-Stage)

BANEL - EERREE
Single Input Shaft - Double Clamping

?B10 n7

?B10 h7

[ | ] B2 , B1

$ 4 A2
5.5l ‘ 2
S\gl L+-—e—++-H=} 2
8 TR

Sl B A1 17 A4
A L_______J$_
Vil ||
] ] A-A SECTION
8-B11

(Up & Down) §§ ‘

8-B11
(Front & Back)

8-B11
(Front & Back)
C3 |
unit: mm
65
SN EENEAEIEAEIEIEN

N A1 14 16 18 22 32 40 50 55 60

A2 5 5 6 6 10 12 14 16 18

A3 16 18 20.5 24.5 35 43 53.5 59 64

A4 M5 x P0.8 | M5xP0.8 | M8 xP1.25 | M8 x P1.25 | M10 x P1.5 |M12 x P1.75|M12 x P1.75 | M16 x P2.0 | M16 x P2.0

B1 25 25 5 5 5 5 5 5 5

B2 15 25 25 30 40 50 65 70 90

B3 127.5 143 168.5 207 250 300 375 430 505

B4 62.5 68 78.5 97 110 130 165 190 225

B5(B5') 65 75(74) 90 110 140 170(168) 210 240 280

B6 52 60 72 88 110 134 170 190 220

B7 26 30 36 44 55 67 85 95 110

B8 22 32 38 43 53.5 64 77 82 105

B9 20 30 35 40 50 60 75 80 100

B10 62 64 73 88 106 135 164 205 228 275

B11 M5xP0.8 | M6xP1.0 | M6xP1.0 | M8xP1.25 | M10 x P1.5 |M12 x P1.75| M16 x P2.0 | M16 x P2.0 | M16 x P2.0

C1 124 | 129 140 158 194 230 276 320 356 412

C2 62 | 64.5 70 79 97 115 138 160 178 206

C3 136 | 138 150 166 198 232 280 327 370 411.7
C C4 14 14 18 22 32 40 50 55 60

C5 22 22 28 34 44 52 65 73 83

C6 6-M6 6-M6 6-M6 8-M6 8-M6 8-M8 8-M8 8-M8 8-M10

Weight +3% (kg) 21 2.8 4.9 8.59 15.5 25 53 74.4




ST-YM series

RATIO : 1.2.3.4.5 ( E2E% 1-Stage)

EANHL - EERREME
Double Input Shaft - Double Clamping

?B10 n7

| ;
= | s ‘ A2
=| |@ Ry | A
3 © J ! ﬁ| f ! ]
St —E———————Tﬂ_“, o <E
= ----I----j ?A1 n7 A4
- }1'} L___|____J '¢"
| ] A-A SECTION
8-B11
(Up & Down) Eﬁ
?B10 n7
B3
B4 , B4
OB5
B6
B8 B7 B8
B9 B9
A A A~
| N |
A A
8-B11
8-B11 (Front & Back)
(Front & Back) -]
unit: mm
(19)
5 A T R T T
N A1 14 16 18 22 32 40 50 55 60
A2 5 5) 6 6 10 12 14 16 18
A3 16 18 20.5 245 35 43 53.5 59 64
A4 M5x P0.8 | M5xP0.8 | M8 xP1.25 | M8 x P1.25 | M10 x P1.5 |M12 x P1.75|M12 x P1.75| M16 x P2.0 | M16 x P2.0
B1 2.5 25 5 5 5 5 5 5 5
B2 15 25 25 30 40 50 65 70 90
B3 190 210 247 304 360 430 540 620 730
B4 95 95 123.5 152 180 215 270 310 365
B5(B5") 65 75(74) 90 110 140 170(168) 210 240 280
B6 52 60 72 88 110 134 170 190 220
B7 26 30 36 44 55 67 85 95 110
B8 22 32 38 43 53.5 64 77 82 105
B9 20 30 35 40 50 60 75 80 100
B10 62 64 73 88 106 135 164 205 228 275
B11 M5xP0.8 | M6xP1.0 | M6xP1.0 | M8xP1.25| M10x P1.5 |M12x P1.75| M16 x P2.0 | M16 x P2.0 | M16 x P2.0
C1 124 | 129 140 158 194 230 276 320 356 412
Cc2 62 | 64.5 70 79 97 115 138 160 178 206
C3 136 | 138 150 166 198 232 280 327 370 411.7
C C4 14 14 18 22 32 40 50 55 60
C5 22 22 28 34 44 52 65 73 83
C6 6-M6 6-M6 6-M6 8-M6 8-M6 8-M8 8-M8 8-M8 8-M10
Weight +3% (kg) 2.85 3.6 6.2 11.5 18 28 57 96

& LIMING



= iE 2 IR e AR e iR % HIGH PRECISION SPIRAL BEVEL GEAR REDUCER

ST-FS series

RATIO : 1.2.3.4.5 ( E2E% 1-Stage)

ATVER - EL A0

Input Flange - Single Output Shaft

OAS

P B8 n7 ‘
&+
—_ w0
ARG A
2a| et
m 7T
o
e
/ |
8-B9
(Up & Down)
P B8 n7
8-B9

(Front & Back)

T

[5e]
[a)

@ D1 n7

D-D SECTION

R A
Shaft Direction

C5
D2

D4

|_A1
(170#5L£)

?A1 D E
¢35 | 10 | 38.3
$38 | 10 | 413
@42 | 12 | 453
$48 | 14 | 51.8
$55 | 16 | 59.3
960 | 18 | 64.4

69.4

unit: mm

hw-n----
A | 91114 | 1419 |16 19 22> | q9.20.24 | 2% 28 32> 3538 354:;85@2 485560 | 55-60-65
70~ 80 95708095 1143180~ | 114.3-230+ | 114.3-180-~
A A2 | 506070 | 506070 080 20027 | 95+110+130 | 110130+ 180 S 5 o oo
A3 |M4-M5:M6|M4-M5:M6|M5 M6 M8| M5 M6 M8 | M6~ M8~ M10| M8 - M10 - M12 [M10 - M12-M16| M12M16 | M12-M16
a4 | 7075490 | 70-75-90 | 901900 | 90190, | M1° 1457 1145165200 | 200215265 | 200,299 | 290215
A5 | 647080 | 6417080 (92110 130| 92+110+130 122130 150| 146150190 | 182+200-250 | 222 290" | 222220
A6 | M5xP0.8 | M5xP0.8 | M6xP1.0 | M6xP1.0 | M8xP1.25 | MIOxP15 | M10xP1.5 | MI0xP15 | M10xP1.5
3945
B1 110 115122 | 148162 | 177-191 | 224238 274 357-350 | 0902 | 453.5.483
B2 45 40 58-72 67 81 84-98 104 147 S | 173.5:203
B3B3)| 65 75(74) 90 110 140 170(168) 210 240 280
B4 52 60 72 88 110 134 170 190 220
B5 26 30 36 44 55 67 85 95 110
B6 36 36-43 | 51655 | 51-655 68- 81 845 17 115142145 1125142
B7 7 7413 9235 | 9-235 9-10 9.5 14-16 125155 | 12.5-42
B8 | 62 | 64 73 88 106 135 164 205 228 275
B9 | M5xP0.8 | M6xP1.0 | M6xP1.0 | M8xP1.25 | MI0xP15 | MI2xP1.75 | M16xP2.0 | M16xP2.0 | M16 x P2.0
c1 | 102|107 | 128 151 182 222 262 323 370 425
Co | 40 |425| 48 57 70 85 100 123 144 161
c3 | 62 |645| 80 94 112 137 162 200 226 264
c I 2 2 2 2 2 2 2 2 3
c5 25 25 E 5 5 5 5 5 5
cé 15 25 25 30 40 50 65 70 90
c7 20 30 35 40 50 60 75 80 100
D1 14 16 18 22 32 40 50 55 60
D2 5 5 6 6 10 12 14 16 18
D3 16 18 205 245 35 43 53.5 59 64
D4 | M5xP0.8 | M5xP0.8 | M5xP0.8 | M5xP0.8 | MIOXxP15 | M12xP1.75 | M12xP1.75 | M16 x P2.0 | M16 x P2.0
Weight £3% (k)| 1.7 24 43 74 14.9 245 46 68.5




ST-RS series

RATIO : 10.15.20.25.30.40.50 ( £E% 2-Stage)

BETEREK - BHNE0
Fitted with Planetary Reducer - Single Output Shaft

——

+ 1 4
2| |8 | £ = ©
e T
® - =

;vL,,,L,,J$

J
|
8-B9
(Up & Down) R ?Hﬂ

®B8h7

Shaft Direction

C1

8-B9 C3 c2
(Front & Back) c7 c4
A3 A6
C5 C6
*H‘ﬂ D
: 8 ‘ \ 8A1| D E
Q a] ] ] T
- D4 ) N @ 28| 8 |[313
PD1 h7 =
X 232 | 10 | 353
D-D SECTION ®35 10 38.3
8-B9 AT, $38 | 10 | 413

(Front & Back) o)

unit: mm

NN R RO TN

114~ | 11-14- 1619+ | 22-24- | 2832 | 35-38- | 38-42-
8:9-1 | 891 | g9 | 16-19 |(4°16°190 5o o4 | 28.32-35 | 3538 | 42-48-55 | 4855

5070~ | 7080 95- 110~ |114.3-180- | 114.3180

8095 | 95-110 | 110-130 | 130180 | 230-250 | 230250

M3 M4~ | M4-M5- | M4~ M5+ M5-M6- | MB-M8- | M8 M10: | M10-M12-

M5 M6 M6 M5 M6 Ms M10 M12 M16 M12~ M16

70-90 | 90100~ | 115-145- | 145-165- | 200-215+ | 200-215-

A4 146°60°63 146°60°6370°75°90|70°75°90| 456 145 | 115.145 165 200 265-300 | 265300

92110~ | 122130~ | 146-150- | 182200+ | 222-220-

130 150 190 250-265 | 250265

A2 30-40-50 | 30-40-50(50:60-70(50-60-70

A3 |M3-M4-M5

A5 4655 46-55 |64-70-80|64-70-80(80-92-110
A6 M4 x P0.7 | M4 x P0.7 | M5 x P0.8 | M5 x P0.8 | M5x P0.8 | M6 x P1.0 | M8 x P1.25 | M10 x P1.5 | M10x P1.5 | M10 x P1.5

B1 132 137 149157 | 165-173 | (191)-203 | 260 313-334 399 4795 580.5
B2 67 62 74-82 | 75-83 | (81)-93 120 143164 189 2395 300.5
B3(B3') 65 75(74) 75(74) 90 110 140 170(168) 210 240 280

B4 52 60 60 72 88 110 134 170 190 220

B5 26 30 30 36 44 55 67 85 95 110

B6 26 26 33.5°41.5|33.5-41.5((33.5)45.5 59 67-83 85 116.5 117.5

B7 5 5 5 6 (6)~10 9 1011 10 13.5 12.5

B8 62 73 73 88 106 135 164 205 228 275

B9 M5x P0.8 | M6 xP1.0 | M6 x P1.0 | M6 x P1.0 M8 x P1.25 | M10 x P1.5 |M12 x P1.75| M16 x P2.0 | M16 x P2.0 | M16 x P2.0

C1 102 128 128 151 182 222 262 323 370 425

Cc2 40 48 48 57 70 85 100 123 144 161

C3 62 80 80 94 112 137 162 200 226 264

C4 2 2 2 2 2 2 2 2 2 3

C5 25 25 25 5 5 5 5 5 5 5

C6 15 25 25 25 30 40 50 65 70 90

C7 20 30 30 35 40 50 60 75 80 100

D1 14 16 16 18 22 32 40 50 55 60

D2 3 5 3 6 6 10 12 14 16 18

D3 16 18 18 20.5 24.5 35 43 53.5 59 64

D4 M5 x P0.8 | M5 x P0.8 | M5 x P0.8 | M5 x P0.8 | M5 x P0.8 | M10 x P1.5|M12 x P1.75|M12 x P1.75| M16 x P2.0 | M16 x P2.0
Weight +3% (kg) 1.9 3.6 3.4 4.8 8.5 14.2 24 52 79.8

& LIMING



= iE 2 IR e AR e iR % HIGH PRECISION SPIRAL BEVEL GEAR REDUCER

ST-DS series

RATIO : 1.2.3.4.5 ( E2E% 1-Stage)

EBANEL - BHDEO
Single Input Shaft - Single Output Shaft

1
ﬁ B B2 . B1
P | A2 D2
-~ BL | ‘ - -
Bls Lo (I 4% T2
® @i—fj P A1 w7 N A gp1w \._D4
)7 N S R | 4}
— - A-A SECTION B-B SECTION
(Up?&-llg)l:vn) (Input Shatft) (Output Shaft) R 8
- Shaft Direction
?B10 h7
B3
IB5 B4
8-B11 B6
(Front & Back) B7 B8 B9
A B9 B1 B2
Y& | o] ﬁ
A B
® @
o @ ol _ 1 _ L
& ® A 3
8 | 84 | 8-B11
(Front & Back)
unit: mm
65
e |3 75 | o0 | o | w0 | o | 20 | 20 | 20
N A1 14 16 18 22 32 40 50 55 60
A2 5 5 6 6 10 12 14 16 18
A3 16 18 20.5 24.5 35 43 53.5 59 64
A4 M5xP0.8 | M5xP0.8 | M8 xP1.25 | M8 x P1.25 | M10 x P1.5 |M12 x P1.75 | M12 x P1.75 | M16 x P2.0 | M16 x P2.0
B1 2.5 2.5 5 5 5 5 5 5 5
B2 15 25 25 30 40 50 65 70 90
B3 127.5 143 168.5 207 250 300 375 430 505
B4 62.5 68 78.5 97 110 130 165 190 225
B5(B5') 65 75(74) 90 110 140 170(168) 210 240 280
=] B6 52 60 72 88 110 134 170 190 220
B7 26 30 36 44 55 67 85 95 110
B8 22 32 38 43 53.5 64 77 82 105
B9 20 30 35 40 50 60 75 80 100
B10 62 64 73 88 106 135 164 205 228 275
B11 M5xP0.8 | M6xP1.0 | M6xP1.0 | M8xP1.25 | M10 x P1.5 |[M12 x P1.75| M16 x P2.0 | M16 x P2.0 | M16 x P2.0
C1 102 | 107 128 151 182 222 262 323 370 425
C2 40 | 425 48 57 70 85 100 123 144 161
C C3 62 | 64.5 80 94 112 137 162 200 226 264
C4 2 2 2 2 2 2 2 2 3
D1 14 16 18 22 32 40 50 55 60
D2 5 5 6 6 10 12 14 16 18
D3 16 18 20.5 24.5 35 43 53.5 59 64
D4 M5 x P0.8 M5xP0.8 | M5xP0.8 | M5xP0.8 | M10xP1.5 [M12x P1.75|M12 x P1.75| M16 x P2.0 | M16 x P2.0
Weight +3% (kg) 21 2.8 4.9 8.59 15.5 25 53 79.5




ST-YS series

RATIO : 1.2.3.4.5 ( E2E% 1-Stage)

€A - ELAEN
Double Input Shaft - Single Output Shaft

@B10h7

B1 B2 —t—— B2 , Bl
= i S ‘
$ | A2 D2
g BL sl A —
e R S (A T = e =t
2 hdl
%.----|----.5' BA1 7 Al D1 D4
N S — ¢.
4 A-A SECTION B-B SECTION
8-B11
(Up & Down) (Input Shaft) (Output Shaft) Em
I R
#B10h7 Shaft Direction
B3
B4 B4

B8
B9

8-B11
(Front & Back)

B1 B2

8-B11
(Front & Back)

unit: mm

6 5] [0 | o | o [ m |0 | w0 |
14 16 18 22 32 40 50 55 60

Al

A2 5 5 6 6 10 12 14 16 18
A3 16 18 20.5 24.5 35 43 53.5 59 64
A4 M5 xP0.8 | M5xP0.8 | M8 xP1.25 | M8 x P1.25 | M10 x P1.5 [M12 x P1.75|M12 x P1.75| M16 x P2.0 | M16 x P2.0

B1 2.5 2.5 5 5 5 5 5 5 5
B2 15 25 25 30 40 50 65 70 90
B3 190 210 247 304 360 430 540 620 730
B4 95 105 123.5 152 180 215 270 310 365
B5(B5') 65 75(74) 90 110 140 170(168) 210 240 280
B6 52 60 72 88 110 134 170 190 220
B7 26 30 36 44 55 67 85 95 110

B8 22 32 38 43 53.5 64 77 82 105

B9 20 30 35 40 50 60 75 80 100

B10 62 64 73 88 106 135 164 205 228 275

B11 M5xP0.8 | M6xP1.0 | M6xP1.0 | M8xP1.25 | M10xP1.5 |M12xP1.75| M16 x P2.0 | M16 x P2.0 | M16 x P2.0

C1 102 | 107 128 151 182 222 262 323 370 425

C2 40 | 425 48 57 70 85 100 123 144 161

C3 62 | 64.5 80 94 112 137 162 200 226 264

C4 2 2 2 2 2 2 2 2 3

D1 14 16 18 22 32 40 50 55 60

D2 5 5 6 6 10 12 14 16 18

D3 16 18 20.5 24.5 35 43 53.5 59 64

D4 M5xP0.8 | M5xP0.8 | M6xP0.8 | M5xP0.8 | MIOXxP1.5 IM12xP1.75|M12 x P1.75| M16 x P2.0 | M16 x P2.0
Weight +3% (kg) 2.85 3.6 6.2 1.5 18 28 57 1011

& LIMING



= iE 2 IR e AR e iR % HIGH PRECISION SPIRAL BEVEL GEAR REDUCER

ST-FV series

RATIO : 1.2.3.4.5 ( E2E% 1-Stage)

ATER -

= JaxPa Y

Input Flange - Double Output Shaft

(Front & Back)

?B8n7

OA5

[
| 4
~| |2 ‘
8|« A
Sz e
8 TS
B N N -
Dl | Ad
8-B9
(Up & Down)
B1
B3 B2
8-B9 B4 B6

D2

[s2)
o

D17 | |

D-D SECTION

D4

C5

C5

A1l

(170#8E)

9A1| D E

»35| 10 | 383

$38 | 10 | 413

$42 | 12 | 453

$48 | 14 | 51.8

$55 | 16 | 59.3

®60 | 18 | 64.4

$65 69.4

unit: mm

65
Al | 91114 | 1419 |16 19 22> | q9.22.24 | 28 82> | 35.38 354285‘;2 48-55-60 | 556065
70~ 80 95- | 708095 110-130~ | 114.3-180~ | 114.3-230+ | 114.3-180-
X A2 | 50-60-70 | 506070 o o 95110130 e o Y o0
M6-M8- | M8-M10- | M10-M12-
A3 |M4-M5:M6|M4+M5M6| M5-M6M8 | M5-Me-Mg | MO M o o M12-M16 | M12-M16
90100115+ [90-100-115+ | 115-145- | 145-165- | 200-215- | 200-265- | 200-215-
S 145 145 165 200 265 300 265300
122130~ | 146-150- | 182-200- | 222-250- | 222-220-
A5 | 64-70-80 | 64-70-80 | 92-110-130 | 92110130 . e e e 22 220
A6 | M5xP0.8 | M5xP0.8 | M6xP10 | M6xP10 | M8xP125 | MIOxP15 | MI0xP15 | MOXP15 | MI0x P15
394.5-
B1 10 115122 | 148-162 | 177-191 | 224238 274 357°350 |, 3900 | 453.5-483
154.5-
B2 45 40 58-72 6781 84-98 104 47| o leS | 173.5:203
B3B3)| 65 75(74) 90 110 140 170(168) 210 240 280
B4 52 60 72 88 10 134 170 190 220
B5 26 30 36 44 55 67 85 95 110
B6 36 36-43 | 51655 | 51655 68- 81 845 17 |115-142-145| 112.5-142
B7 7 7413 9235 9-23.5 9-10 9.5 14416 | 125-155 | 12.5-42
B8 | 62 | 64 73 88 106 135 164 205 228 275
B9 | M5xP0.8 | M6xP1.0 | M6xP1.0 | M8xP1.25 | MI0OXP15 | M12xP1.75 | M16xP2.0 | M16x P2.0 | M16 x P2.0
c1 | 124 | 129 | 160 188 224 274 324 400 452 528
co | 62 |645| 80 94 112 137 162 200 226 264
c3 | 62 |645| 80 94 12 137 162 200 226 264
c Y 2 2 2 2 2 2 2 2 3
c5 25 25 5 5 5 5 5 5
c6 15 25 25 30 40 50 65 70 90
c7 20 30 35 40 50 60 75 80 100
D1 14 16 18 22 32 40 50 55 60
D2 5 5 6 6 10 12 14 16 18
D3 16 18 205 245 35 43 53.5 59 64
D4 | M5xP0.8 | M5xP0.8 | M5xP0.8 | M5xP0.8 | MIOXP15 | MI2xP175 | M12x P1.75 | M16 x P2.0 | M16 x P2.0
Weight £3% (kg)| 17 24 43 71 14.9 245 46 70.8




ST-RV series

RATIO : 10.15.20.25.30.40.50 ( £E% 2-Stage)

BECTTERIER - S 80

Fitted with Planetary Reducer - Double Output Shaft

?B8h7

[ |

OA5

1 4
0 L
&l (® | ¢
83 e
m N
([ ***** ;j L
R
A
8-B9
(Up & Down)
?B8n7
8-B9

(Front & Back)

2]
[a]

A2 Hg

@D1n7

D2

NI

D4

D-D SECTION

C1

C3 c2
c7 c4 c4 C7 +
A3 A6
C5 C6 Cc6 | cC5 | ®A1
D D
(210#)
. L @A1| D E
D i) 28 | 8 |313
®32 | 10 | 353
$
$35 | 10 | 383
8-B9 12 38 | 10 |41.3
(Front & Back) c’o;z’
unit: mm

&ﬂ-_n---
1114 | 1114~ 1619 |22-2428- | 28-32- |35-38-42: | 38-42-
8:9-11 1 891 | Yslig | 1619 |(416°190 5508 | 3235 35-38 4855 4855
30-40- 50-70~ | 70-80- | 95-110- | 110-130~ |114.3-180 | 114.3180
A2 130°40°50 | "5," |50°60:70150°60°70) “g; g5 | g5.110 130 180 230-250 | 230250
A NN MM~ | M MG M4 MG~ | s e | MS MO | MO B | M- M10- | N1O-MIZ- | oy
70490~ | 90-100- | 115145+ | 145-165+ | 200-215+ | 200215
A4 1466063 146:60°63/70°75°90/70°75°90| 4149 415 | 115.145 | 165 200 265300 | 265-300
A5 | 4655 | 4655 |64-70:80 64-7080(8092-110| 92 110" | 122 190" | 146 190+ 182 200 | 222 220
A6 | M4 xPO7 | M4xP07|M5xP0.8|M5xP0.8| M5xP0.8 | M6 xP1.0 | M8 x P1.25 | M10 x P1.5 | M10x P1.5 | M10 x P1.5
B1 132 137 | 149-157 | 165-173 | (191)-203 | 260 | 313-334 399 4795 580.5
B2 67 62 74-82 | 7583 | (81)-93 120 143164 189 239.5 300.5
B3(B3)| 65 75(74) | 75(74) 90 110 140 170(168) 210 240 280
B4 52 60 60 72 88 110 134 170 190 220
B5 26 30 30 36 44 55 67 85 95 110
B6 26 26 |33.5-415|335-415((33.5)-455 59 67-83 85 116.5 175
B7 5 5 5 6 (6)*10 9 1011 10 13.5 12.5
B8 62 73 73 88 106 135 164 205 228 275
B9 | M5xP0.8 | M6 x P1.0 | M6 x P1.0| M6 x P1.0 | M8 x P1.25| M10 x P1.5 |M12 x P1.75| M16 x P2.0 | M16 x P2.0 | M16 x P2.0
c 124 160 160 188 224 274 324 400 452 528
c2 62 80 80 94 12 137 162 200 226 264
c3 62 80 80 94 112 137 162 200 226 264
c B 2 2 2 2 2 2 2 2 2 3
c5 25 25 25 E E E 5 5 5 5
cé 15 25 25 25 30 40 50 65 70 90
c7 20 30 30 35 40 50 60 75 80 100
D1 14 16 16 18 22 32 40 50 55 60
D2 5 5 5 6 6 10 12 14 16 18
D3 16 18 18 205 245 35 43 53.5 59 64
D4 | M5xP0.8 | M5xP0.8 | M5 x P0.8 | M5 x P0.8 | M5 x P0.8 | M10 x P1.5 |M12 x P1.75| M12 x P1.75| M16 x P2.0 | M16 x P2.0
Weight £3% (k) 1.9 36 3.4 48 8.5 14.2 24 52 82.1

& LIMING




= iE 2 IR e AR e iR % HIGH PRECISION SPIRAL BEVEL GEAR REDUCER

ST-DV series

RATIO : 1.2.3.4.5 ( E2E% 1-Stage)

BADEL - EEAEN
Single Input Shaft - Double Output Shaft
PB10 h7

( ] B2 , Bf
¢ 4+
P | A2 D2
~| |@ P ‘
g © f ! 5] /j% I52) %
gl Ll e 2 8
m N §
{l________ @ A1 h7 \ﬂ #D1 n7 \ﬂ
) N R R | _$_
] A-A SECTION B-B SECTION
8-B11
(Up & Down) tj (Input Shaft) (Output Shaft)
?B10h7
c1
B4 c3 , C2
8-B11
(Front & Back) B8 B9 C4 C4 B9
BY B1 B2 | . | B2 B1
+ &
A B B

8-B11 L& +
(Front & Back)

unit: mm
65
e es |35 75 | 0 | o | w0 | m | 20 | 20 | 20
A A1 14 16 18 22 32 40 50 55 60
A2 5 5 6 6 10 12 14 16 18
A3 16 18 20.5 24.5 35 43 53.5 59 64
A4 M5xP0.8 | M5xP0.8 | M8xP1.25 | M8 x P1.25 | M10 x P1.5 |M12 x P1.75|M12 x P1.75| M16 x P2.0 | M16 x P2.0
B1 2.5 2.5 5 5 5 5 5 5 5
B2 15 25 25 30 40 50 65 70 90
B3 127.5 143 168.5 207 250 300 375 430 505
B4 62.5 68 78.5 97 110 130 165 190 225
B5(B5') 65 75(74) 90 110 140 170(168) 210 240 280
B B6 52 60 72 88 110 134 170 190 220
B7 26 30 36 44 55 67 85 95 110
B8 22 32 38 43 53.5 64 77 82 105
B9 20 30 35 40 50 60 75 80 100
B10 62 64 73 88 106 135 164 205 228 275
B11 M5xP0.8 | M6xP1.0 | M6xP1.0 | M8xP1.25 | M10 x P1.5 |[M12 x P1.75| M16 x P2.0 | M16 x P2.0 | M16 x P2.0
C1 124 | 129 160 188 224 274 324 400 452 528
Cc2 62 | 64.5 80 94 112 137 162 200 226 264
C C3 62 | 64.5 80 94 112 137 162 200 226 264
C4 2 2 2 2 2 2 2 2 3
D1 14 16 18 22 32 40 50 55 60
D2 5 5 6 6 10 12 14 16 18
D3 16 18 20.5 24.5 35 43 53.5 59 64
D4 M5xP0.8 | M5xP0.8 | M5xP0.8 | M5xP0.8 | M10 x P1.5 |M12 x P1.75|M12 x P1.75| M16 x P2.0 | M16 x P2.0
Weight +3% (kg) 2.1 2.8 4.9 8.59 15.5 25 53 81.8




ST-YV series

RATIO : 1.2.3.4.5 ( E8E% 1-Stage)

€A - EEAEN
Double Input Shaft - Double Output Shaft

?B10 n7
B1 B2 B2 , Bt
] 1
¥ | 4 A2 D2
— N~
5 mL N LA T 70 T 7
% < 5——————1;@4’; R %% DI@&
0 e
lil ________ j DAl h7 w @ D1 n7 m
;\y L___:____J _$
= A-A SECTION B-B SECTION
8-B11
(Up & Down) (Input Shaft) (Output Shaft)
C1
C3 ) C2

B8 B8 B9 C4 | C4 , B9

B9 B9 B1 B2 | B2 B1

A s ‘

— — (-
A 5 ’
8-B11
8-B11 (Front & Back)
(Front & Back)

unit: mm
5 %) s | w0 [0 [0 | m | a0 | 20 [
A1l 14 16 18 22 32 40 50 55 60
A2 5 5 6 6 10 12 14 16 18

A3 16 18 20.5 24.5 35 43 53.5 59 64
A4 M5 xP0.8 | M5xP0.8 | M8 xP1.25 | M8 x P1.25 | M10 x P1.5 [M12 x P1.75|M12 x P1.75| M16 x P2.0 | M16 x P2.0

B1 2.5 2.5 5 5 5 5 5 5 5
B2 15 25 25 30 40 50 65 70 90
B3 190 210 247 304 360 430 540 620 730
B4 95 105 123.5 152 180 215 270 310 365
B5(B5') 65 75(74) 90 110 140 170(168) 210 240 280
B6 52 60 72 88 110 134 170 190 220
B7 26 30 36 44 55 67 85 95 110

B8 22 32 38 43 53.5 64 77 82 105

B9 20 30 35 40 50 60 75 80 100

B10 62 64 73 88 106 135 164 205 228 275

B11 M5xP0.8 | M6xP1.0 | M6xP1.0 | M8xP1.25 | M10xP1.5 |M12xP1.75| M16 x P2.0 | M16 x P2.0 | M16 x P2.0

C1 124 | 129 160 188 224 274 324 400 452 528

C2 62 | 64.5 80 94 112 137 162 200 226 264

C3 62 | 64.5 80 94 112 137 162 200 226 264

C4 2 2 2 2 2 2 2 2 3

D1 14 16 18 22 32 40 50 55 60

D2 5 5 6 6 10 12 14 16 18

D3 16 18 20.5 24.5 35 43 53.5 59 64

D4 M5xP0.8 | M5xP0.8 | M6xP0.8 | M5xP0.8 | MIOXxP1.5 IM12xP1.75|M12 x P1.75| M16 x P2.0 | M16 x P2.0
Weight +3% (kg) 2.85 3.6 6.2 1.5 18 28 57 103.4

& LIMING



= iE 2 IR e AR e iR % HIGH PRECISION SPIRAL BEVEL GEAR REDUCER

ST-FP series

RATIO : 2.3.4.5 ( EEEX 1-Stage)

ATVER - B8

Input Flange - Ball Screw

?B8 n7
Yol
~ — O
S 1
of 2
O
©
™ (&
(@]
< @ B8 n7 8-B9
O (Up & Down)
R
Shaft Direction
ml
m
< i
m
8-B9

(Front & Back)

D
™
A1
(170#24E)

@ A1 D E
A ¢35 | 10 | 38.3
- 38 | 10 | 41.3
942 | 12 | 453
248 | 14 | 51.8
@55 | 16 | 59.3

unit: mm

16-19-22-24 19-22-24 24-28-32-35 35-38 35-38-42-48-55

A2 50-60-70 70-80-95-110 70-80-95-110 95-110+130 110-130-180 114.3-180-230

A3 M4~ M5 - M6 M5 M6~ M8 M5~ M6~ M8 M6 - M8 - M10 M8-M10-M120 M10~M12-M16

A4 70-75-90 90°100+115-145 | 90-100-115-145 115-145-165 145-165-200 200-215-265

A5 64-70-80 92-110+130 92-110+130 122-130+150 146-150-190 182-200-250

A6 M5 x P0.8 M6 x P1.0 M6 x P1.0 M8 x P1.25 M10 x P1.5 M10 x P1.5

B1 115122 148162 177191 224-238 274 357359

B2 40 58-72 6781 84-98 104 147

B3(B3') 75(74) 90 110 140 170(168) 210

B4 60 72 88 110 134 170

B5 30 36 44 55 67 85

B6 3643 51-65.5 51-65.5 6881 84.5 117

B7 713 9:23.5 9:23.5 910 9.5 1416

B8 73 88 106 135 164 205

B9 M6 x P1.0 M6 x P1.0 M8 x P1.25 M10 x P1.5 M12 x P1.75 M16 x P2.0

C1 106 127 156 197 223 267

c2 57 68 84 109 121 142

C3 49 59 72 88 102 125

C4 1.25 2 2 2 2.25 2.25

C5 33 44 55 75 72 82

C6 73 83 101 122 153 185

D1 M4 x P0.7 M5 x P0.8 M5 x P0.8 M8 x P1.25 M10 x P1.5 M10 x P1.5

D2 36 40 45 70 77 84

D3 41.7 46.7 57.7 79.7 89.7 99.7

D4 26 30 36 54 58 64

D5 15 18 22 34 38 42
Weight +3% (kg) 24 4.3 71 14.9 24.5 46




ST-RP series

RATIO : 10.15.20.25.30.40.50 ( £E% 2-Stage)

BEITERER - 181250

Fitted with Planetary Reducer - Ball Screw

? B8 n7
Te]
~ O
O I
o L A <
|
— ©
o - o
o
< ? B8 n7 8-B9
O (Up & Down)
R &
Shaft Direction
B1
B6
B7 A3
mL
o | ©
el
8-B9 8-B9

(Front & Back)

(Front & Back)

(210#)
sm| D | E
A [p28| 8 [313
932 | 10 |35.3
$35 | 10 | 38.3
$38 | 10 | 41.3
unit: mm

T s T T L w | om | oo
A1 8911 11+14-16~19| 11-14-16-19 (14)~16-19 16:19-22-24 |22-24-28-32-35| 28-32-35-38
A2 30-40-50 50-60-70 50-60-70 50-70-80-95 | 70-80-95-110 95-110-130 110-130-180
A3 M3-M4-M5 | M4-M5- M6 M4 M5 - M6 M5~ M6 M5~ M6 - M8 M6-~M8-M10 M8-M10-~M12
A4 46-60-63 70-75-90 70-75-90 70-~90-100-115{90-100-115-145| 115-145-165 145-165-200
A5 4655 64-70~80 64-70~80 80-92-110 92-110~130 122-130-150 146-150~190
A6 M4 x P0.7 M5 x P0.8 M5 x P0.8 M5 x P0.8 M6 x P1.0 M8 x P1.25 M10 x P1.5
B1 137 149157 165173 (191)-203 260 313334 399
B2 62 7482 75-83 (81)~93 120 143-164 189

B3(B3)| 75(74) 75(74) 90 110 140 170(168) 210
B4 60 60 72 88 110 134 170
B5 30 30 36 44 55 67 85
B6 26 33.5-41.5 33.5:41.5 (33.5)-45.5 59 6783 85
B7 5 5 6 (6)-10 9 101 10
B8 73 73 88 106 135 164 205
B9 M6 x P1.0 M6 x P1.0 M6 x P1.0 M8 x P1.25 M10 x P1.5 M12 x P1.75 M16 x P2.0
C1 106 106 127 156 197 223 267
Cc2 57 57 68 84 109 121 142
C3 49 49 59 72 88 102 125
C4 1.25 1.25 2 2 2 2.25 2.25
C5 33 33 44 55 75 72 82
C6 73 73 83 101 122 153 185
D1 M4 x P0.7 M4 x P0.7 M5 x P0.8 M5 x P0.8 M8 x P1.25 M10 x P1.5 M10 x P1.5
D2 36 36 40 45 70 77 84
D3 417 417 46.7 57.7 79.7 89.7 99.7
D4 26 26 30 36 54 58 64
D5 15 15 18 22 34 38 42

Weight +3% (kg) 3.6 3.6 4.8 8.5 14.2 24 52

& LIMING




= iE 2 IR e AR e iR % HIGH PRECISION SPIRAL BEVEL GEAR REDUCER

ST-DP series

RATIO : 2.3.4.5 ( EEEX 1-Stage)

BANEL - BENL
Single Input Shaft - Ball Screw

?B8 nh7
B11, B10
: | Rin
°f 1 He== 2| -
o DAl 7 Ad
3 PAThr |
A-A SECTION
8-B9
3 (Up & Down)
R &
Shaft Direction
B1
LOL
M
< i
M
8-B9

(Front & Back)

unit: mm

40 50
6 6 10 12 14
20.5 245 35 43 53.5
A4 M5 x P0.8 M8 x P1.25 M8 x P1.25 M10 x P1.5 M12 x P1.75 M12 x P1.75
B1 143 169 207 250 300 375
B2 68 79 97 110 130 165
B3(B3') 75(74) 90 110 140 170(168) 210
B4 60 72 88 110 134 170
B5 30 36 44 55 67 85
B6 32 38 43 53.5 64 77
B7 30 35 40 50 60 75
B8 73 88 106 135 164 205
B9 M6 x P1.0 M6 x P1.0 M8 x P1.25 M10 x P1.5 M12 x P1.75 M16 x P2.0
B10 2.5 5 5 5 5 5
B11 25 25 30 40 50 65
c1 106 127 156 197 223 267
c2 57 68 84 109 121 142
c3 49 59 72 88 102 125
c4 1.25 2 2 2 2.25 2.25
c5 33 44 55 75 72 82
Ccé 73 83 101 122 153 185
D1 M4 x P0.7 M5 x P0.8 M5 x P0.8 M8 x P1.25 M10 x P1.5 M10 x P1.5
D2 36 40 45 70 77 84
D3 4.7 46.7 57.7 79.7 89.7 99.7
D4 26 30 36 54 58 64
D5 15 18 22 34 38 42
Weight 3% (kg) 2.8 4.9 8.59 15.5 25 53




ST-YP series

RATIO : 2.3.4.5 ( EEEX 1-Stage)

EANEL - BENL

Double Input Shaft - Ball Screw

?B8 n7
|
B10__ B11 R B11. B10
| : | : I 9
8 R
-
6 '—g =T — fj—;-‘—;—rq:'——--——*:
@« ! == |
8 « kgéw'%“‘“%':?‘ 8 @ A1 n7 N_A4
oo
hi 1 A8 A-A SECTION
< ?B8 n7 8-B9
O (Up & Down)
R & —
Shaft Direction
B2
B6 B6
B7 B7
LDJ A A
2]
g R N E— N
A A
8-B9 8-B9
(Front & Back) (Front & Back) X
unit: mm
I I A I N N
A1l 16 18 22 32 40 50
A A2 ) 6 6 10 12 14
A3 18 20.5 24.5 35 43 53.5
A4 M5 x P0.8 M8 x P1.25 M8 x P1.25 M10 x P1.5 M12 x P1.75 M12 x P1.75
B1 210 247 304 360 430 540
B2 105 123.5 152 180 215 270
B3(B3') 75(74) 90 110 140 170(168) 210
B4 60 72 88 110 134 170
B5 30 36 44 55 67 85
B6 32 38 43 53.5 64 77
B7 30 35 40 50 60 75
B8 73 88 106 135 164 205
B9 M6 x P1.0 M6 x P1.0 M8 x P1.25 M10 x P1.5 M12 x P1.75 M16 x P2.0
B10 2.5 5 5 5 5 5
B11 25 25 30 40 50 65
C1 106 127 156 197 223 267
Cc2 57 68 84 109 121 142
C3 49 59 72 88 102 125
C C4 1.25 2 2 2 2.25 2.25
C5 33 44 55 75 72 82
Cé6 73 83 101 122 153 185
D1 M4 x P0.7 M5 x P0.8 M5 x P0.8 M8 x P1.25 M10 x P1.5 M10 x P1.5
D2 36 40 45 70 77 84
D3 4.7 46.7 57.7 79.7 89.7 99.7
D4 26 30 36 54 58 64
D5 15 18 22 34 38 42
Weight +3% (kg) 3.6 6.2 11.5 18 28 57

& LIMING



= iE 2 IR e AR e iR % HIGH PRECISION SPIRAL BEVEL GEAR REDUCER

Reference Information of Ball Screw

TOIRBRS=ZER

600 60-
®

( -

\\ / /‘E:

HEARZBEEE R
Basic Rate

(=)

YEARRNT
Screw Size

IR

BUER Load (kgf
Model of Ban
Reducer | O.D. | Lead | Dynamic | Static

75 14 5 720 1010

90 16 6 980 1650

110 20 10 860 1710

140 32 10 3340 7080

170 36 10 3600 8280

210 40 10 4670 11830

o] &

DA

D33

BB
Flange

(o=
FIT

BRAR AL

L
T S
B
1|
+F %
]
- )
IS |
| o B
|0 |
| ® |
o L]
7“77 -
,7ti,
L _

Screw Bolt

8
9.5
9.5

14
17.5
17.5

4.5
5.5
5.5
8.5
1
1

AfL
Oil Hole

M6 x P1.0
M6 x P1.0
M6 x P1.0
M8 x P1
M8 x P1

M8 x P1

<500
<800
<1000
<1200
<1500
<1500




Fixing Plate
[E] E

Indication of Fixing Plate

& T R SR FR 7
& 7 EE Y it i
Type Model Direction
FP 65+75-90- 110 A-B-C-DE-F
140 ~ 170 ~ 210

unit:mm
100 110 130 160
110 135 170 200 240
85 90 110 135 170 200 250
70 75 90 110 140 170 210
7 7 7 9 1" 13 17
10 12 13 16 18 18 25

& LIMING



SIERIRNE ARt iR 5 2% HIGH PRECISION SPIRAL BEVEL GEAR REDUCER
Selection Direction of Fixing Plate
Bl REZr Ty T 1=

Installation Example of Fixing Plate
[l 72 22 75 34 6 )

ST140-FPT-5 + ST110-FSB-5 +
FP140-F FP110-A




MEMO

2
]




= a2 IR e AR e 8 R % HIGH PRECISION SPIRAL BEVEL GEAR REDUCER

FT series

Indication of Model Numbers
HIERI e

Frleog F QN O | B

o 5w MOTOR

R AR || BUEE ANZFETR EPAEZN whEF SEnlet
Type Model Input Output Bearing Ratio Motor Type
FT 42 F: AJVARE O: hZedy B: Bk g
50 Input Flange Hollow Shaft Ball Bearing 4
60 RA44: Jli&H% Reducer P: Hh#at 150
70 1-Stage: Fixing Flange 15
R44 - R62... C:iEEE 20
2-Stage: Set Collar gg
R44S - R62S... S: B HE 40
2-Stage (A-Type) : Single Output Shaft %0
R62A... V: & 8N
Double Output Shaft
e
Unit | Ratio | 42 | 50 | 60 | 70 [ Ratiof 50 | 60 | 70 |
2 10 13 15 22 10 13 15 22
3 9 11 13 18 15 11 13 18
PN 4 7 9 13 18 20 9 13 18
SRR 152::}2?&‘:&?;?:59 Ln | Nm | 5 6 8 12 | 16 | 25 8 12 | 16
- - - - - 30 11 13 18
- - - - - 40 9 13 18
- - - - - 50 8 12 16
ife?(ﬂjfﬁia{ovqauxé T Nm 15:20 1.5 ZFREEH HHE 1.5 Times of Rated Output Torque

RAEH AR / Rated Input Speed By rpm 2~5 3,000 10~50 3,000
B A ABEZE / Max. Input Speed my | rpm 2~5 7,000 10~50 7,000
= Backlash arcmin | 2~5 <10 10~50 <12

AFE@A / Max. Radial Force
o . Fop N 2~5 300 488 600 800 10~50 488 600 800
SR EREH % Ball Bearing

AEFEHE A / Max. Axial Force
‘*%ﬁm; Ball Bearin Fou N 2~5 150 244 300 400 10~50 244 300 400
=R ing

GEE=EG/S ice Lif I h 2~5 S5 FHAER - >20,000 (S1 E4EE#E : >10,000 hrs)
=S A [ oervice tiie " r 10~50 S5 Cycle Operation: >20,000 (S1 Continuous peration: >10,000 hrs)
% %/ Efficiency 7| % | 2~5 94% ~ 98% | 10~50 | 90% ~ 94%
AR E / Operating Temperature °C 15:20 -10°C ~ +90°C

\Q 2
¥ 3B/ Lubrication o 2 &FEEMIE Synthetic Grease
= {6 / Noise Level B | 2~5 | 64 | e6 | 68 | 70 |10~50| 68 | 70 | 72

#E)18 2 Mass Moments of Inertia (kgcm?)

4 Model No E8i1 E8E% 1-Stage
_ : *| Unit | Ratio | 42 | 50 | 60 [ 70 |Ratio]| 50 | 60 | 70 |
2 10

0.08 0.15 0.32 0.80 0.04 0.04 0.10

3 0.08 0.15 0.30 0.75 15 0.04 0.04 0.10
4 0.08 0.15 0.30 0.70 20 0.04 0.04 0.10
5 0.09 0.16 0.29 0.68 25 0.04 0.04 0.10
= = = = = 30 0.04 0.04 0.10
- - - - - 40 0.04 0.04 0.10
- - - - - 50 0.04 0.04 0.10

EE)IS S / Mass Moments of Inertia  [[elcyaIlNG3




76

54.5

3.5

48

RATIO : 2.3.4.5 ( EEE} 1-Stage)

MODEL : FT42

12

FT-FS

ATVER - B 80

Input Flange

- Single Output Shaft

4-M4xP0.7
PCD46

48.5

»H«
21 £
@) A
P12 h7
1
8-M3xP0.5 A-A SECTION
PCD48
(Up & Down)

& LIMING



= a2 IR e AR e 8 R % HIGH PRECISION SPIRAL BEVEL GEAR REDUCER

MODEL : FT50

RATIO : 2.3.4.5 ( EEEX 1-Stage)

Q‘;ZM FT—FV unit:mm
o |2 ATTER - B A M
o Input Flange Al 1
- X - Double Output Shaft A2 | 30-40-50
4 & - A3 M4~ M5
2 QL___,_ 0 | A4 4663
TN A5 | 4655
i A6 | M4xP0.7
8-M4xP0.7
(Up & Down)

106
62
50
38
19
—5
1
P Y 5
o ! 17 —tt
° -
o == o SCINEE:
M4xP0.7
' 1 - @313 h7 M
i G I ¢

! A-A SECTION
4-M4xP0.7 8-M4xP0.7

(Front & Back)

MODEL : FT50

RATIO : 10.15.20.25.30.40.50 ( £E% 2-Stage)

$46 7 FT-RV unit:mm
o HEITERRY - 81N )
Fitted with Planetary Reducer Al 8-11
St 1 - Double Output Shaft A2 | 30-40-50
& oHT 1] A3 M4~ M5
a’J_ A A4 4663
” _:. _j_'_'_'_'_'_'_'_'liij: - B A5 46-55
& o1 A6 | M4 xP0.7
Up & o] —— A7 | 26305
ﬁ P46 7
106
62
50 67 53 53
38 A As |
] s
i
S | . e I gy e
s -t 9 =ik ]%
! —& L s13m Maxpo7
H ? | & ®13

' ! A-A SECTION
4-M4xP0.7 8-M4xP0.7

(Front & Back)




MODEL : FT60

RATIO : 2.3.4.5 ( EEE} 1-Stage)

\‘&’\ FT-FO unit:mm
.
| ATEH - APz el 0 |
I
A Input Flange A1 1
7;*_5 | - Hollow Output Shaft A2 | 30-40-50
f? ‘ R4 A3 |M3-M4-M5
g(l;/ls;;os /%J‘ A4 466063
(Up & Down) | £86h7 | A5 46~ 55
74 A6 M4 x P0.7
2 | 70 2 95
62
| %
L 5
| g
|
L5 <
4-M5xP0.8 8-M5xP0.8
PCD54 PCD70

(Front & Back)

MODEL : FT60

RATIO : 10.15.20.25.30.40.50 ( £ E% 2-Stage)

| #56 h7 FT- RO unit:mm
% _ e
—n TR - )P 28 el 0 |
R k] . _
A Fitted with Planetary Reducer Al 811
s 1o W - Hollow Output Shaft A2 | 30-40-50
m‘ | \ A3 |M3-M4-M5
PRV R iy = e A4 | 46-60°63
PCD54 N
oot /| eww | A5 | 46-55
74 A6 M4 x P0.7
2 70 2 127
62
26
_ i - 5
e | & =5
< ‘
4-M5xP0.8 8-M5xP0.8
PCD54 PCD70

(Front & Back)

& LIMING



= a2 IR e AR e 8 R % HIGH PRECISION SPIRAL BEVEL GEAR REDUCER

MODEL : FT70

RATIO : 2.3.4.5 ( EEEX 1-Stage)

’—% FT—FO unit:mm

'fi T AR - AP M
- Input Flange Al 14

j: 1t - Hollow Output Shaft A2 | 5046070

fﬂ T A3 |M4-M5-M6

8-M5xP0.8 — A4 70-75-90

%/EJ A5 | 64:70-80

A6 M5 x P0.8

81

+ 4+ O
o e | e
,,,,# S | 7 I i
s i

g

e ‘

81
2 77 2 112 40.5 405
70 70 - 2 N As
i | 36 ; 2 -
L 4 T -
+ ! + I
+ ]+ =8
T f =,
\  4-M5xP0.8 8-M5xP0.8 %,
PCD60 PCD75
(Front & Back)
- FT-FP unit:mm
* ¢ J» | t Fl Fixing FI
A nput Flange - Fixing Flange Al 14
| ;H% 1T 1T T A2 | 506070
B & A3 M4~ M5~ M6
8-M5xP0.8 / A4 70-75-90
(U & Bow) A5 | 647080
#60 h7 A6 M5 x P0.8
% 9%
2 77 17 112
70 16.5 L 170 42 R
| 36 4-M6xP1.0 Ea
L 7 -
+ ‘ + X =
Rk i
|
[+ | +| ..
\ 4-‘M5xP0.8 8-M5xP0.8
PCD60 PCD75
(Front & Back)
60 h7 FT-EC
N } N ] ANEHE - BB EIR
o~ Input Flange - Set Collar
A
1+
8-M5xP0.8 o
I(alJ(;)I:):OII)(an) G Hi
960 h7
9% %
2 77 17 112 55.5 40.5
70 16 70 42
~ 36
) 7 2-M6xP1.0
|
|

I
4-M5xP0.8 8-M5xP0.8
PCD60 PCD75

(Front & Back)




MODEL : FT70

RATIO : 10.15.20.25.30.40.50 ( £E% 2-Stage)

FT-RO unitmm
| Fitted with Planetary Reducer Al 811 14
— - - Hollow Output Shaft A2 30-40-50 | 50-60-70
\ A3 |M3-M4-M5/M4-M5-M6

A4 46-60-63 | 70°75-90

8-M5xP0.8 —
PCD60 / seon7 A5 4655 64-70-80

(Up & Down)
A6 M3 x P0.5 | M5 x P0.8
81 81
2 77 2 B1 40.5 40.5 B1 135 146
70 70 B2 B2 65 76
‘ S B3 26 335
| + | + | | 1 | B4 5 6
|
_ + _ gl | i my i |
m] N oY <S(
ﬁ i 4+ ‘ —
— 7 ! ‘ oxs
4-M5xP0.8 8-M5xP0.8 OO/
PCD60 PCD75
(Front & Back)
#60 h7 FT-RP B unit:mm
R ‘ Fitted with Planetary Reducer Al 811 14
I L, } 4 - - Fixing Flange A2 | 30-40-50 | 506070
T 3 |al A3 |M3-M4-M5 /M4 M5 M6
A4 46-60-63 | 70-75-90
8-M5xP0.8
fucog% ; / A5 46-55 64-70~80
p & Down
960 h7 A6 M3 x P0.5 | M5xP0.8
96
. i 7 B1 135 146
70 16.5 As B2 65 76
4-M6xP1.0 ‘ ‘
| ‘ | 3 | B3 26 33.5
<+ ! <+ B4 5 6

#A2 H8

| o
T N
4-M5xP0.8 &
PCD60

60 h7 FT—RC
! BETERER - ENBERIR

Fitted with Planetary Reducer

-~
T - Li* % T~ - Set Collar

8-M5xP0.8 —
PCD60 / E."

(Up & Down)
#60 h7
% 96
2 77 17 B1
70 16.5 L70 B2
=1 Ba As
| B 2-M6xP1.0 N\
|+ | 4] X = ’
| © @
11— # YR < {l
e U Y T
| (@ \
L * doma
" = | o
T GRA
4-M5xP0.8 8-M5xP0.8 &
PCD60 PCD75

(Front & Back)

& LIMING



= iE 2 IR e AR e iR % HIGH PRECISION SPIRAL BEVEL GEAR REDUCER

JT series

Indication of Model Numbers
HIERI SR o

Tloog R L P [} T giol L gro

L SR A Y AR HAFRR BhFER =L BHIRER
Type Model Input Output Bearing Ratio Shaft Backlash
Direction Class
JT 90 F: AJDEE P: RIRIERT 1:1 L8 T: SR ESF 1-Stage| |L: £ 8 PO
Input Flange Ball Screw 1 Shaft Taper 2 Left Shaft P1
R: B 2:2 iy Bearing R: B P2
Reducer V: €D 2 Shaft € E2 2-Stage Right Shaft
D: A0 Double Output ||3: 3 i 10
Input Shaft Shaft 3Shaft ||| | |  ||—————-
EHEH PO
LU EE)
Shaft direction
is optional for
output type P.

Rotating Direction
lie 8 75 )30

L e R @@
Shaft Direction Shaft Direction
( #£2 Standard) ( TI% Optional)

Note:
KATEMIZERER TREMO , - R #@FERE]E LREA -
Standard product is L shaft direction, R shaft direction is optional.




Selection of Type

EmixTVERE

t
P
i
=

adA] indinp

A 71 # = Input Type

F AZERE R JBR
Input Flange Reducer

\%
€8 1 0
Double
Output Shaft

P1
REKIZAR T
1 8
Ball Screw
1 Shaft

FP1

P2
RIKIZAR T
2 H#m
Ball Screw
2 Shaft

FP2

P3
REKIZAR T
3 B
Ball Screw
3 Shaft

FP3

H O P oL IE R (G - Shaft direction is optional for output type P.

RP1

RP2

RP3

D AZJEfG
Input Shaft

& LIMING




= iE 2 IR e AR e iR % HIGH PRECISION SPIRAL BEVEL GEAR REDUCER

Characteristic of JT Series

JT 25 EmbE

B | 3EEb
#11% Model No. 5 .
XB7E# 15 / Rated Output Torque
. T Nm 2:10 68
(Nominal output torque)

EANNZRAAE / Max. Acceleration Torque [VSSEEEN 210 1.5 FREEH HHE 1.5 Times of Rated Output Torque
B AHHHE / Max. Output Torque
; 545 / Emergency Sfop TorZue Tor| Nm 2:10 3 XA LR 3 Times of Rated Output Torque
XA EH AR / Rated Input Speed ny | rpm 2:10 3,000
B A# ABEZE / Max. Input Speed ng | rpm 2:10 6,000

PO <3
P& / Backlash J, |arcmin| P1 <6

P2 <9
R[FFREA | Max. Radial Force - N 210 3200
R 87K Taper Bearing B ’
REFEME A / Max. Axial Force - . Al G
R EHE Taper Bearing B 2

= , , . S5 EHAER : >30,000 (S1 E4EE#E : >15,000 hrs)

%D / Service Life Ly = 2 S5 Cycle Operation: >30,000 (S1 Continuous Operation: >15,000 hrs)
% | Efficiency n % 2-10 > 96%
AR E / Operating Temperature °C 2:10 -30°C ~ +100°C
¥ B/ Lubrication 210 ZEAUEEH Synthetic Oil
% & & / Noise Level dB 2:10 <74




Applications

ol 2R R [ R &0 31

OmizaE)x% 5% OmEaE)L 52
Two-Point Synchronous Lift Two-Point Synchronous Lift

JT-DP1-R

JT-DP1-R

JT-DP1-R

OMBLEIL b :
Four-Point Synchronous Lift

ONBEL & | =AM (- “ TDP1R
Six-Point Synchronous Lift 8 |

& UMING




=

152 12 e 2R 5 8Bl 2R HIGH PRECISION SPIRAL BEVEL GEAR REDUCER

MODEL : JT90

RATIO : 2 ( E2E% 1-Stage)

unit:mm
% 88 nr JT-FV
ANERE - & Ty
VM - SR 1 Af 16+19-22-24
Input Flange - Double Output Shaft A2 70-80-95-110
A3 M5-~M6 - M8
A4 90-100-115-145
A5 92-110-130
B1 148162
B2 5872
B3 51-65.5
B4 9:23.5
8-M6xP1.0
(Up & Down)
188
8-M6xP1.0 94 94
(Front & Back) 37 37
B4 35 M6xP1.0 35
5 25 25
6
=T | 0
s HEE I
- ®20 h7 A=
A-A SECTION
1 t |
o ‘ 0124 ‘ PCD A4
unit:mm
pU ENEEN
ATVER - RERIZAET -1
AR - BIRIRIRT 1 ERTETETEY
Input Flange - Ball Screw - 1 Shout A2 70-80-95-110
A3 M5-M6- M8
(R ) 6-M5xP0.8 S AR S KR
) M50 A4 | 90-100-115-145
® A5 92-110-130
B1 148-162
o p—
"’ B2 58-72
B3 51-65.5
I B4 9-235
= |
[ [ 4-99
PCD 150
af
-
f
B1
090 B2
? 88 h7 B3
/'\ B4
— R 5
! ! - T T || 35
8
> 1 P NG 'OI | : _.ﬁ._ Bl ‘
_ IrEEd T =2 o
-+ . ey s
'@' B Il}@' © ®20h7 B —=
o u’: ¥
\ L | / \ L B-B SECTION
I ] | ] 7 0
4-A3
R & 2| o124 | PCD A4

Shaft Direction




MODEL : JT90

RATIO : 2 ( E2E% 1-Stage)

unit:mm
JT-FP2
; S RIREZET -2
ATTER - RHIRATR, 2 L I RTSTRTEY
Input Flange - Ball Screw - 2 Shout A2 70-80-95-110
A3 M5 M6 M8
A4 90-100-115-145
[& Bl — oSy A5 92110130
5 25 5 B
e "EI /--\ B1 226240.5
3 I [ /jmi\ _ B2 102.5-117
JE' w B3 58-72
= B4 51-65.5

]
Sy e o | 9z
PCD 150

123.5 ) B2
090 B3
? 88 n7 B4 168.5
? BS 1235 M6xP1.0
38 [TT111] 38 11
0 35 . 35 [ \
© = ] 8
N — o1 9 MR\ || - ol
BT e o = 3 3
3 i AR R 2
) E= — N w © $20n7 P
= L] L N
7 7 B-B SECTION ﬁ\
ml [H | [N 1 1
R#& e 0124 | PéE)A3A4 /
Shaft Direction
unit:mm
JT-FP3
AJERE - FIKIEART -3 HE
AR T A A1 16192224
Input Flange - Ball Screw - 3 Shout A2 70-80- 95110
A3 M5~M6- M8
| A4 90-100-115-145
b :ﬂ A5 92-110-130
U B1 226-240.5
B2 102.5~117
2 ' gl suexPOs B3 5872
~f2 "EI m B4 51-65.5
8 4EJJE' ‘¢E§:§§¢’ - B5 9.23.5
(] |
PCD 150
li
I
B1
123.5 , B2
090 B3 247
@ 88 h7 B4 123.5 123.5
"\ BS |_M6xP1.0
[ ] 38 [TT1] 38
| o [ T 5
1909 [ (= 01 2 P\ || —£— ol
=@ == (Gt e c
o B i © 320n7 B

L[®

B-B SECTION

(
[1
e

10
=
N
N

R#
Shaft Direction

& LIMING



= iE 2 IR e AR e iR % HIGH PRECISION SPIRAL BEVEL GEAR REDUCER

MODEL : JT90

RATIO : 10 ( #E% 2-Stage)

unit:mm

TRV ENEEN
IR - & ¥
88 7 PN - B IR Al 11-14-16~19
Reducer - Double Output Shaft A2 506070
ﬂ‘ﬁ A3 M4 - M5 - M6
2 A4 70-75~90
; ‘ Q H A5 647080
° ‘ ‘ B1 165173
© 0 .
olal 1 ot B B2 7583

R
B3 33.5-41.5
\ B4 6
&)

\ 4-99
8-M6xP1.0 PCD 150
(Up & Down)

% 88 7
B1 188
8-M6xP1.0 B2 94 , 94
(Front & Back) B3 37 37
o B4 35 M5xP0.8 35
_ 5 25 A 25
‘ ) 6
A
I A= T o) —
- C NP, 2
=) = i s|B
32007 = =
—  AASECTION
[ [ 7 [ []

unit:mm
JTRP N
N o o
TR - RERIRAR 1 HE A 11121619
Reducer - Ball Screw - 1 Shout A2 506070
A3 M4-M5- M6
A4 70-75-90
6-M5XPO.S A5 64-70-80
Peb 38 B1 165173
B2 75~83
s i B3 33.5-415
B4 6
4-99
PCD 150
B2
B3 168.5

1235 | M5xP0.8
\!

‘ |w
N

[ 1
|
i
L
1 1
2 A1l
@ A2 He
OA5
22.5
S
AN

)4
68

5 5 5 ®
o | © \ ) | 20 ° A N
—1 B-B SECTION IP / ©

- \
7 i}

130

4-A3
PCD A4

0124

10

R &
Shaft Direction




MODEL : JT90

RATIO : 10 ( ¥z 2-Stage)

unit:mm

JT-RP2
IR - RIRBATTC -2 K

A1 11-14-16-19
Reducer - Ball Screw - 2 Shout A2 506070
A3 M4~ M5 - M6
A4 70-75-90
[® ®| 6-M5xP0.8 A5 64-70-80
- "EI } . B1 24352515
] //ﬁ\\ | 7 B2 120128
= @ B3 7583
JE. ‘ ' } | J B4 33.5-415

= ' B5 6
4-29
7 PCD 150

B1
123.5 ] B2
090 B3 168.5
@ 88 n7 B4 1235
/lk o\ B5 M5xP0.8
T 38 I r ‘: ] 38
H + © 35 H + 35 [
© = 6 " =
— | 1R
| k]l © TN | ] . B s
T ole| -
Lold sl Sial o
o | ol B — S | p20n EB =
¢ ~ L= ¥ &
= B-B SECTION Y /

. : - - —
T—rT—1 I I j:
4-A3
0124
R# PCD A4

Shaft Direction

10

unit:mm

JT-RP3
BEN - RIRIEART -3 L

A1l 11-14-16-19
Reducer - Ball Screw - 3 Shout A2 50-60-70
A3 M4 - M5~ M6
A4 70-75~90
A5 64-70~80
- B1 243.5-251.5
S
B2 120-128
B3 75-83
2 ' & iy B4 33.5-415
—f m | j {o B5 6
8| =t e{C)e \
]
& ! .
4-%9
PCD 150
gl
“
B1
1235 ) B2
090 B3 247
? 88 n7 B4 123.5 123.5
A B5 M5xP0.8
[ ] 38 I ] 38 38
3 35 35 35
y P‘\‘ X I 3= — Yo ng < I . “FI“ ] - ~—lz ®
£t i TE Tl Iy O SENT
] N/ = © B ] —s
6 [ of ? - S A | ?20w N
. : ! T . $ L N— B-B SECTION ©
T— ™17 T I |
Rw ° 0124

Shaft Direction

& LIMING



= iE 2 IR e AR e iR % HIGH PRECISION SPIRAL BEVEL GEAR REDUCER

MODEL : JT90

RATIO : 2 ( E2E% 1-Stage)

JT-DV
ATIERD - S H D8
Input Shaft - Double Output Shaft

25 5

\ 4-99
8-M6xP1.0 PCD 150
(Up & Down)

@88 h7
168.5
8-M6xP1.0
(Front & Back) 37
35
5 25
6
—fi— A
]
5 &t ]
- %20 h7 A=
A-A SECTION
d t
o |

JT-DP1
A8 - SFIRIBAREC -1
Input Shaft - Ball Screw - 1 Shout

(% (8}] 6-M5xP0.8

) PCD 38

90

&

S

o)
|

168.5

55

6

}
L
I
|
I ] [ — _.H._
| SR = - f@f" I |
1Ly B ' o
\_i_'_l_7} ? 20 h7

75

y A-A SECTION / \

R# 9‘
Shaft Direction




MODEL : JT90

RATIO : 2 ( E2E% 1-Stage)

JT-DP2
A B - RIRIBART -2 L
Input Shaft - Ball Screw - 2 Shout

6-M5xP0.8
PCD 38

90

168.5
78.5
168.5
123.5
38 38 [
35 35 |
0
6 S ©
H —|5 i B|l— °
w o
o - 152}
o~ -~
H —B $20nm B o
o 4 ~
©
B-B SECTION
\ 7 \
1 il ]
| 0124 |
R & 2
Shaft Direction
AFTEG - SRIRIEART -3
Input Shaft - Ball Screw - 3 Shout
['29) 6-M5xP0.8
PCD 38
IﬁF._
+| {
— =g
4-99
PCD 150
247
123.5 ) 123.5
090
388 n7 168.5
/‘* 1235
—LrrTl 38 71 38 38 [
4 4 © 35 4 4 35 35 [
3 — 8
B 5 — 5 5 6, 5 B
1oL Bl — o ! ! . -t B[— o
B ' i °
- - - - - = T 2
N
B || s 520m B =
> 181 : _:K%_t' - > § 9|
B-B SECTION
L \ L \ - /L \
i 11 1 1 L 11
0124
R# 2
Shaft Direction

& LIMING



= iE 2 IR e AR e iR % HIGH PRECISION SPIRAL BEVEL GEAR REDUCER

Reference Information of Ball Screw

FIABIESZEH

L
T x
L IS
1 M
| g
g — H- o
| |®
| L

[ ! BEARBRERSM - — ) .
N ZAERS YRNE 2 1245 AL AFL

Basic Rate
e Screw Size Load (kgf) Nut Flange Screw Bolt | Oil Hole

==l

Modelof | s | w2 | Bia® | Bad
Reducer Lead | Dynamic | Static
1210 2130 M6xP1.0
90 15 10 950 1650 28 48 38 5.5 M6xP1.0
15 16 910 1600 28 64 48 10 | 38 55 M6xP1.0




MEMO

2
]




EIRR TS Z 5L e ¥R B3R HIGH PRECISION HYPOID GEAR REDUCER

HY series

EiEA

Indication of Model Numbers®
RIS

Hyloog L O B g5 | L _gPo

R Y
Type

HY

Model

55
75
90
115
130
140
160
190
230
270

VPAEZ
Input

F: AJ1ERE
Input Flange
R44: JBi3E % Reducer
1-Stage:
R44 -~ R62...
2-Stage:
R62S...
2-Stage (A-Type) :
R44A - R62A...
D: EANEL (BRE)
Single Input Shaft
(Keyway)
D1: EATI®O (IR )
Single Input Shaft

(No Keyway)

pAEZN AR
Output Bearing
O: HAPZEH B: RERE
Hollow Output Shaft Ball Bearing
N: g iRmE (55#~270#)

Single Clamping

M: EEGRHE T: RSB

Double Clamping Taper

S: BH /L (BRE) Bearing
Single Output Shaft (90#~270#)
(Keyway)

S1: B A0 (R )
Single Output Shaft

(No Keyway)

V: EEH NN (FRE)
Double Output Shaft
(Keyway)

V1 N8 (ERE)
Double Output Shaft
(No Keyway)

P: 121230 (75#~190#)
Ball Screw
PR & S dhK

Taper Bearing Only

BIRER
Ratio Shaft Backlash
Direction Class
B5E% 1-Stage | |L: =84 PO
5,10, 15 Left Shaft P1
R: A P2
---------------- Right Shaft
BB
=botsc | M—
With 1-Stage | [1. £ AFH N
Planetary S oI DU R EH T
Reducer Shaft direction
25~ 150 is optional for

output type N,
BicEr S.

TEREW

With 2-Stage | [2. £ 7= P
Planetary A R B#E
Reducer Output type P
250 ~ 1500 ||only for R shaft.

The Model & Ratio Table of Hypoid Gear Reducer Assembly Planetary Reducer

EYE

115
130
140
160
190
230
270

10
15

S5 13, 3R e 125 PG 1T 22 ol R AR

RS RIRLE— B

ERITEREERIZELE

Ratio of 1-Stage Planetary Reducer

5:10

BEERTEREMRERL
Ratio of Bevel Gear Recucer

with 1-Stage Planetary Reducer

255075100 - 150

LR RE AR B RTEAESR
Flange Planetary
Model Reducer Model

90 90
120 120
142 142
142 142
180 180
180 180
220 220

ERITEREKRIZEL
Ratio of 2-Stage Planetary Reducer
25-50~100

BRCERITEREEREL
Ratio of Bevel Gear Recucer
with 2-Stage Planetary Reducer
250 ~ 500 ~ 750 ~

1000 - 1500




Selection of Type

EmixTVERE

A 71 # = Input Type

F ATDER R B D BEADE#G
Input Flange Reducer Single Input Shaft

0}
aepaleskeatci
Hollow
Output
Shaft

N
B
RIBEE
Single
Clamping

M
7 gz
RIBHHE
. Double
Clamping

S
BHANEL
Single
Output Shaft

adA] indino

\%
€8 D BA
Double
Output Shaft

P
IR

Ball Screw

1. B0 N - S TIRUEEBAG - Shaft direction is optional for output type N, S.
2. B AF P & R EAE - Output type P only for R shaft.

& LIMING



AR AEZ 8B E% HIGH PRECISION HYPOID GEAR REDUCER
Rotating Direction
fie#& 75 [mlE AR

8 2
Output Shaft 2

AT 1

L E@ Input Shaft 1
Shaft Direction
7% 1
Output Shaft 1
- AR
L %) ‘/—F\ Input Shaft 1
Shaft Direction |
78 1
Output Shaft 1
H0%h 2
Output Shaft 2
R @@
Shaft Direction

AT 1
Input Shaft 1

Note:
KATEMIZERER TREMO , - R #@FERE]E LREA -
Standard product is L shaft direction, R shaft direction is optional.




Selection Direction of Installation

ZaAL SBE
L4 [o)gi=
Side 6
Side 4 /
Side 2
Rapal i
Output Shaft
Al
Input Shaft
Side 3
Side 1 \
Side 5

Side 1

- [Note 1]

Side 3 Side 4

Side 5 Side 6

[ Note 1] #0204 R @@ - Output type for R shaft.

& UMING



EIRR TS Z 5L e ¥R B3R HIGH PRECISION HYPOID GEAR REDUCER

Features of HY Series

HY 5| ZEm5Ha

BER
o HERBHEILHER FERBRTE
115 -

o TETHEUEERLLE AR 1/20~1/60 -

Super-Reduction-Hypoid Gear

st HYGear I - B89 % BECISEAE REBZH A - * Gleason super-reduction-hypoid gear tooth
BRISESEHERESNERD  BEARSB—E _NES - system, the max. single stage ratio is 1/15.
9

Single stage ratio 1/20~1/60 is optional.

100% |, [ cleasonsrH
> 80% [~ - 1
[$) A > e
g 60% \\\“\
§ P «\\
L 40%
L >
i Worm coar o/ —1 !
20%
0] 4x40 3x60 2x60 2x80 2x100 1x60
~—|=-Worm gear RATIO
SHERE SHEEE
o —RBAERARRRRADMAMEY - o HERMEAIMESE 90% A KEERERAA -
o EIWEZE  EAMIMMRERE 7 E/NEE
B BEEENER FEHERESHBRE
RERIELE -
High Output Torque High Output Torque
® The gear box is one-piece constructed ® High running efficiency, the effiency more
to ensure the high rigidity and corrosion- then 90%.

resistant capability.




Features of HY Series
HY 5| ZEmiTah

(B

¢ f&H Gleason £ e L& - 1N
ITHESRNIERSZER  BRES
R EIRE -

o BIgs/NTZE 2 WA UA -

Low Backlash

® Using Gleason high precision CNC
grinding machine to grinding the
spiral bevel gears.

e Torsional backlash depending on
design up to <2 arcmin

ZEREBMIRESRAE
ERZESE -

o AENHMRTIMBERRZELE
FRRBNEX -

BAR

Mounting Position

® Multiple precision machined surface
is easy for assembly, suitable for any
optional mounting orientation.

® Qutput shaft and input shaft are
designed to suit for various industries
applications.

E SR IRED

c BREEHENBREERALER
EERFANTEXERATLUET
1500:1 FSRLIEELE -

More High Gear Ratio

® High precision grinded and
carburized spiral bevel gears with
optimal designed planetary gear can
do ratio 1500: 1.

CAE sEt ik

o 7F9 3D-CAE BRABAIR SHHAT T -
U R IR R IR IR R R TT
DI - BINER R RRRENERS

PN
Ap °

CAE Design and Analysis

® Employs 3D-CAE software for
analysis and design, the software
allows for analyzing the strength of
the entire gear reducer and helical
teeth. Increasing the service life of
gears and the gear reducer.

B {CAVRRET

o %M Gleason W EWR UL - 18
HBECEBEENENSE B3
TREMEURR/NEE -

Optimized Design

® Use Gleason's design software
to design new spiral bevel gears.
Through the ideal gear contact
pattern for application, achieve high
permissible output torque.

BIRIVEE B

o B AIGELFEEAE A IR IR
L WEBTFES - LRRE
BHABRT &SN ENELERF
BE - RESROBNIGE -

Collet Locking Mechanism

® The input-end and the motor are
coupled through a collet locking
meshanism. It has passed
dynamical balance analysis to
assure concentricity and balance on
the connection and no backlash for
power transmission while running at
high speed.

& LIMING




EIRR TS Z 5L e ¥R B3R HIGH PRECISION HYPOID GEAR REDUCER

Characteristic of HY Series

HY 25 EZmFiE

BRI R 1-Stage

1221 | | o L on o ool

1,100 | 1,440 | 2,090 | 2,720

XB7E# 145 / Rated Output Torque

Tx | Nm 10 30 60 117 220 | 365 | 615 | 957 | 1,230 | 1,710 | 2,200

(Nominal output torque)

15 25 50 95 180 | 300 | 510 | 815 | 1,020 | 1,418 | 1,906

ER AR / N
= : Ty | Nm |5~15 1.5 FEEEH T HE 1.5 Times of Rated Output Torque
Max. Acceleration Torque

B AHI R E / Max. Output Torque
(=148 / Emergency Stop Torque

VR NS WA ETCO N[l RSTo ISl 7, | rpm | 5~153,000| 3,000 | 3,000 | 3,000 | 2,500 | 2,500 | 2,000 | 2,000 | 2,000 | 2,000

B K8 ABE2R / Max. Input Speed mg | rpm | 5~15(6,000| 6,000 | 6,000 | 6,000 | 5,000 5,000 | 4,000 | 4,000 4,000 4,000

Tnor| Nm | 5~15 3 2582 4R 3 Times of Rated Output Torque

PO - - <3 <3 <3 <3 <3 <3 <3 <3
28 / Backlash J, |arcmin| P1 | <6 <6 <6 <6 <6 <6 <6 <6 <6 | £6
P2 <9 <9 <9 <9 <9 <9 <9 <9 <9 <9

BEF&EA / Max. Radial Force
. Fog N 5~15(1,495| 2,366 | 2,691 | 4,797 | 5,837 | 7,020 | 9,490 |12,337|15,500/17,360
TR EKER7E Ball Bearing

AEEEAE S / Max. Axial Force
YRR EH7 Ball Bearing

Fon N |5~15| 748 | 1,183 | 1,346 | 2,399 | 2,919 | 3,510 | 4,745 | 6,169 | 7,750 | 8,680

B E@A / Max. Radial Force y 5,523

F N |[5~15| - : 9,100 |12,320(14,420|18,620|24,080(30,800|33,600
&k 7% Taper Bearing B 5,000(P)|6,545(P)

AEFAE 7] / Max. Axial Force - 2,762
. F,, N 5~15 - ; 4,550 | 6,160 | 7,210 | 9,310 |12,040|15,400(16,800
E$E7% Taper Bearing 20 2,500(P)|3,273(P)

= . . S5 FHAE : >30,000 (S1 E#45E 8 : >15,000 hrs)
%D / Service Life Lu i S S5 Cycle Operation: >30,000 (S1 Continuous Operation: >15,000 hrs)

5 >96%
v % | Efficiency n %
10~15 >93%
AR E / Operating Temperature °C |5~15 -10°C ~ +90°C
B B/ Lubrication 5~15 2 ERUEEH Synthetic Ol

% & 18 / Noise Level dB |5~15 §67‘ <67 ‘ <69 ‘geg

& : (P) 12420 NOTE: (P) Ball Screw

<7 ‘ <7 ‘ <72 ‘ <72 ‘ <74 ‘ <76

Eﬁib‘fmg Mass Moments of Inertia (kgcm?®)

--m
0.23 0.58 1.41 4.00 712 1353 | 2476
10 015 0.38 1.00 2.46 4.27 7.38 12.47 21 56 57
15 013 0.34 0.81 2.07 3.45 5.76 9.23 16 52 50




Characteristic of HY Series

HY 25 EZmFit

EELRLIEE 2-Stage

e A T T S S
70 140 260 | 430 | 720

25,50 35 1,100 | 1,440 | 2,090 | 2,720

REEd R / Rated Output Torque

. Ton | Nm 100 30 60 117 220 | 365 | 615 | 957 | 1,230 | 1,710 | 2,200
(Nominal output torque)
75,150 25 50 95 180 | 300 | 510 | 815 | 1,020 | 1,418 | 1,906
Ex AR /
= . Ts | Nm | 25~150 1.5 ZFREEH HHE 1.5 Times of Rated Output Torque
Max. Acceleration Torque
B AEIH RAE / Max. Output Torque
A P q Toor| Nm | 25~150 3 {228 E L 4R 3 Times of Rated Output Torque

= {=1R%E / Emergency Stop Torque

SV TUNEFEWAETCO N[ RSl 7, | rpm | 25~150 |3,000| 3,000 | 3,000 |3,0003,0003,000|2,000 3,000 | 3,000 | 3,000

B A # ABEZR | Max. Input Speed mg | rpm | 25~150 16,000/ 6,000 | 6,000 |6,000|5,000|5,000|4,000| 4,000 | 4,000 | 4,000

PO - - <4 | 24| 4| 24| 4| 24| <4 | 24

A
~
A

B8 / Backlash J, |arcmin P1 7 <7 <7 | €7 | €7 | £7 <7 <7 <7

P2 10

IIA
=
o
IIA

10 | <10 | <10

IIA

10

1IN

10 | £10

1IN
IIA

10 | 210

REFEEA / Max. Radial Force
P N 25~150 |1,495| 2,366 2,691 |4,797 |5,837|7,020|9,490|12,337|15,500| 17,360

YR ER 7% Ball Bearing

REFEHE S / Max. Axial Force

— . Fs| N 25~150 | 748 | 1,183 1,346 |2,399|2,919 3,510 | 4,745 | 61,69 | 7,750 | 8,680
YR EKER7 Ball Bearing

BEFEEA / Max. Radial Force
R 8H7K Taper Bearing

5,623

5,000(P)|6,545(P) 9,100 [12,320(14,420(18,620/ 24,080 30,800/ 33,600

Fog| N 25~150 -

BEEEAE S / Max. Axial Force
YR #E8H7K Taper Bearing

- 2,762
2,500(P)|3,273(P)

S5 [EHEAEH : >30,000 (S1 @A EHE : >15,000 hrs)

Fp| N 25~150 - 4,550 6,160 7,210 | 9,310 {12,040 15,400( 16,800

M= / Service Life Ln iy 25150 S5 Cycle Operation: >30,000 (S1 Continuous Operation: >15,000 hrs)
N 25,50 292%
v % | Efficiency n %
75,100,150 > 90%
AR E / Operating Temperature °C | 25~150 -10°C ~ +90°C
B B/ Lubrication 25~150 5 RUEE M Synthetic Ol
£ = {8 / Noise Level dB | 25~150 §67‘ <67 ‘ <69 ‘§69 <7 ‘§71 ‘§72‘ <72 ‘ <74 ‘ <76

# : (P) 81230 NOTE: (P) Ball Screw

# &) {5 & Mass Moments of Inertia (kgcm?)

R Ratiol 55|75 |90 | 1151 130 | 140 | 160 | 190 | 230 | 270 |
25 4.9

0.39 115 1.18 4.99 7.99 8.27 8.75 53.27 53.27
50 0.36 1.05 1.06 4.07 4.09 6.31 6.36 6.45 50.56 50.56
75 0.35 0.94 0.96 3.17 3.24 4.04 4.23 4.56 53.27 53.27
100 0.34 0.93 0.94 312 3.14 3.87 3.92 4.01 50.56 50.56
150 0.33 0.92 0.93 3.08 3.06 3.73 3.68 3.59 50.56 50.56

& LIMING



EIRR TS Z 5L e ¥R B3R HIGH PRECISION HYPOID GEAR REDUCER

HY-FO series

RATIO : 5.10.15 ( EEE¢ 1-Stage)

ATVERE - WP ZE

Input Flange - Hollow Output Shaft

8-B12
Up & Down

B5

B4

_Front & Back

C5

Cé

?A1
(140#LL L)
$A1| D E
$32 | 10 | 353
»35 | 10 |38.3
?38 | 10 | 413
942 | 12 | 453
948 | 14 | 51.8
$55 | 16 | 59.3

unit: mm

Al 8-11-14 14-19-24 19-22-24 24-28-32 32-35-38 32-35-38 42-48-55 |42-48-55-60|48-55-60"65
70-80- 114.3-180 114.3-180 " 114.3-180~
A2 30-40-50 | 50-60-70 |50-70-80-95 95110 95-110-130 |110-130-180|110-130~180 230250 230250 230250
A A3 |M3-M4-M5|M4-M5-M6 M5 - M6 M5-M6-~M8 |M6~M8-M10 M8-M10-M12|M8-M10-M12| M12-M16 M12~M16 M12~M16
70-90~ 90-100" 200-215- 200-215~ 200-215-
A4 46-60-63 | 7075-90 100~115 115145 115-145-165|145-165-200|145-165-200 265300 265300 265300
182-200" 182-200 222-220-
A5 46~55 64-70-80 | 80-92-110 | 92~110-130 |122-130-150|146~150-190|146 150190 250265 250265 250265
A6 M3 x P.05 | M5 x P0.8 M5 x P0.8 M6 x P1.0 M8 x P1.25 | M10xP1.5 M10 x P1.5 M10 x P1.5 M10 x P1.5 '\'\/211%);';11'575
202-221- 515.5+
B1 135 172 206 5 241 286 333 358 417-419 470473 518.5 545
165.5~
B2 45 57 62-81-66.5 71 94 118 118 153+155 170173 168.5-195
B3 90 115 140 170 192 215 240 264 300 350
B4 78 98 118 144 164 182 206 224 260 300
B5 39 49 59 72 82 91 103 112 130 150
112115~ 112.5~
B6 28 38 49-68.5-54 58 69.5 81.5 81.5 114.5-116.5 120123 115.5 142
B7 5 6 9-23.5 8 10 10 10 11.5-13.5 12-15 12.5-15.5-42
B8 84 103 128 148 173 200 227 254 295 328
B9 6.8 9 11 11 13.5 15 175 17.5 17.5 22
B10 44 54 66 80 95 104 120 140 180 200
B11 22 27 33 40 47.5 52 60 70 90 100
B12 M6 xP1.0 | M8xP1.25| M10xP1.5 | M12xP1.75 | M12x P1.75 | M14 x P2.0 M16 x P2.0 | M16 x P2.0 M16 x P2.0 M20 x P2.0
C1 88 108 132 156 172 187 212 242 298 332
Cc2 44 54 66 78 86 93.5 106 121 149 166
C3 60 80 100 120 138 146 166 196 250 280
C C4 2 2 2 2 2 2 2 2 3 3
C5 6 8 8 12 14 16 18 20 22 25
C6 22.8 28.3 33.3 43.3 51.8 59.3 64.3 74.9 85.4 954
Cc7 20 25 30 40 48 55 60 70 80 90
C8 9 14 18 23 27 32 38 42 50 56
Weight +3% (kg) 2.2 41 79 13.2 18.6 27.3 38.3 54.3




HY-RO series

RATIO : 25.50.75.100.150 ( #E% 2-Stage)

FBECITERIER - B =i

Fitted with Planetary Reducer - Hollow Output Shaft

B10

8-B12
Up & Down

B5

B4

B1
0OB3 B2

B4 B6
o B7

= |
_ ‘r*IFHTﬁqA =T 2
LT Y
i |

8-9B9

Front & Back

©
1
®0

C5

C6

PA1
(140#L0L)

$A1| D E

$28 | 8 | 313
$32 | 10 | 35.3
$35| 10 | 38.3
938 | 10 | 41.3
942 | 12 | 453
948 | 14 | 51.8
$55 | 16 | 59.3

A6

, C4

&
NG
)

unit: mm

m--n-----

Al [8-9:11-14 |11-14:16-19] (14)-16-19 22 24 32 35 28-3235-38(2832+35-38 354285‘;,2 354%85‘;2 3‘?8 4525
A2 |30:40-50 | 50-60-70 |50-70-80-95 7905‘81?0 95110130 | 110130180 | 110130180 11;323\122?) 11;5?,\122%‘ 11;ég~12£;%

BN A3 M3-M4-MS|MA-M5-M6|  M5-MG | M5-M6-M8| M6-M8-M10|M8-M10-MI2| M8 MI0-M12| Mi2-MI6 | Mi2-M16 | Mi2-Mi6
A4 | 46-60-63 | 70-75-90 1786 ??1‘5 91%1\(1)25 115145165145 165200 | 145165200 zggs‘ 2,;050 22085‘ 2;5’0 22085‘ 2;5’0
A5 46-55 | 64:70-80 | 8092110 |92-110130|122-130150| 146150190 | 146150 - 190 1220 ?325 128520 ?325 222520 ?2225
A6 | M3xP05 | M5xP0.8 | M5xP0.8 | M6xP1.0 | M8xP1.25 | MIOxP1.5 | MI0xP15 | MIOxP1.5 | MI0xP1.5 | MI0xP1.5
B1 157 201-209 | (224.5)-237 287 340360 405 430 508510 572 642.5
B2 67 8694 (84.5)-97 117 148168 190 190 244246 272 292.5
B3 90 115 140 170 192 215 240 264 300 350
B4 78 98 118 144 164 182 206 224 260 300
B5 39 49 59 72 82 91 103 112 130 150
B6 26 33.5.415 | (33.5):45.5 59 6783 84.5 84.5 114.5-116.5 114.5 117.5
B7 5 6 (6)-10 9 1011 10 10 11.5-13.5 115 12.5
B8 84 103 128 148 173 200 227 254 295 328
B9 6.8 9 11 11 13.5 15 17.5 175 17.5 22
B10 44 54 66 80 95 104 120 140 180 200
B11 22 27 33 40 47.5 52 60 70 90 100
B12 | M6xP1.0 | M8xP1.25 | M10xP1.5 |M12xP1.75| M12xP1.75 | M14xP2.0 | M16xP2.0 | M16xP2.0 | M16xP2.0 | M20 x P2.0
C1 88 108 132 156 172 187 212 242 298 332
c2 44 54 66 78 86 93.5 106 121 149 166
C3 60 80 100 120 138 146 166 196 250 280
c4 2 2 2 2 2 2 2 2 3 3

C C5 6 8 8 12 14 16 18 20 22 25
Cé 228 28.3 33.3 433 51.8 59.3 64.3 74.9 85.4 95.4
c7 20 25 30 40 48 55 60 70 80 90
C8 9 14 18 23 27 32 38 42 50 56

Weight £3% (kg)| 2.5 4.8 8.5 14.1 23.2 35.5 46.3 71.1

& LIMING




EIRR TS Z 5L e ¥R B3R HIGH PRECISION HYPOID GEAR REDUCER

HY-DO series

RATIO : 5.10.15 ( EEE¢ 1-Stage)

BANEL - HApzEs
Single Input Shaft - Hollow Output Shaft

?B10 h7 :
B12 8-B14
Up & Down
B2 B1
T Q;/% A2
=
N 3 ™
m B : j <
“h Ad
_ D A1 h7
dﬂf
] A-A SECTION
B4 c1
B8
B9
‘ . ... Cs5
N~
m — —
8 A 8
0 L
oI
8-B11
_Front & Back_
unit: mm
mn
A1l 14 19 24 28 32 32 38 40 55 60
A2 5 6 8 8 10 10 12 12 16 18
A3 16 21.5 27 31 35 35 41 43 59 64
Ad M5 x P0.8 M6 x P1.0 M8 x P1.25 M10 x P1.5 M10 x P1.5 M10xP1.5 | M12x P1.75 | M12x P1.75 | M16 x P2.0 M16 x P2.0
B1 2.5 25 2.5 25 5 5 5 5 5 5
B2 20 25 35 35 40 40 50 50 70 90
B3 147 181 218 260 293 315 367 403 483 567
B4 57 66 78 90 101 100 127 139 183 217
B5 90 115 140 170 192 215 240 264 300 350
B6 78 98 118 144 164 182 206 224 260 300
B7 39 49 59 72 82 91 103 112 130 150
B8 27 32 42.5 42.5 52.5 51.5 63 63.5 83 105
B9 25 30 40 40 50 50 60 60 80 100
B10 84 103 128 148 173 200 227 254 295 328
B11 6.8 9 1" " 13.5 15 17.5 17.5 17.5 22
B12 44 54 66 80 95 104 120 140 180 200
B13 22 27 33 40 47.5 52 60 70 90 100
B14 M6 x P1.0 M8 x P1.25 | M10xP1.5 | M12xP1.75 | M12xP1.75 | M14xP2.0 | M16xP2.0 | M16xP2.0 | M16xP2.0 | M20 x P2.0
C1 88 108 132 156 172 187 212 242 298 332
C2 44 54 66 78 86 93.5 106 121 149 166
C3 60 80 100 120 138 146 166 196 250 280
C C4 2 2 2 2 2 2 2 2 3 3
C5 6 8 8 12 14 16 18 20 22 25
C6 22.8 28.3 33.3 43.3 51.8 59.3 64.3 74.9 85.4 95.4
c7 20 25 30 40 48 55 60 70 80 90
Cc8 9 14 18 23 27 32 38 42 50 56
Weight +3% (kg) 2.9 4.6 8.4 13.7 27.7 54.5




HY-FN series

RATIO : 5.10.15 ( ¢ 1-Stage)

ATERE -

BEREHE

Input Flange - Single Clamping

2B8 h7

B10

8-B12
Up & Down

Front & Back

8-8B9

(140#201)
$A1| D E
%32 | 10 | 353
»35| 10 | 383
»38 | 10 [ 413
©42 | 12 | 453
948 | 14 | 51.8
$55 | 16 |59.3

R %

C1

unit: mm

el o [ | w | | [ | e || an | e || aw |

Al | 81114 14-19-24 | 19-22-24 | 24-28-32 | 323538 | 323538 | 42-48-55 |42-48-55-60 48556065
A2 | 304050 | 506070 |50-70-80-95| %3 |95-110-130|110130-180| 110-130-180| 537750 | 1149780 | 1148 -180°
A3 |M3-M4-M5|M4-M5-M6| M5-M6 | M5-M6-M8 |M6-M8-M10|M8-M10-M12|M8-M10-M12| M12-M16 | M12-M16 | Mi2-M16
A4 | 466063 7075.90 | 1099 | 90190 1415.145 165|145 165-200| 145165200 2025 | 20925 | 290215
A5 | 46-55 | 64-70-80 | 80-92-110 | 92110130 | 22 180" J146.150-190|146 150 190| 'S2 200 | 152 200 | 222/220
A6 | M3xP05 | M5xP0.8 | M5xP08 | M6xP10 | M3xP1.25 | MIOxP15 | MIOXP15 | MIOXP15 | MioxPis | GHOXPL>
B1 135 172 2056623_251 ) 241 286 333 358 417419 470,473 5 1581255 45
B2 45 57 | 62:81-66.5 7 94 118 118 153155 | 170-173 | J95.
B3 90 115 140 170 192 215 240 264 300 350
B4 78 98 118 144 164 182 206 224 260 300
B5 39 49 59 72 82 91 103 112 130 150
B6 28 38 | 49-68.5-54 58 69.5 815 815 1as 165 | o T 1125
B7 5 6 9-235 8 10 10 10 115-13.5 1215 | 12.5-15.5-42
B8 84 103 128 148 173 200 227 254 295 328
B9 6.8 9 1 11 13.5 15 175 175 175 22
B10 44 54 66 80 95 104 120 140 180 200
B11 22 27 33 40 475 52 60 70 90 100
B12 | M6xP1.0 |M8xP1.25| M10xP1.5 | M12xP1.75 | M12xP1.75 | M14xP2.0 | M6xP2.0 | MI6xP2.0 | MI16xP2.0 | M20xP2.0
c1 109 134 160 189 207 224 249 281 344 378
c2 44 54 66 78 86 93.5 106 121 149 166
c3 65 80 94 111 121 130.5 143 160 195 212
c4 2 2 2 2 2 2 2 2 3 3
c5 60 80 100 120 138 146 166 196 250 280

C BeE 6 8 8 12 1 16 18 20 22 25
c7 22.8 28.3 33.3 433 51.8 50.3 64.3 74.9 85.4 95.4
cs 20 25 30 40 48 55 60 70 80 90
co 28 34 44 52 60 73 73 83 100 110
10 M6 M6 M6 M8 M8 M8 M8 M10 M12 M12
C11 9 14 18 23 27 32 38 42 50 56

Weight 3% (ka)| 2.5 45 8.7 13.5 18.5 29.4 406 57.7

& LIMING




EIRR TS Z 5L e ¥R B3R HIGH PRECISION HYPOID GEAR REDUCER

HY-RN series

RATIO : 25.50.75.100.150 ( 2E% 2-Stage)

TABCATE R IE -

EERBEHE

Fitted with Planetary Reducer - Single Clamping

B6

D
+3
BA1
(140#0L L)
9A1| D | E 4
228 | 8 |313
$32 | 10 [ 353
835 | 10 | 383
838 | 10 | 413
p42 | 12 | 453
248 | 14 |51.8
855 | 16 | 59.3

Bl
o
e
| !=ﬂ\d
A1

A2 Hg

i

8-2B9
_Front & Back

R &
Shaft Direction

A6
C4

<
N
2

unit: mm

h@--n----
8291114 |1114-16+19| (14)-16-19 | ‘0 191 | 22.24°28" 195,37 35.38/28-32 3538 20,30 427 | 35 38 420 | 3B 42
A2 304050 | 506070 | SoTor | 7980 | 95.110-130 | 110:130-180|110-130-1g0| '3 180" | 114.9°780+ | 114.9-780-
BN A [M3oMA-MS MA-MS-MB| MS-MG | M5-MG-MS | M6-M8:M10|M8-MI0-M12|M8-M10-M12| M12-Mi6 | Mi2-Mi6 | M12-Mi6
A4 | 46-6063 | 7075-90 | 1099 | 9019 1415145165 145 165-200| 145165200 025 | D028 290215
A5 | 4655 | 647080 | 8092110 |92+ 110130 122130150/ 146150190 146150 +190| 52 290" | 182.200 | 222 220
A6 | M3xPO05 | M5xP0.8 | M5xP0.8 | M6xP1.0 | M8xP125 | MIOxP1.5 | MIOxP1.5 | MOxP15 | MIOXP15 | M10xP15
B1 157 201-209 | (224.5)-237| 287 340360 405 430 508510 572 642.5
B2 67 86-94 | (84.5)-97 17 148168 190 190 244246 272 2025
B3 90 115 140 170 192 215 240 264 300 350
B4 78 98 118 144 164 182 206 224 260 300
B5 39 49 59 72 82 91 103 112 130 150
B6 26 335415 | (33.5)-455| 59 6783 845 845 | 1145-1165 | 1145 175
B7 5 6 (6)-10 9 1011 10 10 115-13.5 15 12.5
B8 84 103 128 148 173 200 227 254 205 328
B9 6.8 9 11 11 13.5 15 175 175 17.5 22
B10 44 54 66 80 95 104 120 140 180 200
B11 22 27 33 40 475 52 60 70 90 100
B12 | M6xP1.0 | MBxP1.25 | MIOXxP1.5 | M12x P1.75 | M12x P1.75 | M14xP2.0 | M16xP2.0 | M16xP2.0 | M6xP2.0 | M20xP2.0
ct 109 134 160 189 207 224 249 281 344 378
C2 44 54 66 78 86 93.5 106 121 149 166
c3 65 80 94 111 121 130.5 143 160 195 212
c4 2 2 2 2 2 2 2 2 3 3
c5 60 80 100 120 138 126 166 196 250 280
o) cs 6 8 8 12 14 16 18 20 22 25
c7 228 28.3 333 433 51.8 59.3 64.3 74.9 85.4 95.4
c8 20 25 30 40 48 55 60 70 80 90
co 28 34 44 52 60 73 73 83 100 110
c10 M6 M6 M6 M8 M8 M8 M8 M10 M12 M12
11 9 14 18 23 27 32 38 42 50 56
Weight +3% (kg)| 2.9 54 8.9 15.2 241 375 482 732




HY-DN series

RATIO : 5.10.15 ( ¢ 1-Stage)

BANED - EERRUE
Single Input Shaft - Single Clamping

®B10 h7 N
B12 8-B14
‘w" Up & Down
{ i \ B2. B { I |
M=y Ve o e Fo—e
~ EL | { i w = ‘ { ] W
S e e e n ot B 0 = A e e =t
& " AL
ﬁd@s\_\f@;ue 2AT | T T
T T T A-A SECTION T T ]
T
R &
®B10 h7 Shaft Direction
B3
oB5 B4 c1
B6
_ B7 B8
B9
‘ .
& = il
8 : o aﬁ
8-¢B11 —L =
Front & Back
e e .
— unit: mm
S s ] e | w0 | v | o0 | w0 | | w | | m
Al 14 19 24 28 32 32 38 40 55 60
A A2 5 6 8 8 10 10 12 12 16 18
A3 16 215 27 31 35 35 41 43 59 64
A4 M5xP0.8 | M6xP1.0 | M8xP1.25 | MIOxP15 | MI0xP1.5 | MIOxP15 | M12xP1.75 | M12xP1.75 | M16xP2.0 | M16x P2.0
B1 25 25 25 25 5 5 5 5 5 5
B2 20 25 35 35 40 40 50 50 70 90
B3 147 181 218 260 293 315 367 403 483 567
B4 57 66 78 90 101 100 127 139 183 217
B5 90 15 140 170 192 215 240 264 300 350
B6 78 98 118 144 164 182 206 224 260 300
B7 39 49 59 72 82 91 103 112 130 150
B8 27 32 425 425 52.5 51.5 63 63.5 83 105
B9 25 30 40 40 50 50 60 60 80 100
B10 84 103 128 148 173 200 227 254 295 328
B11 6.8 9 1 1 13.5 15 17.5 17.5 17.5 22
B12 44 54 66 80 95 104 120 140 180 200
B13 22 27 33 40 475 52 60 70 90 100
B14 M6 xP1.0 | M8xP1.25 | MIOxP15 | M12xP1.75 | M12xP1.75 | M14xP2.0 | M16xP2.0 | M16xP2.0 | M16xP2.0 | M20x P2.0
C1 109 134 160 189 207 224 249 281 344 378
C2 44 54 66 78 86 93.5 106 121 149 166
c3 65 80 94 111 121 130.5 143 160 195 212
c4 2 2 2 2 2 2 2 2 3 3
C5 60 80 100 120 138 146 166 196 250 280
C e 6 8 8 12 14 16 18 20 22 25
c7 22.8 28.3 33.3 43.3 51.8 59.3 64.3 74.9 85.4 95.4
c8 20 25 30 40 48 55 60 70 80 90
c9 28 34 44 52 60 73 73 83 100 110
C10 M6 M6 M6 M8 M8 M8 M8 M10 M12 M12
C11 9 14 18 23 27 32 38 42 50 56
Weight +3% (kg) 3.2 5.0 9.2 14.8 28.5 54.8
& LUIMING




EIRR TS Z 5L e ¥R B3R HIGH PRECISION HYPOID GEAR REDUCER

HY-FM series

RATIO : 5.10.15 ( EEE¢ 1-Stage)

ATVERE - B2 RBWE

Input Flange - Double Clamping

B10

B4

Front & Back

| #a1
(140#11 £)

BA1 D E

¢32 | 10 | 353
¢35 | 10 | 38.3
$38 | 10 | 41.3
$42 | 12 | 453
$48 | 14 | 51.8
$55 | 16 | 59.3

unit: mm

A1 81114 14-19-24 | 19-22-24 | 24-28-32 | 3235-38 | 32-35-38 | 42-48-55 [42-48-55-60|48-55-6065
70-80- 114.3-180~ | 114.3:180~ | 114.3-180"
A2 | 304050 | 506070 |50-70-80-95/ o oo | 95-110-130|110130-180| 110,130,180 | " =0 o Ee egen
N A3 |M3:M4-M5|M4-M5-M6| M5-M6 | M5 M6:M8 |M6- M8 M10|M8-M10M12|M8-M10 -M12| M12:M16 M12-M16 M12M16
70-90- 90-100- 200-215- 200-215- 200-215-
A4 | 46-60°63 | 707590 | o070 115-145 | 115°145:165|145165-200| 145165200 0 %00 R0 e
182200+ 182200 222220~
A5 46°55 | 647080 | 80:92:110 | 92110130 |122-130150| 146150190 146150190 | 2 < 250 -265 950 - 965
A6 | M3xP.05 | M5xP0.8 | M5xP0.8 | M6xP1.0 | M8xP1.25 | MI0xP15 | M1I0OxP1.5 | MIOxP1.5 | M10xP1.5 &”1120)(";1'755
202-221- 515.5+
B1 135 172 2065 241 286 333 358 417419 470,473 18,5545
165.5+
B2 45 57 62-81:66.5 71 94 118 118 153155 170173 e
B3 90 115 140 170 192 215 240 264 300 350
B4 78 98 118 144 164 182 206 224 260 300
B5 39 49 59 72 82 91 103 112 130 150
112115~ 1125
B6 28 38 49-68.5-54 58 69.5 81.5 81.5 1451165 | 50 oo e
B7 5 6 9.23.5 8 10 10 10 11.5-13.5 1215 12.5-15.542
B8 84 103 128 148 173 200 227 254 295 328
B9 6.8 9 11 11 13.5 15 17.5 17.5 17.5 22
B10 44 54 66 80 95 104 120 140 180 200
B11 22 27 33 40 475 52 60 70 20 100
B12 | M6xP1.0 | M8xP1.25 | M10xP1.5 | M12xP1.75 | M12xP1.75 | M14xP2.0 | M16xP2.0 | M16xP2.0 | M16xP2.0 | M20xP2.0
C1 130 160 188 222 242 261 286 320 390 424
c2 65 80 94 111 121 130.5 143 160 195 212
C3 60 80 100 120 138 146 166 196 250 280
C4 - - - - 14 16 18 20 22 25
@0 C5 - - - - 51.8 59.3 64.3 74.9 85.4 95.4
C6 20 25 30 40 48 55 60 70 80 90
c7 28 34 44 52 60 73 73 83 100 110
c8 M6 M6 M6 M8 M8 M8 VE] M10 M12 M12
C9 9 14 18 23 27 32 38 42 50 56
Weight +3% (kg) 48 8.2 15.2 19.5 307 4.5 59.7




HY-RM series

RATIO : 25.50.75.100.150 ( #E% 2-Stage)

BECITEREK - E2RRWE

Fitted with Planetary Reducer - Double Clamping

B10

B5

m--n-------

8¥B9
Front & Back

8-B12
Up & Down
B1
0B3 B2
B4 B6
B5 B7
1
Il L
s |
ATk A T 2
L | T A
LLA 15 g
R |

BA1
(1404 1)

pA1| D | E
928 | 8 |313
$32| 10 | 353
$35 | 10 |383
$38 | 10 | 413
942 | 12 | 453
948 | 14 | 51.8
955 | 16 | 59.3

unit: mm

A1 | 8:9:11-14 [11-14:16:19| (14)-16-19 22 24 32 35 28323538 | 28323538 42 48 55 354385‘;2 3f8 4§5
A2 | 304050 | 50-60-70 | 97O~ | D83 | 95.110.130 | 110130180 | 110-130-180 | "Hi 780" | 1118 780" | 1148 1801

AY A3 M3 MAMS| MA-MS-MG| M5-MG | M5-M6-M8 | MG:MS:M10 | M8-M10-M12|M8-MIO-M12| Mi2-M16 | Mi2-M16 | M12-Mi6
A4 | 466063 | 70-75-90 178(; ??1‘5 91‘1;?25 115145165 | 145165200 | 145165200 zggg?;g(; 22"25?3155 zggs;?ejgd
A5 46-55 | 64-70-80 | 80-92-110 |92+110+130|122-130~150| 146150190 | 146150190 12520?355 12520?325 222520~222g5
A6 | M3xP05 | M5xP0.8 | M5xP0.8 | M6xP1.0 | M8xP1.25 | M10xP1.5 | M10xP1.5 | MIOxP1.5 | MIOxP15 | M10xP1.5
B1 157 201-209 | (224.5)-237 287 340360 405 430 508 510 572 642.5
B2 67 86-94 | (84.5)-97 117 148168 190 190 244246 272 292.5
B3 20 115 140 170 192 215 240 264 300 350
B4 78 98 118 144 164 182 206 224 260 300
B5 39 49 59 72 82 91 103 112 130 150
B6 26 33.5-41.5 | (33.5):45.5 59 6783 84.5 84.5 1145-116.5 | 1145 117.5
B7 5 6 (6)~10 9 1011 10 10 11.5-13.5 15 12.5
B8 84 103 128 148 173 200 227 254 295 328
B9 6.8 9 1 1 13.5 15 175 175 175 22
B10 44 54 66 80 95 104 120 140 180 200
B11 22 27 33 40 47.5 52 60 70 90 100
B12 | M6xP1.0 | M8xP1.25 | MIOxP1.5 | M12xP1.75 | M12xP1.75 | M14xP2.0 | M16xP2.0 | M16xP2.0 | M16xP2.0 | M20x P2.0
C1 130 160 188 222 242 261 286 320 390 424
c2 65 80 94 111 121 130.5 143 160 195 212
C3 60 80 100 120 138 146 166 196 250 280
C4 - - - - 14 16 18 20 22 25

(&} C5 - - - - 51.8 59.3 64.3 74.9 85.4 95.4
C6 20 25 30 40 48 55 60 70 80 20
C7 28 34 44 52 60 73 73 83 100 110
c8 M6 M6 M6 M8 M8 M8 v8 M10 M12 M12
C9 9 14 18 23 27 32 38 42 50 56

Weight +3% (kg) 3.2 57 9.9 16.4 257 39.4 50.7 74.4

& LIMING



EIRR TS Z 5L e ¥R B3R HIGH PRECISION HYPOID GEAR REDUCER

HY-DM series

RATIO : 5.10.15 ( EEE¢ 1-Stage)

BANELD - EERRHE
Single Input Shaft - Double Clamping

, @B10 h7 ,
B12
B13
| 8-B14
‘ZIED=(I!J3=¢EEII‘ Up & Down
\‘ = ‘\
[ | ] B2, B1
=T —
N o I R _ir_ _i_ - o
o : | | ‘ﬂ:ﬂ‘_ <
- A4
CIL N B AT
%{ QJJ;H}%
i ] A-A SECTION
#B10 h7
B3
OB5 B4 o1

B8

B9

‘ A

C ! |
@ A E‘
8B11

Front & Back '
— C3 .

unit: mm

T s | e [ o | | 0 | w0 [ w0 | | m

14 19 24 28 32 32 38 40 55 60

Al
A2 5 6 8 8 10 10 12 12 16 18
A3 16 21.5 27 31 35 35 41 43 59 64
A4 M5 x P0.8 M6xP1.0 | M8xP1.25 | MIOxP1.5 | MIOxP15 | MI0OxP15 | M12xP1.75 | M12xP1.75 | M16 xP2.0 | M16 x P2.0
B1 2.5 2.5 2.5 2.5 5 5 5 5 5 5
B2 20 25 35 35 40 40 50 50 70 90
B3 147 181 218 260 293 315 367 403 483 567
B4 57 66 78 90 101 100 127 139 183 217
B5 90 115 140 170 192 215 240 264 300 350
B6 78 98 118 144 164 182 206 224 260 300
B7 39 49 59 72 82 91 103 112 130 150
B8 27 32 42.5 42.5 52.5 51.5 63 63.5 83 105
B9 25 30 40 40 50 50 60 60 80 100
B10 84 103 128 148 173 200 227 254 295 328
B11 6.8 9 1 1" 13.5 15 17.5 17.5 17.5 22
B12 44 54 66 80 95 104 120 140 180 200
B13 22 27 33 40 47.5 52 60 70 90 100
B14 M6 x P1.0 M8 xP1.25 | M10xP1.5 | M12xP1.75 | M12xP1.75 | M14xP2.0 | M16xP2.0 | M16xP2.0 | M16xP2.0 | M20 x P2.0
C1 130 160 188 222 242 261 286 320 390 424
Cc2 65 80 94 11 121 130.5 143 160 195 212
C3 60 80 100 120 138 146 166 196 250 280
C4 = = = = 14 16 18 20 22 25
C C5 - - - - 51.8 59.3 64.3 74.9 85.4 95.4
C6 20 25 30 40 48 55 60 70 80 90
Cc7 28 34 44 52 60 73 73 83 100 110
Cc8 M6 M6 M6 M8 M8 M8 M8 M10 M12 M12
C9 9 14 18 23 27 32 38 42 50 56
Weight +3% (kg) 54 9.9 15.9 29.3 56.0




HY-FS series

RATIO : 5.10.15 ( ¢ 1-Stage)

ATERE -

St AL

Input Flange - Single Output Shaft

8-
Up & Down

B12

(140#511)

PA1

D E

®32

10 [ 353

#35

10 |38.3

?38

10 [41.3

42

12 [ 453

248

14 518

@55

16 | 59.3

8-9B9
_Front & Back

2,
O
745
D4
B-B SECTION

R &
Shaft Direction

unit: mm

E@--n---
Al | 81114 141924 | 19-22-24 | 24-28-32 | 3235-38 | 32-35-38 | 424855 | 42-48-55-60 | 48-55-60-65
A2 | 30-40-50 | 50-60-70 | 5070~ | T0°80 " l95.110-130| 110130180 (110130180 TS 180" | 11EH°780% | 114 S-780¢

IN A3 |M3-M4-M5M4-M5-M6| M5-M6 |MS5-M6-M8|M6-M8-M10|M8-M10-M12|M8-M10-M12| M12-M16 | M12-M16 M12- M16
A4 | 466063 | 7075-90 | 1099 | 90 199" |415.145 165 145165 200|145 165-200) 00 25 | 200210 SO
A5 4655 | 64-70-80 |80-92-110(92-110130 1221‘5130‘ 146150190 146~ 150 190 1352(;?225‘ 12526?325 22252022225
A6 | M3xP05 | M5xPO0.8 | M5xPO.8 | M6xP1.0 | M8xP1.25 | M10XP15 | M10xP15 | M10xP15 | MioxP1s | MIOXPLS
B1 135 72 |22 220 1 am 286 333 358 417-419 470-473  |515.5-518.5-545
B2 45 57  |62-81-665 71 94 118 118 153155 170173 |165.5-168.5+195
B3 90 115 140 170 192 215 240 264 300 350
B4 78 98 118 144 164 182 206 224 260 300
B5 39 49 59 72 82 91 103 112 130 150
B6 28 38  |49-685-54| 58 69.5 815 815 | 114.5-116.5 |112+115120123|112.5 - 115.5 - 142
B7 5 6 9-235 8 10 10 10 115-13.5 1215 12.5-15.5 42
B8 84 103 128 148 173 200 227 254 205 328
B9 6.8 9 11 11 13.5 15 175 175 175 22
B10 44 54 66 80 95 104 120 140 180 200
B11 22 27 33 40 475 52 60 70 90 100
B12 | M6xP1.0 | M8xP1.25 | M10x P1.5 |M12xP1.75 M12x P1.75 | M14xP2.0 | M16xP20 | M16xP20 | M16xP2.0 | M20xP2.0
o 121 146 180 214 245 275 310 350 415 459
C2 42 52 64 76 84 91.5 103 118 146 163
c3 79 94 120 138 161 183.5 206 231 269 296
c4 2 2 2 2 2 2 3 3
@ C5 5 5 5 5 5 5 10 10
cé 25 30 40 50 65 80 90 100 110 110
c7 35 40 50 60 75 90 100 110 120 130
cs 9 14 18 23 27 32 38 42 50 56
c9 60 80 100 120 138 146 166 196 250 280
D1 20 24 32 40 48 55 60 70 80 90
D2 6 8 10 12 14 16 18 20 22 25
D3 225 27 35 43 51.5 59 64 74.5 85 95
D4 | M6xP10 | M8xP125| MI0XP1.5 | MI0XxP1.5 | M12xP175 | M16xP2.0 | M20xP2.5 | M20xP2.5 | M20xP25 | M20xP2.5
Weight £3% (k)| 2.6 45 9.0 14.9 222 323 65.5

& LIMING




EIRR TS Z 5L e ¥R B3R HIGH PRECISION HYPOID GEAR REDUCER

HY-RS series

RATIO : 25.50.75.100.150 ( 2E% 2-Stage)

TAECATE RN - B 080

Fitted with Planetary Reducer - Single Output Shaft

?B8 h7
B10

B11

B4

_Front & Back

(140#5 1)

¢A1| D E

$28 | 8 |313

$32 35.3

#35 38.3

38 41.3

942 453

948 51.8

955 59.3

207
D4

B-B SECTION

5

R &

c1

Cc3

unit: mm

Q@--n----
grovtraa | M Laayaeiag | D10 |22 247280 1og.30.35.38)28-32.35 38| 00,50 | %> 42 5560 65
A2 | 30-40-50 | 50-60-70 | SorTor | 7089 | 95110130 |110-130-180|110-130-180| 'heo 180" | TS 180T | 1148 180¢
N A3 |M3-M4-M5|M4-M5-M6| M5-M6 |M5-M6-M8 |M6-M8-M10 |M8-M10-M12|M8-M10-M12| M12-M16 | M12-M16 | Mi2-M16
A4 | 46-6063 | 70-75-90 | 1090 | 90190 1415145165 | 145165200 145165200 20020 | 290210 | 200 215
A5 4655 | 64-7080 | 8092110 |92+ 110130 122+130-150| 146150 190|146 150 190| '52 200" | "82 200 | 222 220
A6 | M3xPO05 | M5xP08 | M5xP0.8 | M6xP10 | M8xP1.25 | MIOxP15 | MIOxP15 | MIOxP15 | MioxP1s | OXP1S
B1 157 201-209 |(224.5)-237| 287 340360 405 430 508510 572 642.5
B2 67 86-94 | (84.5)-97 17 148168 190 190 244246 272 2925
B3 90 115 140 170 192 215 240 264 300 350
B4 78 98 118 144 164 182 206 224 260 300
B5 39 49 59 72 82 91 103 112 130 150
B6 26 33.5-415 | (33.5)-455| 59 67-83 84.5 845  |1145-1165| 112-115 |112.5-115.5-142
B7 5 6 (6)-10 9 1011 10 10 15135 | 1215 | 125-15.5-42
B8 84 103 128 148 173 200 227 254 295 328
B9 6.8 9 11 11 13.5 15 175 175 175 22
B10 44 54 66 80 95 104 120 140 180 200
B11 22 27 33 40 475 52 60 70 90 100
B12 | M6xP10 | M8xP1.25 | M10x P15 | M12xP1.75 | M12xP1.75 | M14xP2.0 | M16xP2.0 | M16xP2.0 | M16xP2.0 | M20xP2.0
c1 121 146 180 214 245 275 310 350 415 459
C2 42 52 64 76 84 91.5 103 118 146 163
c3 79 94 120 138 161 183.5 206 231 269 296
c4 2 2 2 2 2 2 2 2 3 3
C C5 5 5 5 5 5 5 10 10
c6 25 30 40 50 65 80 90 100 110 110
c7 35 40 50 60 75 90 100 110 120 130
cs 9 14 18 23 27 32 38 42 50 56
co 60 80 100 120 138 146 166 196 250 280
D1 20 2 32 40 48 55 60 70 80 90
D2 6 8 10 12 14 16 18 20 22 25
D3 225 27 35 43 51.5 59 64 74.5 85 95
D4 | M6xP1.0 | M8xP1.25 | M10xP1.5 | MIOxP1.5 | M12xP1.75 | M16xP2.0 | M20xP2.5 | M20x P2.5 | M20xP2.5 | M20 x P2.5
Weight £3% (k)| 2.9 55 9.5 16.2 277 410 54.2 82.2




HY-DS series

RATIO : 5.10.15 ( ¢ 1-Stage)

EBAEL - EH O
Single Input Shaft - Single Output Shaft

#B10 h7

B12 8-B14
B13

._.‘ Up & Down

| B2, B1
‘ — A2
[52]
<
%ﬂf%w

A-A SECTION

R @
Shaft Direction

0

B4 c1
B8 c3 2
B9 L |
F D2 [ % % ]
5 = B —~ ’ @% |
2 : SF N\ %
Zor/} >
D4 Z B~
sost1 B-B SECTION LH H

Front & Back .
\—J unit: mm

C9
L5 s [ ] w | s | [ w | o | |

A1 14 19 24 28 32 32 38 40 55 60

A A2 5 6 8 8 10 10 12 12 16 18
A3 16 21.5 27 31 35 35 41 43 59 64
A4 M5xP0.8 | M6xP1.0 | M8xP1.25 | MI0OxP1.5 | MI0xP1.5 | MIOxP15 | M12xP1.75 | M12xP1.75 | M16 xP2.0 | M16x P2.0
B1 25 2.5 2.5 25 5 5 5 5 5 5
B2 20 25 35 35 40 40 50 50 70 90
B3 147 180.5 218 260 293 315 367 402.5 483 567
B4 57 65.5 78 90 101 100 127 138.5 183 217
B5 90 15 140 170 192 215 240 264 300 350
B6 78 98 118 144 164 182 206 224 260 300
B7 39 49 59 72 82 91 103 12 130 150
B8 27 32 425 425 52.5 51.5 63 63.5 83 105
B9 25 30 40 40 50 50 60 60 80 100
B10 84 103 128 148 173 200 227 254 295 328
B11 6.8 9 1 1 13.5 15 175 175 17.5 22
B12 44 54 66 80 95 104 120 140 180 200
B13 22 27 33 40 475 52 60 70 90 100
B14 M6xP1.0 | M8xP1.25 | MI0xP1.5 | M12xP1.75 | M12xP1.75 | M14xP2.0 | M16xP2.0 | M16xP2.0 | M16xP2.0 | M20x P2.0
C1 121 146 180 214 245 275 310 350 415 459
Cc2 42 52 64 76 84 91.5 103 18 146 163
c3 79 94 120 138 161 183.5 206 231 269 296
Cc4 2 2 2 2 2 2 2 2 3 3

(& C5 5 5 5 5 5 5 5 5 10 10
C6 25 30 40 50 65 80 90 100 110 110
(074 35 40 50 60 75 90 100 110 120 130
c8 9 14 18 23 27 32 38 42 50 56
Cc9 60 80 100 120 138 146 166 196 250 280
D1 20 24 32 40 48 55 60 70 80 90
D2 6 8 10 12 14 16 18 20 22 25
D3 225 27 35 43 51.5 59 64 74.5 85 95
D4 M6 xP1.0 | M8xP1.25 | MIOxP15 | MI0xP1.5 | MI2xP1.75 | M16xP2.0 | M20xP2.5 | M20xP2.5 | M20xP2.5 | M20 x P2.5

Weight +3% (kg) 3.1 5.1 15.9 33.2 64.8

& LIMING



EIRR TS Z 5L e ¥R B3R HIGH PRECISION HYPOID GEAR REDUCER

HY-FV series

RATIO : 5.10.15 ( EEE¢ 1-Stage)

ATVERE - EH O

Input Flange - Double Output Shaft

B10

8-812
Up & Down

B11

S

~,
)
a

D4

B-B SECTION

B7

2l

A2 H8

80B9

_Front & Back

D2

2,
0
=

(140#LE)

9A1

D E

$32

35.3

#35

383

$38

41.3

942

453

48

51.8

855

59.3

unit: mm

&@--n----
Al | 81114 14-19-24 | 19-22-24 | 24-28-32 | 32-35-38 | 323538 | 424855 |42-48-55-60|48-55-60-65
A2 | 30:40-50 | 506070 5567;’5‘ g%‘ﬁ% 95110130 110130180 110130180 11;3;3:122%‘ 11;53:12%%\ 11243;3212%%\

PN A3 [M3-M4-M5M4-M5-M6| M5-M6 | M5-M6-M8 |M6-M8-M10 M8 M10-M12|M8-M10-M12| M12-M16 | M12-M16 | M12-M16
A4 | 46-60-63| 70-75-90 | 1099 | 90190 1415145165 145-165-200| 145165200 2025 | D025 | 209215
A5 | 4655 | 64-70-80 | 80-92+110 | 92110130 |122-130-150| 146150 190|146 150190 ‘oo 200" | 182/290" | 222 220
A6 | M3xP05 | M5xP0.8 | M5xPO8 | M6xP10 | M8xP1.25 | MIOXP15 | MIOXP15 | MIOXP15 | Mi0xPis | SHOXPLS
B1 135 172 | 202 221 241 286 333 358 417419 410473 | 125
B2 45 57 |62-81-665 7 94 118 118 153.155 | 170173 | J%0
B3 90 115 140 170 192 215 240 264 300 350
B4 78 98 118 144 164 182 206 224 260 300
B5 39 49 59 72 82 o1 103 112 130 150
B6 28 38  |49.68.5-54 58 69.5 81.5 815 | masnes | oS MRS
B7 5 6 9-235 8 10 10 10 115-13.5 1215 |12.5-15.5-42
B8 84 103 128 148 173 200 227 254 295 328
B9 6.8 9 1 1 13.5 15 175 175 175 22
B10 44 54 66 80 95 104 120 140 180 200
B11 22 27 33 40 475 52 60 70 90 100
B12 | M6xP1.0 |M8xP1.25| MIOxP15 | M12xP1.75 | M12xP1.75 | M14xP2.0 | MI6xP2.0 | M16xP2.0 | M16xP2.0 | M20xP2.0
c1 158 188 232 276 322 367 412 462 538 502
Cc2 79 94 116 138 161 183.5 206 231 269 296
c3 60 80 100 120 138 146 166 196 250 280
c4 2 2 2 2 2 2 2 2 3 3

C e 5 5 5 5 5 5 5 5 10 10
cé 25 30 40 50 65 80 90 100 110 110
c7 35 40 50 60 75 90 100 110 120 130
cs 9 14 18 23 27 32 38 42 50 56
D1 20 24 32 40 48 55 60 70 80 90
D2 6 8 10 12 14 16 18 20 22 25
D3 225 27 35 43 51.5 59 64 74.5 85 95
D4 | M6xP10 |M8xP1.25| MIOXxP1.5 | MI0xP1.5 | M12xP1.75 | M16xP2.0 | M20xP25 | M20xP25 | M20xP2.5 | M20xP2.5

Weight £3% (kg) 35.1 47.3 707




HY-RV series

RATIO : 25.50.75.100.150 ( #E% 2-Stage)

FBECITEmMER - EH 080

Fitted with Planetary Reducer - Double Output Shaft

®B8 h7

N i
- BA1
[=]
o, (140#5LE)
5>

D4 ¢A1| D E
B-B SECTION @28 | 8 |313
232 | 10 | 353
935 | 10 | 383
938 | 10 |413
942 | 12 | 453
248 | 14 | 518
955 | 16 |59.3

B2

B7

ArE
J— (I
IH” p

T2

c8

84B9
Front & Back

I LLJ unit: mm
NEEEAEIEIEEIEIEIEIEIREN
Al | 891114 1114216 19| (14)- 1619 | 150|220 1og.32.35.38128-32-35 38| 50,00 | %42 556065
A2 | 30-40-50 | 50-60-70 | 070 | 70°80 " 195.110-130| 110130180 (110130 1g0| "3 180 | 1187180 1 1148 7180¢
W A3 | M3-M4-M5|M4-M5-M6| M5-M6 |M5-M6-M8 M6-M8-M10|M8-M10-M12|M8 -M10-M12| M12-M16 | M12-M16 |  M12-M16
A4 | 466063 | 70-75-90 | 10°90° | 90190 1415.145165 145 165-200| 145165200 200 20 | 200°25 | 200 210
A5 4655 | 64-70-80 | 80-92+110 |92-110-130 1221‘5180‘ 146150190146~ 150~ 190 135(;?325‘ 1556?225‘ 22252022225
A6 | M3xP05 | M5xP0.8 | M5xP0.8 | M6xP10 | M8xP1.25 | MIOxP15 | MIOXP15 | MI0xP15 | Mi0xP1s | MIOXPILS
B1 157 201-209 | (224.5)-237| 287 340360 405 430 508510 572 642.5
B2 67 86-94 | (84.5)-97 17 148168 190 190 244246 272 2025
B3 90 115 140 170 192 215 240 264 300 350
B4 78 98 118 144 164 182 206 224 260 300
B5 39 49 59 72 82 91 103 112 130 150
B6 26 335-41.5 | (33.5)°455| 59 67-83 84.5 845  |1145-116.5| 112115 |112.5-115.5-142
B7 5 6 (6)-10 9 1011 10 10 15135 | 1215 | 12.5-15.5-42
B8 84 103 128 148 173 200 227 254 205 328
B9 6.8 9 11 11 13.5 15 175 175 175 22
B10 44 54 66 80 95 104 120 140 180 200
B11 22 27 33 40 475 52 60 70 90 100
B12 | M6xP1.0 | M8xP1.25 | MIOxP1.5 | M12x P1.75 | M2xP1.75 | M14xP2.0 | M16xP2.0 | M16x P2.0 | M16xP2.0 | M20 x P2.0
o 158 188 232 276 322 367 42 462 538 502
c2 79 94 116 138 161 183.5 206 231 269 296
c3 60 80 100 120 138 146 166 196 250 280
c4 2 2 2 2 2 2 5 3
C s 5 5 5 5 5 5 10 10
cé 25 30 40 50 65 80 90 100 110 110
c7 35 40 50 60 75 90 100 110 120 130
cs 9 14 18 23 27 32 38 42 50 56
D1 20 2 32 40 48 55 60 70 80 90
D2 6 8 10 12 14 16 18 20 22 25
D3 225 27 35 43 51.5 59 64 74.5 85 95
D4 | M6xP1.0 | M8xP1.25 | MIOXxP1.5 | MIOxP1.5 | M12xP1.75 | M16xP2.0 | M20xP2.5 | M20xP2.5 | M20 x P2.5 |  M20 x P2.5
Weight £3% (kg)| 3.0 5.6 9.8 18.0 28.5 426 55.2 84.0

& LIMING




EIRR TS Z 5L e ¥R B3R HIGH PRECISION HYPOID GEAR REDUCER

HY-DV series

RATIO : 5.10.15 ( EEE¢ 1-Stage)

BANE - EHAEN
Single Input Shaft - Double Output Shaft

#B10 h7
B12

B13 S
=
! [~ 8-B14
‘ o Up & Down
! B2, B D2
A2 *ﬂ‘*
[} (5]
< [=]
2
2 AN Ad S
D4
£cA SECTION. B-B SECTION
B4 c1
B8 c2
c4 c4

C8
¥
7

84B11 *:J.l-[-U.:*

Front & Back ‘ s .
— unit: mm

S s [ [0 [ [ w [ | w | w0 | w0 |

A1 14 19 24 28 32 32 38 40 55 60

A A2 5 6 8 8 10 10 12 12 16 18
A3 16 21.5 27 31 35 35 41 43 59 64
A4 M5xP0.8 | M6xP1.0 | M8xP125 | M1I0xP15 | MIOxP15 | MIOXxP15 | M12xP1.75 | M12xP1.75 | M16 xP2.0 | M16 x P2.0
B1 2.5 2.5 25 2.5 5 5 5 5 5 5
B2 20 25 35 35 40 40 50 50 70 90
B3 147 181 218 260 293 315 367 403 483 567
B4 57 66 78 90 101 100 127 139 183 217
B5 90 15 140 170 192 215 240 264 300 350
B6 78 98 18 144 164 182 206 224 260 300
B7 39 49 59 72 82 91 103 112 130 150
B8 27 32 425 425 52.5 51.5 63 63.5 83 105
B9 25 30 40 40 50 50 60 60 80 100
B10 84 103 128 148 173 200 227 254 295 328
B11 6.8 9 1 1 13.5 15 17.5 175 17.5 22
B12 44 54 66 80 95 104 120 140 180 200
B13 22 27 33 40 475 52 60 70 90 100
B14 M6xP1.0 | M8xP1.25 | MIOxP1.5 | M12xP1.75 | M12xP1.75 | M14xP2.0 | M16xP2.0 | M16xP2.0 | M16xP2.0 | M20 x P2.0
C1 158 188 232 276 322 367 412 462 538 592
c2 79 94 116 138 161 183.5 206 231 269 296
C3 60 80 100 120 138 146 166 196 250 280
C4 2 2 2 2 2 2 2 2 3 3

Y C5 5 5 5 5 5 5 5 5 10 10
C6 25 30 40 50 65 80 90 100 110 110
c7 35 40 50 60 75 90 100 110 120 130
c8 9 14 18 23 27 32 38 42 50 56
D1 20 24 32 40 48 55 60 70 80 90
D2 6 8 10 12 14 16 18 20 22 25
D3 225 27 35 43 51.5 59 64 74.5 85 95
D4 M6xP1.0 | M8xP1.25 | MI0xP15 | MIOxP15 | M12xP1.75 | M16xP2.0 | M20xP2.5 | M20xP2.5 | M20x P2.5 | M20 x P2.5

Weight +3% (kg) 3.2 5.2 9.7 16.4 34.4 67.9




HY-FP series

RATIO : 5.10.15 ( ¢ 1-Stage)
ATTER - 12495

Input Flange - Ball Screw

#B8 h7 5
B11B10 8812
Up & Down
R P
[ i | 8 ?A1
™ | (!
3 -
@ - 4 (140#5L0)
o + | fLroor il pA1| D | E
- | -1 ° #32 | 10 | 353
] Nes NS °© 935 | 10 | 383
| | —— ] ¢38 | 10 | 413
‘ 042 | 12 | 453
. B8 h7 948 | 14 | 518
[&]
D VIEW $55 | 16 | 59.3

B5

B4

_Front & Back

unit: mm
S I I N N I
A1 14:19-24 19-22-24 24-28-32 32-35-38 32-35-38 42-48-55
A2 50-60-70 50-70-80-95 70-80-95-110 95-110~130 110~130-180 110~130~180 114.3-180~230~250
A A3 M4-~M5 - M6 M5~ M6 M5~ M6~ M8 M6-M8-M10 M8-M10-M12 M8-M10-M12 M12~M16
A4 70-75~90 70-90-100-115 90-100-115-145 115-145-165 145-165-200 145-165-200 200-215-265~300
A5 64-70-~80 80-92-110 92-110~130 122-130~150 146150190 146-150~190 182-200-250 265
A6 M5 x P0.8 M5 x P0.8 M6 x P1.0 M8 x P1.25 M10 x P1.5 M10 x P1.5 M10 x P1.5
B1 172 202-221-206.5 241 286 333 358 417~419
B2 57 62-81-66.5 71 94 118 118 153155
B3 115 140 170 192 215 240 264
B4 98 118 144 164 182 206 224
B5 49 59 72 82 91 103 112
B6 38 49-68.5-54 58 69.5 81.5 81.5 114.5-116.5
B7 6 9-23.5 8 10 10 10 11.5-13.5
B8 103 128 148 173 200 227 254
B9 9 1 11 13.5 15 17.5 17.5
B10 54 66 80 95 104 120 140
B11 27 33 40 47.5 52 60 70
B12 M8 x P1.25 M10 x P1.5 M12 x P1.75 M12 x P1.75 M14 x P2.0 M16 x P2.0 M16 x P2.0
C1 125 140 177 193 205 230 260
C2 58 66 78.5 87 94 107 123
C3 67 74 98.5 106 111 123 137
C4 3.25 2 2.5 2 25 25 3
C C5 50 58 72 72 82 92 117
C6 75 82 105 121 123 138 143
c7 14 18 23 27 32 38 42
Cc8 80 100 120 138 146 166 196
D1 54.7 64.7 89.7 89.7 99.7 1177 129.7
D2 22 30 38 40 44 54 65
D3 34 40 58 58 64 75 90
D4 M5 x P0.8 M5 x P0.8 M10 x P1.5 M10 x P1.5 M10 x P1.5 M12 x P1.75 M12 x P1.75
D5 45 51 77 77 84 97 112
Weight +3% (kg) 4.5 8.2 13.3 20.0 29.1 56.3

& LIMING



EIRR TS Z 5L e ¥R B3R HIGH PRECISION HYPOID GEAR REDUCER

HY-RP series

RATIO : 25.50.75.100.150 ( 2E% 2-Stage)

BETEREK - B8
Fitted with Planetary Reducer - Ball Screw

P B8 h7
B10 8-812
B11 Up & Down
il
[T 1]

ol
!
I
i

(140#111)

gA1| D E

$28 | 8 |313
932 | 10 | 353
¢35 | 10 |38.3
$38 | 10 | 413
942 | 12 | 453
$48 | 14 | 518
$55 | 16 | 59.3

[
c6

!
E
i

c4

B2

B6

%R As
A EFEI—L 7
- | il =T a
s § =g
== 5

B5

Cc7

B4
|

i

8-8B9

9
Front & Back ‘
C .
unit: mm

8
S I N T A T T T
A1 11-14-16~19 (14)~16~19 16-19-22-24 22-24-28-32-35 | 28-32-35-38 28-32-35-38 35-38-42-4855
A2 506070 50:70-80-95 708095110 95:110~130 110130180 110-130-180 | 114.3180-230-250
A A3 M4 M5 - M6 M5 - M6 M5~ M6 - M8 M6 - M8~ M10 M8-M10~M12 | M8-M10-M12 M12~M16
A4 707590 70-90-100+115 | 90-100-115-145 115145165 145165200 145165200 200215265300
A5 647080 8092110 92-110~130 122+130~150 146150190 146150190 182200250265
A6 M5 x P0.8 M5 x P0.8 M6 x P1.0 M8 x P1.25 M10 x P1.5 M10 x P1.5 M10 x P1.5
B1 201-209 (224.5)~237 287 340360 405 430 508510
B2 8694 (84.5)~97 17 148168 190 190 244246
B3 115 140 170 192 215 240 264
B4 98 118 144 164 182 206 224
B5 49 59 72 82 91 103 112
B6 33.5-41.5 (33.5)~45.5 59 67-83 84.5 84.5 114.5-116.5
B7 6 (6)-10 9 101 10 10 11.5-13.5
B8 103 128 148 173 200 227 254
B9 9 1" 1 13.5 15 175 175
B10 54 66 80 95 104 120 140
B11 27 33 40 475 52 60 70
B12 M8 x P1.25 M10 x P1.5 M12 x P1.75 M12 x P1.75 M14 x P2.0 M16 x P2.0 M16 x P2.0
C1 125 140 177 193 205 230 260
Cc2 58 66 78.5 87 94 107 123
Cc3 67 74 98.5 106 1M1 123 137
C4 3.25 2 2.5 2 25 25 3
C C5 50 58 72 72 82 92 117
C6 75 82 105 121 123 138 143
c7 14 18 23 27 32 38 42
c8 80 100 120 138 146 166 196
D1 54.7 64.7 89.7 89.7 99.7 M7.7 129.7
D2 22 30 38 40 44 54 65
D3 34 40 58 58 64 75 90
D4 M5 x P0.8 M5 x P0.8 M10 x P1.5 M10 x P1.5 M10 x P1.5 M12 x P1.75 M12 x P1.75
D5 45 51 77 77 84 97 112
Weight +3% (kg) 5.4 8.9 15.4 38.0




HY-DP series

RATIO : 5.10.15 ( ¢ 1-Stage)

EANEH

Oy - 12425

Single Input Shaft - Ball Screw

S

C1

C2

®B10 h7
B12 8-B14
B13
Up & Down
}
‘ I
[ | B2, Bl @
© [ o
© S =
— 1 7‘77 =

C6

C4

B4

B7

B6

B8

B9
A

8-¥B11
Front & Back

BA1n7

@
<

A4

A-A SECTION

I I T
19 24 28 32

i
‘ c8

32 38 40

unit: mm

A1
A2 6 8 8 10 10 12 12
A3 215 27 31 35 35 41 43
A4 M6 x P1.0 M8 x P1.25 M10 x P1.5 M10 x P1.5 M10 x P1.5 M12 x P1.75 M12 x P1.75
B1 2.5 2.5 2.5 5 5 5 5
B2 25 35 35 40 40 50 50
B3 181 218 260 293 315 367 403
B4 66 78 90 101 100 127 139
B5 115 140 170 192 215 240 264
B6 98 118 144 164 182 206 224
B7 49 59 72 82 91 103 112
B B8 32 42.5 42.5 52.5 515 63 63.5
B9 30 40 40 50 50 60 60
B10 103 128 148 173 200 227 254
B11 9 1 11 13.5 15 17.5 17.5
B12 54 66 80 95 104 120 140
B13 27 33 40 475 52 60 70
B14 M8 x P1.25 M10 x P1.5 M12 x P1.75 M12 x P1.75 M14 x P2.0 M16 x P2.0 M16 x P2.0
| C1 125 140 177 193 205 230 260
C2 58 66 78.5 87 94 107 123
C3 67 74 98.5 106 1M1 123 137
C4 3.25 2 2.5 2 2.5 25 &
C C5 50 58 72 72 82 92 117
C6 75 82 105 121 123 138 143
c7 14 18 23 27 32 38 42
Cc8 80 100 120 138 146 166 196
D1 54.7 64.7 89.7 89.7 99.7 17.7 129.7
D2 22 30 38 40 44 54 65
D3 34 40 58 58 64 75 90
D4 M5 x P0.8 M5 x P0.8 M10 x P1.5 M10 x P1.5 M10 x P1.5 M12 x P1.75 M12 x P1.75
D5 45 51 77 77 84 97 112
Weight +3% (kg) 8.6

& LIMING



EIRR TS Z 5L e ¥R B3R HIGH PRECISION HYPOID GEAR REDUCER

Reference Information of Ball Screw
RIXBESZER

( |+ —
A\ J) =
O %,

(=)

i

IEARRT

HIge Screw Size
Model of e
Reducer | O.D. | Lead | Dynamic

Basic

55 - - -

75 20 | 6 1,380
90 25 | 8 1,630
115 36 | 10 | 3,600
130 36 | 10 | 3,600
140 40 | 10 | 4670
160 50 | 12 | 5770
190 63 | 12 | 9,320

BERBEERR

Rate

Load (kgf)

2,730

3,650
8,280
8,280
11,830
14,870

29,150

HALQ

R g
Nut

57

63.5
98
98

106
121
136

DA

I

4D 93

AR
Flange

12

12
18
18
18
22
22

45

51

77
77
84
97
112

(=)
FIT

12

15
20
20
20
20
20

1B A5 AL

Screw Bolt

5.5

5.5
1
1
1
14
14

9.5

9.5
17.5
17.5
17.5
20

20

5.5

5.5
1"
1
1
13
13

AL

Oil Hole

*=o —+ 4=
BRE psl Ll al T wls | x| vy]|z
Static

M6 x P1

M8 x P1
M8 x P1
M8 x P1
M8 x P1
1/8"PT
1/8"PT

<1500

<1500
<1500
<1500
<1500
<1500
<1500




Flange (B)
e (B)

P T T T T T
- 25 30 40 45 50 55 60

A

B 102 128 148 168 198 228 248

C 15 16 20 23 24 23 27

D M6 x P1.0 M8 xP1.25 | M8xP1.25 | M1I0xP1.5 | MI0OxP1.5 | MI0xP15 | M12x P1.25
E 80 100 120 140 160 180 200

& LIMING



EIRR TS Z 5L e ¥R B3R HIGH PRECISION HYPOID GEAR REDUCER

HK series

/ Indication of Model Numbers

[=]
*AE %E ;_—:Ft'] Tl u
R T Fighr HAER whEA BRER
Type Model Qutput Bearing Ratio Backlash Class
HK 64 B : REREMH 5 PO<3
90 Ball Bearing 10 P1<6
110 15 P2<9
140 T RSB
200 Taper Bearing




Characteristic of HK Series

HK 25 EZmFit

ES ERLIE 1-Stage

#11% Model No. T

XB7EH 15 / Rated Output Torque
(Nominal output torque)

IREE
EEEIEIEIER
5 30 70 140 260 720

B AHHHE / Max. Output Torque
={=184E / Emergency Stop Torque

REE# AR / Rated Input Speed e

B A AR / Max. Input Speed g

#P& / Backlash J,

RFFLEA | Max. Radial Force
JREK#H7 Ball Bearing

FEEEAE S / Max. Axial Force
YR IR Ball Bearing

B[EFEEA / Max. Radial Force
TREEERE Taper Bearing

REFEME S / Max. Axial Force
YR8l Taper Bearing

f#EFAE0 / Service Life Ly

% | Efficiency 7

AR E / Operating Temperature

bE| & / Lubrication

= 18 / Noise Level

#8185 S Mass Moments of Inertia (kgcm?)

T | Nm 10 25 60 117 220 615
15 20 50 95 180 510
Nm 5~15 1.5 EREAEH LR 1.5 Times of Rated Output Torque
Tnor| Nm 5~15 3 [ZRAEH L 3 Times of Rated Output Torque
5 2,200 1,800 1,500 1,150 700
rpm 10 3,300 2,700 2,200 1,800 1,200
15 4,000 3,300 2,800 2,300 1,600
rpm 5~15 6,000 5,000 4,000 3,000 3,000
PO <3 <3 <3 <3 <3
arcmin P1 <6 <6 <6 <6 <6
P2 <9 <9 <9 <9 <9
Fon N 5~15 1,040 2,366 3,900 5,837 -
Fon N 5~15 520 1183 1950 2919 -
Fog N 5~15 - - - - 14,420
Fon N 5~15 - - - - 7,210
S5 FHAE#E . >30,000 (S1 E4REHE : >15,000 hrs)
hr 5~15 S5 Cycle Operation: >30,000 (S1 Continuous
Operation: >15,000 hrs)
5 > 96%
%
10~15 >93%
°C 5~15 -10°C ~ +90°C
5~15 ZEAUEEH Synthetic Oil
dB 5~15 <66 ‘ <67 ‘ <68 ‘ <69 ‘ <70

ko | oe | oo | o | w0 | 200
5

0.23 0.58 1.41 4.00 13.53
10 0.15 0.38 1.00 2.46 7.38
15 0.13 0.34 0.81 2.07 5.76

& LIMING



EIRR TS Z 5L e ¥R B3R HIGH PRECISION HYPOID GEAR REDUCER

HK series

RATIO : 5.10.15 ( E2E¢ 1-Stage)

A3 h7
A4 h7
A5
A6 H7
A7
A8
A9
A10 H7
B1 H8
B2
B3
B4
B5
B6
B7
B8
B9
C1
Cc2
C3
C4
C5H8

86
31.5
7-M5 x P0.8
5
15
18.5
10
3
9.5
10
5
6
102.5
46-60-63
M3-~M4-M5
1
26
30-40-50
M3 x P0.5
4655
69
112
1/8"PT
9
43.5

B2 B7 -| ‘ 3
B4 B5 \j' \ |l/
T i — 8
| ij N e
= | ‘Lﬁ @ 8
=k ﬁ & ) 7#7#7“ e
I N e |
2 <8 < BEEE
o [ I O O I R
. y
B3 D2
B9
140
168
. 12-6.6
63 80 100
90 110 140
6 9 10
31.5 40 50
118 146 179
50 63 80
7-M6 x P1.0 11-M6 x P1.0 11-M8 x P1.25
6 6 8
30 30 40
30 29 38
12 12 12
6 6 6
10 10 15
12 12 16
7 8 10
6 7 7
152 168 200
90-110-115-145 115-145-165 115-145-165
M5-~M6 - M8 M6~ M8~ M10 M6~ M8-M10
19-24 2432 28-35
59 67 82
70-80-95-110 95-110-130 95-110-130
M6 x P1.0 M8 x P1.25 M8 x P1.25
92-110-130 122-130-150 122-130-150
126.5 149 179
185.5 222.5 268.5
1/8"PT 1/4"PT 1/4"PT
14 18 23
65 77 90

248
125
11-M10 x P1.5
10
55
50
16
8
15
22
12
10
260
145-165-200
M8-M10 - M12
38-42
84.5
110-130+180
M10 x P1.5
146150190
228
352.5
1/4"PT
32
117

Weight +3% (kg)




HF series

Indication of Model Numbers
HIERI SR o

HFleog F | o | B B 3 B

TR AL | | AU AN SPAEZN BHFEF IREE BIRER
Type Model Input Output Bearing Ratio Backlash Class
HF 60 F: ANERE O: Bz B : iREREAE B ER 1-Stage PO<3
75 Input Flange Hollow Output Shaft Ball Bearing 5,10, 15 P1<6
100 RA44: &M Reducer | [N: Big G iRenE (A58 ) P2<9
140 1-Stage: Single Clamping =% -7 <G [ E——
180 R44 - R62... (Keyway) Taper BECEER
N1: EESRME (EHRE) Bearing ITEREE
Single Clamping With 1-Stage
(No Keyway) Planetary
M: €2 % RUE Reducer
Double Clamping 25~150
S: BH AL (Bi#E)
Single Output Shaft
(Keyway)
ST B AEL (EEE)
Single Output Shaft
(No Keyway)

& LIMING



EIRR TS Z 5L e ¥R B3R HIGH PRECISION HYPOID GEAR REDUCER

Characteristic of HF Series

HF 25l ZEmi5

1% 1-Stage
Bl REE
F1E Model N " .
RAE# L7 / Rated Output T
eI / Rated Output Torque T | Nm 10 25 30 60 220 615
(Nominal output torque)
15 20 25 50 180 510
AR / Max. Acceleration TorqueliliSuiN o 5~15 1.5 (ZREEH LR 1.5 Times of Rated Output Torque
B ABHIRAE / Max. Output Torque N
Zﬁ;ﬁ;ﬁ p Emerge);cyuSE)oup Tor:LLje Tnor| Nm 5~15 3 fERAEH L H4E 3 Times of Rated Output Torque
XA E & ABEiR / Rated Input Speed ny | rpm 5~15 3,000 2,800 2,700 2,000 2,000
A AR / Max. Input Speed ng | rpm 5~15 6,000 5,000 4,000 3,000 3,000
PO <3 <3 <3 <3 <3
#P& / Backlash J. |arcmin P1 <6 <6 <6 <6 <6
P2 <9 <9 <9 <9 <9
FFf€[a7 / Max. Radial Force
H@ﬂigﬂ Ball B Jp N 5~15 1,040 1,495 2,366 5,837 7,020
P all Bearing
BFFEE) ] / Max. Axial Force
=748/ Ball Bearing Fon N 5~15 520 748 1,183 2,919 3,510
/E{ |
BFHEEA | Max. Radial Force
;EEHU% T B Fop N 5~15 10,110 13,440 20,760 38,100 60,600
= aper Bearing
REFEHE ] / Max. Axial Force
\’tfﬁiﬂi;( R Fop N 5~15 5,055 6,720 10,380 19,050 30,300
ik er Bearing
= . . - S5 FHAERS : >30,000 (S1 E4E=E# . >15,000 hrs)
% / Service Life i | i 5-15 |55 Cycle Operation: 30,000 (S1 Continuous Operation: >15,000 hrs)
5-10 >96%
3 | Efficiency n %
15 293%
fE AR / Operating Temperature °C 5~15 -10°C ~ +90°C
i & / Lubrication 5~15 2 5B # Synthetic Ol
2 & 18/ Noise Level dB 5~15 <66 ‘ <66 ‘ <66 <68 ‘ <70

L EJJ & & Mass Moments of Inertia (kgcm?)

I S S O T

5~15 | | 0.13 | 0.78 | 6.74 | 5.78




Characteristic of HF Series

HF 25l Zmi5 1

EBEGRI RN 2-Stage

S A N
35 70 260 720

25-50 30
572845 / Rated Output T
RIERRILIRTE [ Rated Output Torque Tn | Nm | 100 25 30 60 220 615
(Nominal output torque)
75~150 20 25 50 180 510
AR / Max. Acceleration Torque ¢SS N W 1B 1] 1.5 ZFREEH HIHE 1.5 Times of Rated Output Torque
B A HIRAE / Max. Output Torque N
Z :IS%E ; Emergeﬁcyusfoup Torgﬂe Tnor| Nm | 25~150 3 {ZEEEH L R 3 Times of Rated Output Torque
X8 7E i A B3R / Rated Input Speed ny | rpm 25~150 5,500 4,500 4,200 3,900 3,400
ERAHABER [ Max. Input Speed mg | rpm | 25~150 6,000 5,000 4,000 3,000 3,000
PO <4 <4 <4 <4 <4
HPR / Backlash J; |arcmin P1 <7 <7 <7 <7 <7
P2 <10 <10 <10 <10 <10
K@ A | Max. Radial Force
SATEn _ Fm| N | 25~150 1,040 1,495 2,366 5,837 7,020
YR IR Ball Bearing
REFEAE S / Max. Axial Force
— - . - N 25~150 520 748 1,183 2,919 3,510
YR EKER7E Ball Bearing
RFFR[EA | Max. Radial Force
‘*;EEEH;( T Beari Fop N 25~150 10,110 13,440 20,760 38,100 60,600
R aper Bearing
REFEAE S / Max. Axial Force
wfﬁ@ﬂi;( Taper Bearing Foun N 25~150 5,055 6,720 10,380 19,050 30,300
R er Beari
= . . - S5 FHAERS : >30,000 (S1 E#EE#E : >15,000 hrs)
fEF%m / Service Life Ly | hr | 25~150 |50 o1 cle Operation: 30,000 (S1 Continuous Operation: >15,000 hrs)
25~50 >92%
P = ”~ o
X} = | Efficiency n % 75-100< - oo
150 =T
fE AR E / Operating Temperature °C 25~150 -10°C ~ +90°C
bEs 8 / Lubrication 25~150 2S5 HUEE M Synthetic Ol
% & & / Noise Level dB 25~150 <66 ‘ <66 ‘ <66 <68 ‘ <70

#8185 & Mass Moments of Inertia (kgcm?)

S aorao |0 | 75 | 0 | w0 | e |

25~150 | 0.04 | 0.13 | 0.13 | 0.47 | 2.71

& LIMING



EIRR TS Z 5L e ¥R B3R HIGH PRECISION HYPOID GEAR REDUCER

HF-FO series

RATIO : 5.10.15 ( E2E% 1-Stage)
AFVER - B H bz

Input Flange - Hollow Output Shaft

D1

B6

PB2 h7

C4

140
165
A 11
40
12
A5 16.7 22.3 31.3 43.3 58.8
B1 62 76 106 142 190
B2 60 70 90 130 160
B3 18 18 27 27 26
B B4 11 12 16 15.5 15.5
B5 6 7 10 12 15
B6 2 2 2 3 3
B7 103 113 151 193 247
C1 46-60-63 70-75-90 90-100-115-145 115-145-165 145-165-200
Cc2 M3+ M4 - M5 M4 - M5~ M6 M5-~M6 - M8 M6 - M8~ M10 M8-M10 -~ M12
C3 11 14 24 35 42
C4 26 33 59 82 84.5
C5 30-40-50 50-60-70 70-80-95-110 95110130 110-130-180
C C6 M4 x P0.7 M5 x P0.8 M6 x P1.0 M8 x P1.25 M10 x P1.5
Cc7 4655 64-70-80 92-110-130 122-130-150 146~150-190
Cc8 5 6 9 10 10
C9 69 95.5 126.5 179 228
C10 100 133.5 179.5 250 323
D1 9 9 14 23 32
n D2 41.5 48 65 90 125
Weight £3% (kg)




HF-FN series

RATIO : 5.10.15 ( E2E&% 1-Stage)

AER - BERBBE
Input Flange - Single Clamping

[
$B2 h7

PCD A1
4-9A2

Cc8

B3 B5

B4

C9

C10

mIFJm

9
28
8
313
38
8-M6
106
90
27
16
10
2
173
177
90100115+ 145
M5 M6 - M8
24
59
708095110
M6 x P1.0
92110130
9
126.5
179.5
14
65

1
40
12
43.3
52
8-M8
142
130
27
15.5
12
3
223
229
115145165
M6+ M8 - M10
35
82
95-110-130
M8 x P1.25
122130150
10
179
250
23
90

unit: mm

85 120 165 215

13
55
14
58.8
73
8-M8
190
160
26
15.5
15
3
279
284
145-165-200
M8 M10-M12
42
84.5
110~130~180
M10 x P1.5
146150190
10
228
323
32
125

A1 68
A2 5.5 6.5
A A3 15 20
A4 4 5
A5 16.7 22.3
A6 22 28
A7 6-M6 6-M6
B1 62 76
B2 60 70
B3 18 18
B4 11 12
B B5 6 7
B6 2 2
B7 123.5 134
B8 127 138
C1 46-60-63 70-75~90
Cc2 M3~ M4~ M5 M4 - M5~ M6
C3 11 14
C4 26 33
C5 30-40-50 506070
C C6 M4 x P0.7 M5 x P0.8
Cc7 46~ 55 64-70-80
Cc8 5 6
C9 69 95.5
C10 100 133.5
D1 9 9
n D2 41.5 48
Weight +3% (kg)

& LIMING



EIRR TS Z 5L e ¥R B3R HIGH PRECISION HYPOID GEAR REDUCER

HF-FM series

RATIO : 5.10.15 ( E2E% 1-Stage)

ANER - EERBUWME
Input Flange - Double Clamping

B3 B5 |

B4 AN =1

T_
i

Cc9

)
C10

PB2n7
o oo imanm]
I
|

. PCD Af D2
&I 4-0A2 2 |
B6

unit: mm
165 215
11 13
40 55
52 73
A5 6-M6 6-M6 8-M6 8-M8 8-M8
B1 62 76 106 142 190
B2 60 70 90 130 160
B3 18 18 27 27 26
B4 1" 12 16 15.5 15.5
B5 6 7 10 12 15
B6 144 155 195 253 311
B7 153 162 202 264 320
C1 46-60-63 70-75-90 90-100-115-145 115-145-165 145-165-200
C2 M3-~M4 - M5 M4 - M5~ M6 M5-~M6 - M8 M6~ M8 - M10 M8-M10 -~ M12
C3 1" 14 24 35 42
C4 26 33 59 82 84.5
C5 30-40-50 50-60-70 70-80-95-110 95-110-130 110~130-180
C C6 M4 x P0.7 M5 x P0.8 M6 x P1.0 M8 x P1.25 M10 x P1.5
C7 4655 64-70-80 92-110-130 122~130-150 146-150~190
C8 5 6 9 10 10
C9 69 95.5 126.5 179 228
Cc10 100 133.5 179.5 250 323
D1 9 9 14 23 32
n D2 415 48 65 90 125
Weight £3% (kg)




HF-FS series

RATIO : 5.10.15 ( E2E&% 1-Stage)

ATVER - EHAEL
Input Flange - Single Output Shaft

D1

| PCD A1
950
\ 4-pA2

B7

B8

A5

Oo————O

=

?B2 n7
|

B6

unit: mm
B I T T T T
A1 68 85 120 165 215
A2 5.5 6.5 9 11 13
A A3 16 22 28 40 55
A4 5 6 8 12 16
A5 18 24.5 31 43 59
A6 M5 x P0.8 M8 x P.125 M10 x 1.5 M12 x P1.75 M16 x P20
B1 62 76 106 142 190
B2 60 70 90 130 160
B3 18 18 27 27 26
B4 1 12 16 15.5 15.5
B B5 6 7 10 12 15
B6 2 2 2 & 3
B7 28 36 50 70 82
B8 25 32 45 60 70
B9 129 147 199 260 326
C1 46-6063 70-75~90 90-100+115-145 115-145-165 145-165-200
Cc2 M3 M4-M5 M4-~M5-~ M6 M5~ M6 - M8 M6~ M8~ M10 M8-M10-~M12
C3 11 14 24 35 42
C4 26 33 59 82 84.5
C5 30-40-50 506070 70-80-95-110 95110130 110-130-180
C C6 M4 x P0.7 M5 x P0.8 M6 x P1.0 M8 x P1.25 M10 x P1.5
C7 46-55 64-70-80 92-110+-130 122-130+150 146150190
Cc8 5 6 9 10 10
C9 69 95.5 126.5 179 228
C10 100 133.5 179.5 250 323
D1 9 9 14 23 32
n D2 41.5 48 65 90 125
Weight +3% (kg)

& LIMING



EIRR TS Z 5L e ¥R B3R HIGH PRECISION HYPOID GEAR REDUCER

HF-RO series

RATIO : 25.50.75.100.150 ( #E% 2-Stage)

BECITERIEW - O

Fitted with Planetary Reducer - Hollow Output Shaft

B6

?@B2 h7

103
466063
M3~ M4~ M5
8-9-11
26
304050
M4 x P0.7
4655
5
98
129
9
M5

22.3
76
70
18
12
7
2
113
707590
M4 - M5~ M6
11-14
33.5
506070
M5 x P0.8
647080
6
132
170
9
48

f
@ C5 Hs
[ee]
3C3 o
‘ i ‘
RECINRE
[ —;r‘r/l
|
B3 B5 | o
B4 . ©
2 B6 =]
(I = |8
A
T
|
B A
o
1
] U
= i
D2
B7
140
120 165
9 1
28 40
8 12
31.3 433
106 142
90 130
27 27
16 15.5
10 12
2 3
151 193
70-75-90 90100115+ 145
M4 M5 M6 M5~ M6~ M8
11-14 16192224
335 59.2
506070 708095110
M5 x P0.8 M6 x P1.0
647080 92110130
6 9.2
155 220
208 294.5
14 23
65 90

58.8
190
160
26
15.5
15
3
247
115-145-165
M6~ M8 M10
22-24-28-32
67.5
95-110-130
M8 x P1.25
122-130+-150
10.5
278.5
382.5
32
125

Weight £3% (kg)




HF-RN series

RATIO : 25.50.75.100.150 ( #E% 2-Stage)
BERATEREE - BReRuE | L

Fitted with Planetary Reducer - Single Clamping \
P
N
R _d
@ C5 Hs N
_'E« ®C3 3
|
|
==
|
|
| a6 i
5 4
| ! - N
s 4\ A/ ]
PCD A1
95e 4-p A2
0B1
unit: mm
W s | e | w
A1 68 85 120 165 215
A2 5.5 6.5 9 11 13
A A3 15 20 28 40 55
A4 4 5 8 12 14
A5 16.7 223 31.3 433 58.8
A6 22 28 38 52 73
A7 6-M6 6-M6 8-M6 8-M6 8-M6
B1 62 76 106 142 190
B2 60 70 90 130 160
B3 18 18 27 27 26
B4 11 12 16 15.5 15.5
B5 6 7 10 12 15
B6 2 2 2 3 3
B7 123.5 134 173 223 279
B8 127 138 177 229 284
C1 46-60-63 70-75~90 70-75-90 90-100-115-145 115-145-165
Cc2 M3 M4-M5 M4~ M5~ M6 M4 M5~ M6 M5~ M6~ M8 M6~ M8~ M10
C3 8-9 11 1114 11-14 16:19-22-24 22-24-28-32
C4 26 33.5 33.5 59.2 67.5
C5 30:40-50 506070 506070 70-80-95-110 95-110+130
C C6 M4 x P0.7 M5 x P0.8 M5 x P0.8 M6 x P1.0 M8 x P1.25
Cc7 4655 64-70-80 64-70-80 92-110-130 122130150
Cc8 5 6 6 9.2 10.5
C9 98 132 155 220 278.5
C10 129 170 208 294.5 3825
D1 9 9 14 23 32
n D2 41.5 48 65 90 125
Weight +3% (kg)

& LIMING



EIRR TS Z 5L e ¥R B3R HIGH PRECISION HYPOID GEAR REDUCER

HF-RM series

RATIO : 25.50.75.100.150 ( £E% 2-Stage)

BETEREK - € ERRME
Fitted with Planetary Reducer - Double Clamping

N r
:‘Pi 5 | } "// y
¥
i
@ C5 Hs
,ﬁ_csI. 8
i ! [
ARE
I\l w |
=
|
B3 B5 | o
B4 1 ©
=
™ | 5
=
SR 11 IR
s i : ‘
i U | g
AT o2
B6
B7
unit: mm
165 215
11 13
40 55
52 73
6-M6 6-M6 8-M6 8-M6 8-M6
62 76 106 142 190
60 70 90 130 160
18 18 27 27 26
1" 12 16 15.5 15.5
6 7 10 12 15
144 155 195 253 311
153 162 202 264 320
46-60-63 70-75~90 70-75~90 90-100-115-145 115-145-165
M3 M4 - M5 M4~ M5~ M6 M4~ M5~ M6 M5~ M6~ M8 M6 M8 M10
8911 1114 1114 16-19-22-24 22~24-28-32
26 33.5 33.5 59.2 67.5
30-40-50 50-60-70 50-60-70 70-80-95-110 95-110-130
M4 x P0.7 M5 x P0.8 M5 x P0.8 M6 x P1.0 M8 x P1.25
4655 64-70-80 64-70-80 92-110-130 122-130+150
5 6 6 9.2 10.5
98 132 155 220 278.5
129 170 208 294.5 382.5
9 9 14 23 32
41.5 48 65 90 125
Weight £3% (kg)




HF-RS series

RATIO : 25.50.75.100.150 ( #E% 2-Stage)

EECITEREW - B # 0

Fitted with Planetary Reducer - Single Output Shaft

A
f
P C5 Hg
[o0]
‘ ®C3 ‘ &
o s
I\H_ ]
|
B3 B5 ; 5
B4 I °
B7 | | O
= |~ .
sk e 1
a i
° 1
Il_,’ |
- 1
B6 D2 |
B9
5 T T I
A1 68 85 120 165
A2 5.5 6.5 9 11
A A3 16 22 28 40
A4 5 6 8 12
A5 18 24.5 31 43
A6 M5 x P0.8 M8 x P.125 M10 x 1.5 M12 x P1.75
62 76 106 142
60 70 90 130
18 18 27 27
1 12 16 15.5
6 7 10 12
2 2 2 3
28 36 50 70
25 32 45 60
129 147 199 260
46-6063 70-75-90 70-75~90 90-100-115-145
M3~ M4~ M5 M4~ M5~ M6 M4+ M5~ M6 M5 M6~ M8
8-9-11 1114 1114 16-19-22-24
26 33.5 33.5 59.2
30-40-50 50-60-70 506070 70-80-95-110
M4 x P0.7 M5 x P0.8 M5 x P0.8 M6 x P1.0
4655 647080 64-70~80 92-110-130
5 6 6 9.2
98 132 155 220
129 170 208 294.5
9 9 14 23
415 48 65 90

unit: mm

215
13
55
16
59
M16 x P20
190
160
26
15.5
15
3
82
70
326
115145165
M6~ M8 - M10
22°24-28-32
67.5
95110130
M8 x P1.25
122-130+150
10.5
278.5
382.5
32
125

Weight +3% (kg)

& LIMING




&R a S & iR EmBERM LOW BACKLASH WORM REDUCER

WE series

B =50/ 8 i
Backlash £ 8 arcmin

BRARDE EM T BABERRIEEEE.
EEEEETERAABEBL 50°CLL £
Indication of Model Numbers
MR R SR R IR
! g
B R A EY 7 Eh ' H AR RISk Shaft BERSR
Type Output Shaft : Output Flange Model Ratio Di a. Motor Type
: ircetion
[}
WE S B | Of 30 1/5 R
Solid \ None 40 110 L
I 50 1115
O: iz | F: 7R 60 1720
Hollow . Output Flange 70 1/30
1/40
N: GBE | 1/50
Clamping : 1/60

WE %5%!] WE Series

JHFEE ( N g)




Characteristic of WE Series
WE R ZEmiEH

Shaft Direction
i)

R: HG#h(WEStE SAREQDES R: Right Shaft (when facing input shaft and foot on the ground,

bR & IR U ARl ) output shaft is on the right)
L: Z#(RIERGHE - WARERES L: Left Shaft (when facing input shaft and foot on the ground,
1EE B 0 L D AL 7S 22 MR ) output shaft is on the left)
W: €A NEHES D% W: Double Input Shaft & Single Output Shaft
WV: €& ADEFNE S D WV: Double Input Shaft & Single Output Shaft
S: FRE (G BB IAAEMEm ) S: Special shaft (Please specify your need clearly or attach
drawing)

Rotary Direction
R

=

HEt EWRIREARGRST A ELURER £ Upper worm for right-directed thread, so the input shaft is
Fahe s - o Eh DGR 5 [ s - 4N rotating clockwise and the output shaft counterclockwise;
FRARERREEEAA - for any rotating direction required, be sure to specify it.

fied 75 [6)

Rotation Direction

& UMING



&R a S & iR EmBERM LOW BACKLASH WORM REDUCER

Characteristic of WE Series
WE R ZEmiEH

WES WESF
OE /B Solid output shaft

WEO WEOF

WEN WENF
O ZEEhsei# =, Clamping output shaft O ZEmeei#zl Clamping output shaft




Characteristic of WE Series

WE 5l Z 514

os .| ZEE
T i EE A B I R

8.3 22.3 30.6 41.2 70.6
° 90.3 92.3 92.6 92.6 93.6
8.8 20.7 41.9 65.9 92
10 83.7 86.6 89.6 90.1 90.5
1.4 26.2 40.9 64.5 90
1 81.9 83.7 85.3 86.1 86.6
BESRIH R / Rat.ed Output Torque , N 953 958 e 63l 1064
(Nominal output torque )il 20
72.3 76.6 81.7 82.4 85.1
121 27.4 43.2 67.9 95
% / Efficiency n % % 69.6 72.3 74.5 75.9 76.7
9.2 24.3 43.8 69.1 111
40
56.8 66.3 69.2 70.3 74.3
10.4 24 43.6 69.2 105.6
%0 58.7 64.6 67.7 68.9 71.2
9.6 20.5 36.1 58.3 100.5
o0 54.6 56.8 59.3 61.3 68.8
igiﬁ;ﬁéﬂgﬁiﬁgﬁ:ﬁ 12;2:2 Tonor Nm 5~60 2 EREERH A 2 Times of Rated Output Torque
RAE# A2 / Rated Input Speed g rpm 5~60 2,000
B KB A / Max. Input Speed g rpm 5~60 3,000
BEF&X[@ A | Max. Radial Force P N 5~60 1,830 3,490 4,840 6,270 7,380
SIS 7 / Max. Axial Force Fos N 5~60 915 1,745 2,420 3135 3,690
M / Service Life Ly i 5-60 | s5cyole gse’?ﬁ?f:ﬁ i ;:)%,8 ?&%Lﬁffﬁ é)?i?a?i?):r:sie,oooms)
A / Operating Temperature °C 5~60 -15°C~+90°C
¥ B /Lubrication 5~60 EEAUEEH Synthetic Oil
BrEZE 4R / Protection Class 5~60 IP65
Z 457518 / Mounting Position 5~60 FEZEFE Any

& LIMING



&R a S & iR EmBERM LOW BACKLASH WORM REDUCER

WES series

RATIO : 5.10.15.20.30.40.50.60

AF
Pgip AG AE &2 |.D LK BC BD
Input bore Output shaft
_[ HH i
CF o] W:—
2| | P40 &
g = _J//
il g
1L ] |2
— — 1L PCDJA -1 o
J AN
-
— p
16-Z : : ;
AC
AD

o I 1 e 2 R R ) S S N A A

[ 108 68 | 55 | 80 99.5/67.5| 60 40 | 72 | 45 M6 | 98
VT 140 89 | 70 | 102 7.5 34 6 127| 85 | 80 2 60 72 40 50 | 90 | 55 35 M8 | 122
[0 158 | 98 | 80 |120|8.5| 41 | 6 |150(100| 94 | 3 | 70 | 85 | 50 | 60 [105| 65 | 40 |M10|145
P 195122100 | 146 | 10 | 59 | 9 |159|105|102| 3 | 85 [103| 60 | 75 |136| 83 | 53 |M10| 180
[0 219|134 120|170 | 12 | 59 | 9 |187|125|118| 3 | 90 |110| 70 | 85 |150| 90 | 60 |M10|200
unit : mm

OUTPUT SHAFT

%}
L
Oy
Z0
<m
|

=
Q:D
cZ
= Z
O
=

5

5

18

35

30
8-M6 x P1.0

65

55
46 - 60 ~ 63

M3 x P0.5

M4 x PO.7
M5 x P0.8

46 - 55
M3 x P0.5
30 ~ 40 ~ 50
8
100

IR Z U R4 1/5~1/40 1A -

6 7 7
6 8 8
22.5 28 28
40 50 50
35 45 45
12-M6 x P1.0 12-M6 x P1.0 12-M8 x P1.25
77 95 120
60 70 80
70~75~90 7075~ 90 90 ~ 100 ~ 115 ~ 145
M4 x P0.7 M4 x P0.7 M5 x P0.8
M5 x P0.8 M5 x P0.8 M6 x P1.0
M6 x P1.0 M6 x P1.0 M8 x P1.25
64 - 70 ~ 80 64 - 70~ 80 92 - 110 ~ 130
M5 x P0.8 M5 x P0.8 M6 x P1.0
506070 506070 708095+ 110
14 19 24
122 ~ 125~ 130 145 ~ 150 181~ 190 ~ 200

G T T T N R T

30
7
8
33
60
55
12-M10 x P1.5
140
90

100 - 115~
M5 x P0.8
M6 x P1.0
M8 x P1.25

92 - 110 ~ 130
M6 x P1.0
708095+ 11
24
210 ~ 220

90 ~ 145

0




WEO series

RATIO : 5.10.15.20.30.40.50.60

“Input bore

Output shaft

I 1T 1T 17

P I ) I 2 3 0 2 N Y I R

PRI 108 | 68 | 55 | 80 65 [32.5 60 45 | 58 40 | 72 | 45 M6 | 98
-140 89 | 70 | 102 7.5 34 6 88 | 44 | 80 2 60 | 72 4o 50 | 90 | 55 35 M8 | 122
IS0 158 | 98 | 80 [120/8.5| 41| 6 |98 |50 | 94 | 3 | 70 | 85 | 50 | 60 |105| 65 | 40 |M10| 145
PR 195 1122 100|146| 10 | 59 | 9 |108| 54 |102| 3 | 85 |103| 60 | 75 136 | 83 | 53 |M10| 180
00T 219|134 120|170 | 12 | 59 | 9 |128| 64 |118| 3 | 90 |110| 70 | 85 |150| 90 | 60 |M10|200

___“_
Code

S
Y
W
J

OUTPUT SHAFT

o3
w
w
Qx
<O
<m
x5
Ea
EZ
(@)
=

16.3
5
8-M6 x P1.0
65
55
46 ~ 60 - 63
M3 x P0.5
M4 x P0.7
M5 x P0.8
46 - 55
M3 x P0.5
304050
8
100

22.8
6
12-M6 x P1.0
77
60
70~75-90
M4 x P0O.7

M5 x P0.8
M6 x P1.0

64~ 70~ 80
M5 x P0.8
506070
14
122 ~ 125~ 130

28.3
8
12-M6 x P1.0
95
70
70~75-90
M4 x P0.7
M5 x P0.8
M6 x P1.0
64~ 7080
M5 x P0.8
506070
19
145 ~ 150

28.3
8
12-M8 x P1.25
120
80

90 ~ 100 ~ 115 ~ 145
M5 x P0.8
M6 x P1.0
M8 x P1.25

92+ 110~ 130
M6 x P1.0
70-80-95-110
24
181~ 190 ~ 200

30
33.3
8
12-M10 x P1.5
140
90

90+ 100 ~ 115 ~ 145

M5 x P0.8

M6 x P1.0

M8 x P1.25
92 - 110130

M6 x P1.0
70-80-95-110
24
210 ~ 220

EIRZ U R4 1/5~1/40 I -

& LIMING



&R a S & iR EmBERM LOW BACKLASH WORM REDUCER

WEN series

RATIO : 5.10.15.20.30.40.50.60

68

89 70 | 102 | 7.5
98 | 80 | 120 | 8.5
122 | 100 | 146 | 10
134 | 120 | 170 | 12

8-M6 x P1.0

65

55

22

18
46 - 60 ~ 63
M3 x P0.5
M4 x P0.7
M5 x P0.8

46 - 55

M3 x P0.5
304050

8

100

OUTPUT SHAFT

MOTOR FLANGE &
INPUT BORE

Output shaft

HL

108
128
146
154
172

34 6
M 6
59 9
59 ©

12-M6 x P1.0
77
60
28
18
70~75-90
M4 x P0.7
M5 x P0.8
M6 x P1.0
64~ 70~ 80
M5 x P0.8
506070
14
122~ 125130

46
58
57
65

80
94
102
118

60
70
85
90

W W W N

12-M6 x P1.0
95
70
34
20
70-75-90
M4 x P0.7
M5 x P0.8
M6 x P1.0
64~ 70 - 80
M5 x P0.8
506070
19
145 ~ 150

72
85
103
110

1B
T

fas

40 | 50 | 90 | 55

50 | 60 | 105 | 65
60 | 75 | 136 | 83
70 | 85 | 150 | 90

12-M8 x P1.25
120
80
35
20

90 - 100 ~ 115~ 145
M5 x P0.8
M6 x P1.0
M8 x P1.25

92 110~ 130

M6 x P1.0
70-80-95-110
24
181~ 190 ~ 200

I 3 P N 3 3 0 3 P EN Y 3 R
55 | 80 6 32 5 36 | 60 2 45 | 58 | 30 | 40 | 72 | 45 | 27 | M6 | 98

35 | M8
40 | M10
53 | M10
60 | M10

122
145
180
200

unit : mm
70

30
12-M10 x P1.5
140
90
40
21

90 ~ 100 ~ 115 ~ 145

M5 x P0.8

M6 x P1.0

M8 x P1.25
92 110~ 130

M6 x P1.0
708095+ 110
24
210 ~ 220

‘B2 U R4 1/5~1/40 1A -




WESF series

RATIO : 5.10.15.20.30.40.50.60

N

N—"
oU

Input bore

3Q Hs

|~ Output shaft

I p————

6
89
98
122
134

70
80
100
120

-
(T8
<<
I
(%))
-
2
o
~
2
@)

o3
w

w
O
<O
<m
x5
o
= Z
(@)
=

S 16
Y 5
w 5
D 18
LS 35
LK 30
J 8-M6 x P1.0
JA 65
JB 55
N 70
NA 5
(0} 85
L M6 x P1.0
M 100
P 46 -~ 60 - 63
M3 x P0.5
M4 x P0.7
M5 x P0.8
46 -~ 55
M3 x P0.5
304050
8
100

16-Z

75
8.5

LL

\7\%/

HL

1A

B

127.5|67.5| 60

34
41
59
59

155
180
205
225

85

105
125

© © o O

12-M6 x P1.0
77
60
80
6
100
M8 x P1.25
120
70-75-90
M4 x P0.7
M5 x P0.8
M6 x P1.0
64~ 70~ 80
M5 x P0.8
50~ 6070
14
122~ 125~ 130

80

100 | 94

102
118

2 | 70
3 | 80
3 | 100
3 [ 100

60
70
85
90

12-M6 x P1.0
95
70
95
6
120
M10 x P1.5
140
70-75~90
M4 x P0.7
M5 x P0.8
M6 x P1.0
64 - 70 - 80
M5 x P0.8
506070
19
145 ~ 150

72
85
103
110

72

90 | 55
105 | 65
136 | 83
150 | 90

30
33
49
41

40
50
60
70

50
60
75
85

45
12-M8 x P1.25
120
80
130
7
160
M10 x P1.5
180

90 ~ 100 ~ 115 ~ 145

M5 x P0.8

M6 x P1.0

M8 x P1.25
92 110~ 130

M6 x P1.0
70-80-95-110
24
181~ 190 ~ 200

oN
oM

T _T_ R O

BG AD -
1 e 3 ) 3 e Y A R S S N Y A A
8 | 55 | 80 6 32 5 2 | 60 | 45 | 58 | 30 | 30 | 40 45 | 27 98

M6

M8 | 122
M10 | 145
M10 | 180
M10 | 200

35
40
53
60

unit : mm

55
12-M10 x P1.5
140
90
150
7
185
M12 x P1.75
210

90 ~ 100 ~ 115 ~ 145

M5 x P0.8

M6 x P1.0

M8 x P1.25
92110130

M6 x P1.0
70-80-95-110
24
210 ~ 220

EIRZ U R4 1/5~1/40 I -

ﬁﬁLMMNG




BEFREa S 0 E

WEOF series

RATIO : 5.10.15.20.30.40.50.60

# LOW BACKLA

SH WORM REDUCER

BD

Output shaft

PCD P N—
4K oU AG
{ - Input bore
- 2 @r__ N
- g T 4V
ol 7_|]__l‘
L 4
PCD JA |
u J
-
) T4

S
Y
w
J

=
(1
<
I
(%))
-
2
o
=
2
o

o3
w

w
O
<O
<m
x5
Lo
= Z
(@)
=

1A

HL

1B

92.5/32.5
34 6 114 | 44
41| 6 [130| 49
59| 9 | 154 | 54
59| 9 | 164 | 64

S I e e e e e e e e Y A

[ 108| 68 | 55| 80 | 6
-140 89 | 70 [102|7.5
[ 158| 98 | 80 [120)8.5
P 195 122{100 (146 | 10
[0 219|134]120|170| 12

60 | 45 40 | 72 | 45 M6 | 98

80 2 70 | 60 72 30 40 50 | 90 | 55 35 M8 | 122

94| 3 |80 |70 |85 |33 |50 |60 |105| 65 | 40 (M10|145

102| 3 |100| 85 |103| 49 | 60 | 75 |136| 83 | 53 |[M10|180

118| 3 |100| 90 [110| 41 | 70 | 85 |[150| 90 | 60 [M10|200
unit : mm

16.3 22.8 28.3 28.3
5 6 8 8
8-M6 x P1.0 12-M6 x P1.0 12-M6 x P1.0 12-M8 x P1.25
65 7 95 120
55 60 70 80
70 80 95 130
5 6 6 7
85 100 120 160
M6 x P1.0 M8 x P1.25 M10 x P1.5 M10 x P1.5
100 120 140 180
46 - 60 ~ 63 70~75~90 70+75~90 90 ~ 100 ~ 115 ~ 145
M3 x P0.5 M4 x P0O.7 M4 x P0.7 M5 x P0.8
M4 x P0.7 M5 x P0.8 M5 x P0.8 M6 x P1.0
M5 x P0.8 M6 x P1.0 M6 x P1.0 M8 x P1.25
46 - 55 64 - 70~ 80 64 -~ 70 ~ 80 92 - 110 ~ 130
M3 x P0.5 M5 x P0.8 M5 x P0.8 M6 x P1.0
30 - 40 50 506070 506070 708095110
8 14 19 24
100 122 ~ 125 -~ 130 145 -~ 150 181~ 190 ~ 200

EIRZ U R4 1/5~1/40 A1 -

e T T I N A AT

30
33.3

8

12-M10 x P1.5

140

90

150

7

185

M12 x P1.75

210

100 * 115 ~ 145

M5 x P0.8

M6 x P1.0

M8 x P1.25
92 - 110 ~ 130

M6 x P1.0
708095110
24
210 ~ 220

90




WENF series

RATIO : 5.10.15.20.30.40.50.60

] S Ep——

ER

I 3 3 I 3 2 R e M A Y Y R 5

Il 108| 68 | 55 | 80 | 6 114[32.5| 60 60 | 45 72| 45 M6 | 98
-140 89 | 70 [102|7.5 34 6 134| 44 | 80 2 70 | 60 72 30 40 50 90 | 55 35 M8 [122
I 158| 98 | 80 [120(8.5| 41| 6 (153 49 |94 | 3 |80 |70 | 85|33 |50 | 60 |105| 65 | 40 |M10|145
I 195/122{100(146| 10 | 59 | 9 [177| 54 [102| 3 |100| 85 |103| 49 | 60 | 75 |136| 83 | 53 |M10|180
0 219/134]120(170| 12 | 59 | 9 |186| 64 |118| 3 [100| 90 |110| 41 | 70 | 85 |150| 90 | 60 |M10|200

unit : mm

| | s e |
14 20 25 25

S 30
J 8-M6 x P1.0 12-M6 x P1.0 12-M6 x P1.0 12-M8 x P1.25 12-M10 x P1.5
JA 65 77 95 120 140
E JB 55 60 70 80 90
z s 22 28 34 35 40
= 20 20 21 21 22
N 70 80 95 130 150
= NA 5 6 6 7 7
85 100 120 160 185
M6 x P1.0 M8 x P1.25 M10 x P1.5 M10 x P1.5 M12 x P1.75
100 120 140 180 210
46 - 60 - 63 70 - 75+ 90 70-75-90 |90 100 115145 | 90« 100 - 115 « 145
o M3 x P0.5 M4 x P0.7 M4 x P0.7 M5 x P0.8 M5 x P0.8
o M4 x P0.7 M5 x P0.8 M5 x P0.8 M6 x P1.0 M6 x P1.0
> M5 x P0.8 M6 x P1.0 M6 x P1.0 M8 x P1.25 M8 x P1.25
Elrf 46 - 55 64 - 70 - 80 64 - 70 - 80 92 + 110 - 130 92 + 110 - 130
x5 M3 x P0.5 M5 x P0.8 M5 x P0.8 M6 x P1.0 M6 x P1.0
cZ 30 - 40+ 50 50 60 « 70 50 - 60 « 70 70-80-95-110 | 70-80-95- 110
e 8 14 19 24 24
100 122 - 125 - 130 145 - 150 181 - 190 ~ 200 210 + 220

B2 U R4 1/5~1/40 1A -

& LIMING




25 W ER R R ALUMINUM ALLOY WORM REDUCER

PW series

B =50/ 8 i
Backlash £ 8 arcmin

ﬁﬁﬁ“\f EA B BAEAREEEE
EEBEF IR ABEED 50°CL,U:

Indication of Model Numbers

IERISE TR
N | Ed - MOTOR
i srm | whEm ms o s
Type Output Shaft i Output Flange Model Ratio Dircetion Motor Type
I
PW S: BE I ofE 30 1/50 R
Solid ' None 40 1175 L
| 50 1/100
O: e M 60 11150
Hollow , Output Flange 70 1/200
1/250
N: eHEHE | 1/300
Clamping E 1/400
1/500




Characteristic of PW Series
PW 5| EmiEFH

PWS PWSF
OB/L\# Solid output shaft OE/L\# Solid output shaft

PWO PWOF
O%Z=d Hollow output shaft O ZEdl Hollow output shaft

PWN PWNF
OhzZEEs T, Clamping output shaft Ofhzgnfei# Clamping output shaft

& UMING



25 W ER R R ALUMINUM ALLOY WORM REDUCER

Characteristic of PW Series

PW 25l Zmf5tE

#3148 Model No. BB {17 Unit
Ratlo

20.7 41.9 65.9
50
83.7 86.6 89.6 90.1 90.5
11.4 26.2 40.9 64.5 90
75
81.9 83.7 85.3 86.1 86.6
8.8 20.7 41.9 65.9 92
100
83.7 86.6 89.6 90.1 90.5
1.4 26.2 40.9 64.5 90
G = 150
SBTEB AR / Rat.ed Output Torque . N e a7 . . .
(Nominal output torque) il
9.52 22.6 40.7 63.5 106.1
200
72.3 76.6 81.7 82.4 85.1
n %
% | Efficiency o 250 10.4 24 43.6 69.2 105.6
58.7 64.6 67.7 68.9 71.2
121 27.4 43.2 67.9 95
300
69.6 72.3 74.5 75.9 76.7
9.2 24.3 43.8 69.1 111
400
56.8 66.3 69.2 70.3 74.3
10.4 24 43.6 69.2 105.6
500
58.7 64.6 67.7 68.9 71.2
B AH B / Max. Output Torque
- T Nm 50~500 2 fZEAEH HAE 2 Times of Rated Output Torque
/=145 / Emergency Stop Torque [N - ” ! it LER
X6 28 A #7% / Rated Input Speed i rpm 50~500 2,000
B AH AR / Max. Input Speed g rpm 50~500 3,000
B2 / Backlash Ps arcmin |50~500 <8
AFFE @A [ Max. Radial Force PRI N 50~500 1,830 3,490 4,840 6,270 7,380
A F / Max. Axial Force Fos N 50~500 915 1,745 2,420 3135 3,690
. . - S5 FEHAERE : >12,000 (S1 E4EE#E : >6,000hrs)
f Service Life Ly hr 50~500| g5 cycle Operation: >12,000 (S1 Continuous Operation: >6,000hrs)
AR E / Operating Temperature °C 50~500 -15°C~+90°C
8 / Lubrication 50~500 = SAUEB M Synthetic Oil
BhEZ4R | Protection Class 50~500 IP65
Z# 758 / Mounting Position 50~500 EE7E Any




PWS series

RATIO : 50.75.100.150.200.250.300.400.500 |

BD

o A ) -
OR Input bore AB BB
PCDP AF AE Output shaft
4-K AG
Ls
HIL HIl LK
e T 1
g 40| — L &
o =
© ) ® o
(&) T il
g + { —L )
= ¢/ 4 =
162 PCD JA i 1 i T T
BF : J AC
BG AD

I S 3 e e A A I

S0 169129 55 [ 80 | 6 |26 -30.5] 5 |99.5/67.5 60 45| 58 40 | 72 |45
T 201|150 | 70 |102|7.5| 33 |55|127| 85 | 80 2 60| 72 40 50 | 90 |55
S0 227|167 | 80 [120(85| 335 | 6 (150 /100| 94 | 3 |70 | 85 | 50 | 60

P 278|205 | 100|146 | 10 | 455 | 10 |159|105|102| 3 |85 |102| 60 | 75
[0 303218120170 | 12| 455 |10 |187|125|118| 3 |90 |110| 70 | 85

105 |65
136 | 83
150 | 90

27| M6 | 98
35| M8 | 122
40 |M10| 145
53 [M10| 180
60 [M10| 200

unit : mm

DS I A AR N B

S
Y
'_
% w
= D
= LS
E LK
5
O J

o3
L
Oy
Z0
<o
el
DfD
c%
= <
O
=

5 6 7
5 6 8
18 22.5 28
35 40 50
30 35 45
8-M6 x P1.0 12-M6 x P1.0 12-M6 x P1.0
65 77 95
55 60 70
45466370 | 45-46-63 70 707585
M3 ~ M4 ~ M5 M3 ~ M4 ~ M5 M5 ~ M6
46 - 55~ 60 46 - 55~ 60 64 - 70~ 80
M4 x P0O.7 M4 x P0.7 M5 x P0.8
30 ~ 40 ~ 50 30 ~ 40 ~ 50 506070
811 814 14
100 122 ~ 125 145 ~ 150

7
8
28
50
45
12-M8 x P1.25
120
80
90 ~ 100 ~ 115 ~ 145
M6 -~ M8
2~110~ 130
M5 x P0.8
70~80~95- 110
19
181~ 190 ~ 200

30
7
8
33
60
55
12-M10 x P1.5
140
90
100 ~ 115~
M6 -~ M8
92 - 110 ~ 130
M5 x P0.8
708095+ 110
19
181~ 190 ~ 200

90 - 145

& LIMING



25 W ER R R ALUMINUM ALLOY WORM REDUCER

PWO series

RATIO :50.75.100.150.200.250.300.400.500 |

N

® B
OR Input bore AB Output shaft BB
AF
AG AE BC BD
'y iy ] J
_E é: 27 %f\g)
© 1 40 —
é 1 7 _&i__ _ H N + 0
St 0 2] 2] 8 /é?‘ <
— I i‘
m
e\ ! o [HH MRS
- & 5 6 ol
A i 19 Sly
PCD JA T I T
J AC
AD

P I 1 3 3 I 3 R Y M N R 5

Dl 169(129] 55 | 80 | 6 [26-30.5| 5 | 65 32.5] 60 40 | 72 | 45 M6 | 98
-201 150/ 70 |102|7.5| 33 |55|88 | 44 |80 2 60 72 40 50 | 90 | 55 35 M8 | 122
IS 227/167| 80 |120(8.5| 335 | 6 |100| 50 |94 | 3 |70 |85 | 50 | 60 |105| 65 | 40 |M10| 145
IO 278 |205|100| 146 | 10 | 455 | 10 |108| 54 |[102| 3 | 85|102| 60 | 75 [136| 83 | 53 |[M10/ 180
I/ 303|218|120( 170 | 12 | 455 |10 |128| 64 |118| 3 | 90 |110| 70 | 85 [150| 90 | 60 |M10| 200

unit : mm

e T I I N A AT

E S 30

< BN 16.3 22.8 28.3 28.3 33.3

0 w 5 6 8 8 8

'é J 8-M6 x P1.0 12-M6 x P1.0 12-M6 x P1.0 12-M8 x P1.25 12-M10 x P1.5
= A 65 77 95 120 140

O N} 55 60 70 80 90

o P | 45-46-63-70 | 45466370 707585 90~ 100 * 115~ 145 | 90~ 100 * 115 - 145
gﬁ K M3~ M4+ M5 M3 - M4 M5 M5 - M6 M6 - M8 M6 - M8
<Zf% R 46 - 55 + 60 46 ~ 55 ~ 60 64~ 70 - 80 92110 130 92+ 110 - 130
T, e M4 x P0.7 M4 x P0.7 M5 x P0.8 M5 x P0.8 M5 x P0.8
gE Q 30 - 40 - 50 30~ 40 * 50 50 - 60 ~ 70 70-80-95-110 | 70-80-95- 110
5 < 8 11 8- 14 14 19 19

= HL 100 122+ 125 145 ~ 150 181~ 190 * 200 181~ 190 * 200




PWN series

RATIO : 50.75.100.150.200.250.300.400.500 |

Input bore

AB

e

AE

Output shaft
BD

HIE I
mé: Iﬁii
Q. ® %)
(&}
+ -
® L 3

H
HL
|

oI D | CCrom
I

1B

3 JC
?JB

P 0 0 3 £ N 0 8 A S O R N N Y

169 129 | 55 | 80

-201 150 | 70 |102| 7.5
S 227 | 167 | 80 [120(8.5
P 278 [ 205|100 | 146 | 10
[/ 303|218 120 | 170 | 12

6 [26-30.5| 5 |108
33 5.5 |128 46 80 2 60
33.5 6 |146/53 |94 | 3 | 70
455 | 10 |154| 57 |102| 3 | 85
455 | 10 [172| 65 |118| 3 | 90

58 | 30
72 | 40
85 | 50
102| 60
110| 70

40 | 72 | 45
50 | 90 | 55
60 |105| 65
75 1136 83
85 |150| 90

M6 | 98
M8 | 122
M10| 145
M10| 180
M10|200

35
40
53
60

unit : mm

o | w0 | m | e | |
14 20 25 25

OUTPUT SHAFT

%}
L
O
Z0
<m
—

=
xr 2
cZ
= Z
(@]
=

S 30
J 8-M6 x P1.0 12-M6 x P1.0 12-M6 x P1.0 12-M8 x P1.25 12-M10 x P1.5
JA 65 77 95 120 140
JB 55 60 70 80 90
JC 22 28 34 34 40
JD 18 18 20 20 21
45-46-63-70 | 45-46-63-70 7075~ 85 90 - 100 ~ 115~ 145| 90 - 100 ~ 115 ~ 145
M3 - M4 - M5 M3 - M4 ~ M5 M5 - M6 M6 - M8 M6 - M8
46 ~ 5560 46 ~ 5560 64 70~ 80 92~ 110~ 130 92~ 110 ~ 130
M4 x P0.7 M4 x P0.7 M5 x P0.8 M5 x P0.8 M5 x P0.8
30~ 4050 304050 506070 708095110 708095110
8- 11 814 14 19 19
100 122~ 125 145 - 150 181 ~ 190 ~ 200 181 ~ 190 ~ 200

& LIMING



25 W ER R R ALUMINUM ALLOY WORM REDUCER

PWSF series

RATIO :50.75.100.150.200.250.300.400.500

PCD JA

®\> A
OR Input bore AB
PCD P AF
4-K AG AE
- NA
1 — —
_E © _§ —— ; 1
= 2 i 40 — _&_ =
1 O U
| e ® ® |
| |
| |
| i z| =
a + g3
| / |
| ® |
| 7 | I

@ﬁlﬂﬁﬂlﬂll

169(129| 55 | 80 | 6 |26 30.5| 5 |99.5|67.5/ 60| 2 | 60 | 45|58 |30|30|40|72|45]27| M6 | 98
-201 150| 70 [102|7.5| 33 |5.5|127| 85 |80 | 2 | 70|60 |72 (30|40 50|90 55|35| M8 122
P 227/167| 80 |120(8.5| 335 | 6 | 150|100 |94 | 3 |80 |70 |85 33|50 60|105| 65|40 |M10|145
I 278|205(100/146| 10 | 455 | 10 | 159 | 105 [102| 3 [100| 85 [102|49 |60 |75|136|83 |53 |M10|180
[/ 303|218]120/170| 12 | 455 | 10| 187|125 |118| 3 |[100| 90 [110|41|70|85|150| 90 | 60 |M10|200
unit : mm
___“_
Code
S 30
Y 5 6 7 7 7
w 5 6 8 8 8
D 18 22,5 28 28 33
o s 35 40 50 50 60
< AR 30 35 45 45 55
2 8-M6 x P1.0 12-M6 x P1.0 12-M6 x P1.0 12-M8 x P1.25 12-M10 x P1.5
= A 65 77 95 120 140
= B 55 60 70 80 20
S N 70 80 95 130 150
NA 5 6 6 7 7
o) 85 100 120 160 185
L M6 x P1.0 M8 x P1.25 M10 x P1.5 M10 x P1.5 M12 x P1.75
M 100 120 140 180 210
. P | 45.46-63-70 | 454663~ 70 7075+ 85 90 - 100 ~ 115 - 145 | 90 - 100 - 115 145
1w S M3 M4 - M5 M3 - M4 - M5 M5 - M6 M6 - M8 M6 - M8
Zo 46 - 55 - 60 46 - 55 - 60 64 - 70 - 80 92 - 110 + 130 92+ 110 ~ 130
T, e M4 x P0.7 M4 x P0.7 M5 x P0.8 M5 x P0.8 M5 x P0.8
x 7 e 30 - 40 - 50 30 - 40 - 50 50 « 60 - 70 70-80-95-110 | 708095~ 110
=l U 8 11 814 14 19 19
= HL 100 122~ 125 145 ~ 150 181~ 190 - 200 181~ 190 - 200




HID)

PWOF series

RATIO : 50.75.100.150.200.250.300.400.500

i E—— R———

AP I AN AR N N

OUTPUT SHAFT

o3
L
Oy
Z0
<o
el
DfD
c%
= Z
O
=

& A
OR Input bore AB Output shaft
PCD P AF
) AG AE BD BC NB
— NA
HIli HI
© ] ‘ ’E _l'== E’ %w@ _E F
gl | E -l 5 . Af L\
(& — H
I —
] T AEE | La 170
S 8| e
@ |
- ®f o |
= =y i - I P
% gL\_:

TCcOOIBIXTVTIro€L£ziFzSses<xo

16-Z

16.3
5
8-M6 x P1.0
65
55
70
5
85
M6 x P1.0
100
45-46 6370
M3 - M4 - M5
46 ~ 55~ 60
M4 x P0O.7
30 ~ 40 ~ 50
811
100

PCD JA

60 | 45
33 55|88 | 44 | 80 2 70 | 60
33.5 6 |100| 50 (94 | 3 | 80|70
455 |10 (108| 54 |102| 3 |100| 85
455 |10 (128| 64 |118| 3 |100| 90

22.8 28.3 28.3
6 8 8
12-M6 x P1.0 12-M6 x P1.0 12-M8 x P1.25
77 95 120
60 70 80
80 95 130
6 6 7
100 120 160
M8 x P1.25 M10 x P1.5 M10 x P1.5
120 140 180
45-46 6370 707585 90 ~ 100 ~ 115 ~ 145
M3~ M4 - M5 M5 - M6 M6 - M8
46 ~ 55~ 60 64 - 70~ 80 92 - 110 ~ 130
M4 x P0.7 M5 x P0.8 M5 x P0.8
30 ~ 40 ~ 50 506070 708095+ 110
814 14 19
122 ~ 125 145 ~ 150 181~ 190 ~ 200

O I 3 3 N e 0 e S R Y A
169|129| 55 | 80 | 6 26 - 30.5| 5 | 65 |32.5| 60
-201 150| 70 [102|7.5
PG 227|167 80 |120/8.5
I 278(205(100(146| 10
i 303/218]120|170| 12

58 | 30
72 130
85 |33
1021 49
110 41

40|72 | 45
50|90 | 55
60 |105| 65
751136 83
85 150| 90

M6 | 98
M8 | 122
M10|145
M10|180
M10|200

35
40
53
60

30
33.3
8
12-M10 x P1.5
140
90
150
7
185
M12 x P1.75
210
100 ~ 115 -
M6 - M8
92 - 110 ~ 130
M5 x P0.8
708095110
19
181~ 190 ~ 200

90 - 145

& LIMING



25 W ER R R ALUMINUM ALLOY WORM REDUCER

PWNF series

RATIO :50.75.100.150.200.250.300.400.500

o> A B
Input bore AB Output shaft BB | BE
AF
AG AE BD ! BC NB
NA
I — HH N
fo= ® H 40 &57 =
M [¢] T 1 I
s
| ® (=) o < I '
: O |3 ; |
- [is} z| s
i t i Te H s|s
| / . e} H |
| (=) O |
. L [
= PCD JA JD =
= J AC
AD

I I 3 2 A N I 3 (Y M P EY B L

169(129| 55 |80 | 6 |26 ~ 30.5| 5 |108| 36 60 | 45 |58 | 30 72 | 45 M6 | 98
-201 150| 70 |102|7.5| 33 5.5(128| 46 80 2 70 |60 | 72 | 30 40 50 90 | 55 35 M8 | 122
227 167| 80 (120/8.5| 33.5 6 [146/53 |94 | 3 |80 |70|85|33|50|60|105|65 |40 M10|145
m278 205/100/146/ 10| 45.5 |10 |154| 57 |102| 3 |100| 85 (10249 | 60 | 75 |136| 83 | 53 |M10|180
303 218|120(/170/12| 45,5 |10 |172|65 |118| 3 |100| 90 |[110| 41 | 70 | 85 |150| 90 | 60 |M10|200

s 30
J 8-M6 x P1.0 12-M6 x P1.0 12-M6 x P1.0 12-M8 x P1.25 12-M10 x P1.5
JA 65 77 95 120 140
E JB 55 60 70 80 90
= uC 22 28 34 34 40
= [ 18 18 20 20 21
o N 70 80 95 130 150
= NA 5 6 6 7 7
0 85 100 120 160 185
L M6 x P1.0 M8 x P1.25 M10 x P1.5 M10 x P1.5 M12 x P1.75
M 100 120 140 180 210
. P | 45-46-63-70 | 454663 - 70 707585 |90 100 115 145 | 90 - 100 - 115 « 145
S| K | M3 M4 M5 | M3-M4- NS M5 « M6 M6 - M8 M6 - M8
4y R 46 - 55 - 60 46 - 55 - 60 64 - 70 - 80 92« 110 ~ 130 92« 110 - 130
. S M4 x P0.7 M4 x P0.7 M5 x P0.8 M5 x P0.8 M5 x P0.8
x 2 e 30 - 40 - 50 30 - 40 - 50 50 - 60 - 70 70-80-95-110 | 708095 110
5= I 8 11 8- 14 14 19 19
= 100 122 - 125 145 - 150 181 - 190 + 200 181 - 190 ~ 200

- | w0 | m | e | n
14 20 25 25




Technical Information

A&

BB
E2ER TR REBBREPFrcENEER  ARBEERTIE
RIR MG 2 E B E e R R B it A B 28 -

ETFRIBERER -15° C ;BN 45° C ¥ - MR E R A8 -

2 TERBEREE 0° C i - MWAZRE NMRA:

(1) EANFELRESERIREPIF-

(2) FENNERVWAE R AL R ARHBEK -

(3) ERBERIEAR  EEHNMESERSNEER B2 tERRTa BB L ERNASH  BeERE
BAIRS -

EMEF 300 /N\iEE e EAEE - 1 FEELIE S 2000 /N\SHEH  MBIREETREE SRIEIEIRIEATE2E -
Lubrication

In cases of ambient temperatures not envisaged in the table, call our Technical Service.

In the case of temperatures under -15° C or over 45° C it is

necessary to use oil seals with special properties.

For operating ranges with temperatures under 0° C it is necessary to consider the following:

(1) The motors need to be suitable for operation at the envisaged ambient temperature.

(2) The power of the electric motor needs to be adequate for exceeding the higher starting torques required.

(3) During the early stages of service, problems of lubrication may arise due to the high level of viscosity
taken on by the oil and so it is wise to have a few minutes of rotation under no load.

After Initial 300 hours of usage, the interior of the reducing gear should be cleaned up and refill new oil.

And then, after every 2000 hours of usage replace new oil again. The period depends on the type of

service and the environment where the reduction unit works.

& LIMING




25 W ER R R ALUMINUM ALLOY WORM REDUCER

Technical Information

RAITE R

2R BRE IR
WRACAEENZEANNEBRANBABHE F2E NANREANSERHSEH -
IE5h - EERZE BRI N ERSANEATERBTARRERMEIMA SHHE
® fERIRIB LR E R -
® fERIRMELERE BN -
0%HL%&EMEHET%%&@%%E%W%%%°
® S LR R M R R KRRV H LA -
® KRN IEENEEH L (FELISEH) K
® EREMINRE AR S EE BN R HT -
o ETFRIZHEBREE -5 EF +40 ENHE AR -
® RZENRBBHMMERmAVIRIES -
o RZEREBMNARERSAIRIED -
QE%&EMEﬁ¢

KRRBEREEAREBANRED -

BT ER (BENE ) REKENHETREE
ERERRNRSREIHE () BEAFEBEMEER FRVERERE (£ fs. ﬂm:%°
(*) Frgip 2 BB iRE A R R B EVAS  ERBERELIRE mSRE - fE RENHECHRERIFRED -

Critical applications

For other mounting positions and/or particular input speeds, refer to the tables
that highlight different critical situations for each size of reduction unit.

It is also necessary to take due consideration of and carefully assess

the following applications by calling our Technical Service:

®

®

® Use in services that could be hazardous for people if the reduction unit fails.
@ Applications with especially high inertia.

@® Use as a lifting winch.

@ Applications with high dynamic strain on the case of the reduction unit.

@ In places with T° under -5° C or over 40° C.

@® Use in chemically aggressive environments.

@ Use in a salty environment.

@ Use in radioactive environments.

@ Use in environments pressures other than atmospheric pressure.

Avoid applications where even partial immersion of the reduction unit is required.

The maximum torque (*) that the gear reducer can support must not exceed three times the nominal
torque (f.s.=1) stated in the performance tables.

(*) intended for momentary overloads due to starting at full load, braking, shocks or other causes,
particularly those that are dynamic.




Technical Information

A&

ZEEIRSIE

ELEMERE - BER NIRSEIR:

® RUIERH AR B ZERERKES E - B A IR IREIET

© IR % L2 A B 2R £ 2 AT - WA B REE R R I RV B L SR e S 75 M) 2 5 1ERE -

o IR ABEEEREABICANE F—RIERE (4 2 6 R ) AN RARERBEHPNATRE ZRER
It - BEFERZIEMIIE I HAATBEMBCAN T £ E2 alge R RE M ARERE LR ZI8E -

¢ FEERRERFRNERLEEBINGZ N SBEBIHERSAIRIEZ N A REBE4 T RIER
Fhs&tE Nt - LUgNNERS -

o EERFEMNIFEABRECHMBER MR ERERINER -

® BEHARETIFIRIZEWERE 15 B2 +45 & (IiBBREER - FRARMKIM A SHE -

o ZiETM (B iR  BEhES  $hE ) WALREKGEB LN/ O - ZAERANBAA S EE T RLEER
IEREZ IR AR IR R SR R R INR AT A T - WU B AR B R R E e e Rt At -

® RIENAZ IS AR UEERSHREIES 5ZZF DB -

o MBEMEREKSHWEN - WIS KSR RLAHMBIEERR - BLESHRREIEE -

Installation

To install the reduction unit it is necessary to note the following recommendations:

® The mounting on the machine must be stable to avoid any vibration.

@ Check the correct direction of rotation of the reduction unit output shaft before fitting the unit to the
machine.

@ In the case of particularly lengthy periods of storage (4/6 months), if the oil seal is not immersed in
the lubricant inside the unit, it is recommended to change it since the rubber could stick to the shaft
or may even have lost the elasticity it needs to function properly.

® Whenever possible, protect the reduction unit against solar radiation and bad weather.

@ Ensure the motor cools correctly by assuring good passage of air from the fan side.

@ In the case of ambient temperatures < 15° C or > +45° C call the Technical Services.

@ The various parts (pulleys, gear wheels, couplings, shafts, etc.) must be mounted on the solid or
hollow shafts using special threaded holes or other systems that anyhow ensure correct operation
without risking damage to the bearings or external parts of the units. Lubricate the surfaces in
contact to avoid seizure or oxidation.

@ Starting must take place gradually, without immediately applying the maximum load.

® When there are parts, objects or materials under the motor drive that can be damaged by even

limited spillage of oil, special protection should be fitted.

& LIMING




25 W ER R R ALUMINUM ALLOY WORM REDUCER

Technical Information

RAITE R

BIERE

RSV IRIER B f.s. ZREURMIR
HEBEEIRIFRIEEAN T -

SR ERSENERRER &
RERE NN ERERE

o EBHENAHHEIL . A—B—C
o BHEHEMNISRE /N /8X (2)
© RUENAVSAR : BUENREL 1 /N = (%)

BHEFI: A—998%H fa<03
B—hE&HE fas<3
C—BIZVEE fa<10

fa=Je/dm

@ Je (kgm?) BeEhEh FRYINEEEIE S
@ Jm(kgm?) FBiENEFIES

UN5R fa >10 FREAREIIMTASHE -

Service factor

The service factor (f.s.) depends on

the operating conditions the

reduction unit is subjected to.

The parameters that need to be taken into
consideration to select the most adequate
service factor correctly comprise:

@ type of load of the operated machine:A-B-C
@ length of daily operating time : hours/day (A)

@ start-up frequency : starts/hour (*)

TYPE OF LOAD : A -uniform fa<0.3
B -moderate shocks fa<3
C -heavy shocks fa<10

fa = Je/dm

@ fa factor of inertia

@ Je (kgm?) moment of reduced external
inertia at the drive-shaft

@ Jm(kgm?) moment of inertia of motor

If fa >10 call our Technical Service.

A —EBHNRREZEN BBEEER BEREEE
o/ NBURRES - FTREE B ReART - IEUK -

B —& & - NI TR, - EYFEERE - F
Bas  KIBAUES  PRBHESR ERWET -

B8 BENRIPT - B - B1As A R BE LR

HE - mERRKE UK K SRR -

C —KEUBHK - BIPK JPERHE - B/ O - TiE
EXEN ERKRBMEE  EK - 74
W SEECIZ 0 - S8R - @R - s B KK - 18
PR - 8888 RIBBEREE  IRENEs - fobiri -

<7 oo IBIRER

A -Screw feeders for light materials, fans,
assembly lines, conveyor belts for light
materials, small mixers, lifts, cleaning
machines, fillers,control machines.

B -Winding devices, woodworking

machine feeders, goods lifts,

balancers, threading machines, medium mixers,
conveyor belts for heavy materials, winches,
sliding doors, fertilizer scrapers, packing
machines, concrete mixers, crane mechanisms,
milling cutters, folding machines, gear pumps.

C -Mixers for heavy materials, shears, presses,
centrifuges, rotating supports, winches and lifts
for heavy materials, grinding lathes, stone mills,
bucket elevators, drilling machines, hammer
mills, cam presses, folding machines, turntables,
tumbling barrels, vibrators, shredders.

24 |16 | 8 | 2 | A ST
23- 2-{18-16
22-{19-{17-15 —
21-{18-[16-14 CrH—
2 4171513 — T
19 416 4 1.4 - 1.2 LI B — |
//
18 -/15-[1.3 -] 1.1 ——
1.7 (1.4 [12- 1 & —TA o
16131109 = —T
| _—
1512 1 o8- —
e 510 20 30 40 50 60 70 80 90 100




Aluminum Alloy Worm Reducer and Motor Mounting Instructions

e T < U9 B 3 2R AR B

/% ﬁﬁ ?Ell:ﬁ

2B HFERRENERREE S
It - USRS EERZF -
Confirm the motor, and gearbox
size. Clean up the mounting
surface.

MNEBZEMEE @ 35 AN - il
FHEm FR=E -

Remove the motor key if the
diameter of motor shaft is
under ¢ 35.

MEFEL N - NFTH
E BAREANAA -
Check motor shaft size and
insert bushing into input bore if
necessary.

HHZERE  FANERFSEER
RBAMHFRR - WA E AT -
Remove the plug on the adapter
plate. Rotate the set collar till
the bolt is line up.

i BIEEE RN MER -

Put the motor into the gearbox
vertically.

FEHRBARFHEEREHE
B2,

Tighten the set collar bolt with
torque wrench.

$[O1ZE5R -
Tighten back the screw plug.

2. FBIRLS

& 1~4 R AwRFHE L5
AV=L:

Tighten the mounting bolt in
1~4 order with torque wrench.

1. B HERS
3 LYRVEE “Ia
To be sure to tighten motor
first and then to tighten the set
collar on motor shaft.

B 4
67 AOJEEf -
Please assembly in order
according to above steps,
especially for step 6 and step 7.

& LIMING



=15 O 73 25 5 98 87 21 % ADJUSTABLE BACKLASH WORM REDUCER

ANE series

ANE %51/ 0] Jf 5505 48 Rl 2= 1%
BEERET SN SHl - BRE  15R

. Wbl N
EERAS SHEEES

owﬁifﬂfr YRR
O EASHBEBRIANE BN B ZER

o T E 250
o BT 1EE NEMR
o I

o BWEFEMMEN EJKE

ANE Series Adjustable Backlash Worm Gear Reducer
Characteristic: dual-lead design, high output ttorque, high rigidity, low noise, low
vibration and low backlash ( 0~6 arcmin ).

@ Easy to adjust backlash for increasing accuracy and service life.
@ Customerized specifications are available.
@ Suitable for high-accuracy transmission system, indexing, positioning and sizing applications:
e 4th-axis of machine tables
e Rotary tables and index tables
e Robots
e Positioning and sizing devices of various industrial machinery

HEHE Type & #REE Raio:
® 40#:1/20

® 50#:1/30

® 60#:1/40

® 70#:1/50

® 110#:1/40~1/50~1/60

ANE ANEOM
OB #EE) Solid output shaft OthzEdhES) Hollow output shaft




Characteristic of ANE Series
ANE Z5I|Z miStE

LR RPTES NERRRERE

AR EEIBIFER RN EOE N RBEES R - B & 7 EEHEOEE - 5
DRSS e EEEIE NS E  EENBIER  ARRFRSBHANEE  MEEEN
122 RIBIR e BB AR EIE S IR - A& EEHROD/OEE - of B 5 At ERES -

LERERTEHERMEWPFNEEES N AuEBAEHEEREAR EHEEFNAEEESLRER -
IRV E R 7 EIRIREC S - MRIER A G ERVEH - L*ﬁt_JLJ\uF‘F@H%EHﬁE’JFﬁﬁ%%ﬁa—&ﬂkﬁc”‘5
ERBRERNBIRER SMBRBITENEREN LB BREIBRNHOME - EiRmIBFERIBERE /) -

LERRPITEFEAENEMSRIRORR - BEFNA RIS ERNOESE G, WHAERE R BELE AmER
SKEBEBE D EREBPRRA  LEREES RSN EE-

Principle of Dual-lead Worm Transmission and Backlash Adjustment

The backlash adjustment on a conventional worm / worm gear set is made by moving

the worm along the worm gear in radial direction, which may result in a change of center

distance of the transmission set. Such change of center distance will cause poor contact

between teeth, wearing and affection on accuracy of worm / worm gear set.

However, the backlash adjustment on a dual-lead worm is made by moving worm in axial direction,
which does not change the distance of the transmission set and avoid above problems.

The dual-lead worm features varied teeth thickness. There is a different lead length

between the right and left tooth faces, that creates a continuous teeth shapes. To properly
engage with the worm, the teeth faces of worm gear are also designed with different right

and left tooth faces. This permits backlash adjustment to achieve the best condition.

After a period of operation, if a backlash between worm and worm gear increases due to wear,
it can be adjusted by moving the worm in axial direction until a proper backlash is obtained.

The dual-lead worm transmission allows for changing side backlash to keep correct teeth-engagement at
all times. In addition, it has a compact structure and easy adjustment. Therefore, it is ideally suited for
indexing devices that require continuous accuracy by adjusting teeth backlash to the minimum extent.

& UMING



Indication of Model Numbers
Tl

K - £ I - I -

0

R T B H S & s 18 i &=t
Type Model Output Table Supporting Bearing Ratio Motor Type
GT 60 B: FERIKEE (604~200#) TypeB-C- S:
85 Ball Bearing BE 1-Stage : 5, 10, 18
110 C: KXY R AR #E (60#~200#) €S 2-Stage : 25, 50, 100
135 Crossed Roller Bearing
170 H - S: RBRIREFE KD ZE (60#)
180(S) Ball Bearing Type H:
200 YRR EEAR Pz B8E% 1-Stage : 10, 18
250 Crossed Roller Bearing S 2-Stage : 50, 100
(85#~250#)
A=) Quiet operation
FRMESRIZREREIRIRS L EE - Grinding spiral bevel gear & Helical gears

contribute to reduce vibration and noise.

St - SHE

EARN MR 25

SRR -

High Rigidity & High Torque
High rigidity & high torque are achived
by crossed roller bearings.

WERTE 98% DAL~

High Efficiency
Efficiency exceeds 98%.




Characteristic of GT Series

GT 2SI Emistt

S IE R

OISR E RS EE

i Al P R B IR I‘tﬁﬁfé?é%% NIESEI RS
o LlﬁEﬁﬁnJAﬁiﬁ"F%@uEE’JH/L\V*Dl@]
E - REBENENHEIE

Flexible Motor Connection

The modular design of motor connection plate is
suitable for any brand servomotor and stepmotor.

The input-end and the motor are coupled through a
collet locking meshanism. It has passed dynamical
balance analysis to assure concentricity and balance
on the connection and no backlash for power
transmission while running at high speed.

[pES
RASEERNAAEENE - BE
I SR . O E R RS R

@A -

EHEaER/)\WERSES - TRojE
AR ke

hZe 4518

fo&E - EoARfER)

SEEEM
EBTENBE +10 sec
[EIFERIFR < 1 arcmin
BFEE R 7 2 arcmin

High Accuracy
Repetitive Positioning Accuracy +10 sec
Torsional Backlash < 1 arcmin

Lost Motion 2 arcmin

E}‘ﬁLH\D
EiERE O RS EEEE

Direct Mounting of Workpiece
The rotating table allows for direct
mounting of workpiece for added
convenience in workpiece loading.

Hollow Structure Design
Make it convenient for electrlc
wiring or piping work.

YR hE e BmaR s SEEMNL
FERMERAREERRE  EREERR—RE GEEBEARERRSSME  EBES ONC I

BERN_FGU L BREEYIE - BIRE - S84
HBENESRRHS -

T Rtk wRISHEZBEE -
ERASSIRAMEEREWITE - 15
RUA -

% [Z 3% DING

Helical Gear Design

The speed reduction mechanism employs helical
gears, which provides two times meshing rate of
teeth when comparing with regular spur gears. In
addition, it also Specification extremely smooth
running, low noise, high torque output and low
backlash.

High Precision Gear Machining

The housing of reducer is made by aluminum
alloy, and precision machining by CNC
machine.

Precision teeth grinding assures gear accuracy
reaches DING class.

& LIMING



= E R P ZE e i Y 50 &% HOLLOW ROTARY REDUCER

MODEL : GT-S

RATIO : 510.18 ( ¢ 1-Stage)

<
5 19
T+ |+ [
B || ]
m
o E— Y |
L0
B1 5 M 4-M3X0.5 deep6
B2
B4, B3 2-C6 w7
85#~250# 4c4
B9
B10 O
— E|
[o9]
o L ]
o @ @ ©
1 ASIERSY
3 8 5
Lol |
< N
s [T 1T T [ 2-C12 wr c10
D PCDC13 /|9 PCD C11_
unit: mm

N I A I N
14

A1 8 8-14 14-19 1924 19-24 24-28-32-35
A2 30-40-50 30-40-50 50-60-70 50-60-70 70-80-95-110 | 70-80-95-110 | 95-110-114.3
A3 M3~ M4~ M5 M3~ M4~ M5 M4~ M5~ M6 M4~ M5~ M6 M5~ M6~ M8 M5~ M6 - M8 M6 - M8~ M12
A4 46-63°60 46-63°60 70-75~90 70-75-90 |90-100-115-145/90-100-115-145| 115-145-200
A5 4655 4655 64-70-80 64-70-80 92110130 92110130 122-130-180
A6 M4 x 0.7 M4 x 0.7 M5 x 0.8 M5 x 0.8 M6 x 1.0 M6 x 1.0 M10x 1.5
B1 66 79 82.5 98 114.5-128.5 114.5-128.5 160~180
B2 31 36 37 42 59 59 80

B3 6 13 10 9 14 15 24

B4 10 10 12 15 18 20 25

B5 2 3 3 3 4 4 5

B6 45 70 95 115 138 170 218

B7 - 52 59 92 104 140 160

B8 26 30 35 50 85 100 120

B9 26.5 32 31.5 41 445-58.5 44.5-58.5 63-82
B10 6.5 6 6.5 6 8.5 8.5 10

B11 29.2 41.6 54 66.6 88 98.5 124.5

C1 60 85 110 135 180 200 250

Cc2 69 87 112 138 180 204 254

C3 80.2 110 144 169 228 248 307

C4 4.5 5.5 6.8 9 11 11 13

C5 50 70 90 110 145 170 220

C6 - 4 5 5 6 8 10

C7 - 28 35 45 60 68 90

Cc8 - 38 49 60 72.5 85 110

C9 30 30 30 30 30 15 15

C10 6-M4 x 0.7 6-M4 x 0.7 6-M5x 0.8 6-M5x 0.8 6-M6 x 1.0 12-M6 x 1.0 12-M8 x 1.25
C11 38 62.5 80 104 120 155 200

C12 5 deepb 4 deepb 5 deepb 5 deepb6 6 deep7 6 deep7 8 deep9
C13 36 62.5 80 104 120 155 200

C14 4 4 5 5.5 6 9 9

C15 - 5 4.5 6 8 8 8




Characteristic of GT-S 1-Stage Series

GT-S B ZIEmis

2-M3X0.5 deep6

B2

4-C4 w7 C5

2-C12 H7
PCD C13

GT-S EEm#EK 1-Stage

ST ey [
Egﬁ“pftfbt iﬂﬁ ; orting Beating 518 | i, 5 A4 | Crossed Roller Bearing
5 5 19 33 43 116 212 402
FRUEILEAR /;{\la:;?n:f:::;:’::;ie) T | Nm | 10 4 14 26 34 9 | 183 | 334
18 3 10 19 25 45 128 234
Ty, | Nm | 5~18 1.5 EZRETEMLHE 1.5 Times of Rated Output Torque
i‘jf:gf;jiéi/etgaeﬁc?gfou; IZ:ZE: Towvor| Nm | 5~18 2 [ZXEEHHIAE 2 Times of Rated Output Torque
{8115 / Inertia Moment kgm? | 5~18 | 777 x 107 121%?6" M;gix 2%_26" i71601_? i7163_§ i31505,l
HIZ55F883% / Output Permissible Speed rpm | 5~18 300 200 200 200 200 200 200
e @ o= s e a=
ENRREI SR = / Lost Motion arcmin| 5~18 2(0.033°)
EEENEE
R;Efgiif/lﬁiéitioning Accuracy arcsec| 5~18 +10(0.00287)
AFFHE / Permissible Thrust Load N 5~18 350 900 1200 2200 4000 4000 5060
BEFEEAH / Permissible Moment Load Nm | 5~18 7 18 24 45 65 120 100
T{E&E % / Runout of Output Table Surface mm | 5~18 0.01 0.01 0.015 | 0.015 0.02 0.02 0.025
TIEEELE /
Runout of Output Table Inner / Outer Diameter mm | 5~18 0.01 0.01 0.015 | 0.015 0.02 0.02 0.025
TYEGF1TE / Parallelism of Output Table mm | 5~18 0.02 0.02 0.025 | 0.025 0.03 0.03 0.035
E= / Weight kg | 5~18

& LIMING



= E R P ZE e i Y 50 &% HOLLOW ROTARY REDUCER

MODEL : GT-S

RATIO : 25.50.100 ( #E% 2-Stage)

R E— |
(e}
51 ) 14 4-M3X0.5 deep6
B2 -
B4 B3] 2-C6 Hr el
185 &8 1| e
85#~250#
B9
B10
A5 o o E =
e Il eas
0 2-C12 wr
PCD C13

unit: mm

IS I I T N T N

A1 8 8-14 14 14 19 19 19-24

A2 30-40-50 30-40-50 50-60-70 50-60-70 50-60-70 50-60-70 70-80-95-110

A3 M3~ M4~ M5 M3~ M4~ M5 M4~ M5~ M6 M4 - M5 - M6 M4~ M5 - M6 M4~ M5~ M6 M5~ M6~ M8

A4 46-63°60 46-63-60 70-75~90 70-75~90 70-75-90 70-75-90 90-100-115-145

A5 46-55 4655 64-70-80 64-70-80 64-70-80 64-70-80 92110130

A6 M4 x 0.7 M4 x 0.7 M5 x 0.8 M5 x 0.8 M5 x 0.8 M5 x 0.8 M6 x 1.0

B1 103 109 110.5 128 155.5 155.5 194-208.5

B2 31 36 37 42 59 59 80

B3 6 13 10 9 14 15 24

B4 10 10 12 15 18 20 25

B5 2 3 3 3 4 4 5

B6 45 70 95 115 140 170 218

B7 - 52 59 92 104 140 160

B8 26 30 35 50 85 100 120

B9 32 33 32 33.5 45.5 45.5 51-65.5

B10 4.5 6 4.5 6 10 10 8225

B11 29.2 41.6 54 66.6 88 98.5 124.5

C1 60 85 110 135 180 200 250

Cc2 69 87 112 138 180 204 254

C3 80.2 110 144 169 228 248 307

C4 4.5 5.5 6.8 9 11 11 13

C5 50 70 90 110 145 170 220

C6 - 4 5 5 6 8 10

C7 - 28 35 45 60 68 90

Cc8 - 38 49 60 72.5 85 110

C9 30 30 30 30 30 15 15

C10 6-M4 x 0.7 6-M4 x 0.7 6-M5x 0.8 6-M5 x 0.8 6-M6 x 1.0 12-M6 x 1.0 12-M8 x 1.25

C11 38 62.5 80 104 120 155 200

C12 5 deep6 4 deepb 5 deep6 5 deep6 6 deep7 6 deep7 8 deep9

C13 36 62.5 80 104 120 155 200

C14 4 4 5 5.5 6 9 9

C15 - ) 4.5 6 8 8 8




Characteristic of GT-S 2-Stage Series

GT-S EEzJIEmis

A 19 2-M3X0.5 deepb
O i
%5 £
o
o
60# -
4Camr c5

2-C12 H7
PCD C13

GT-S EETRIZE W 2-Stage

ez i ah / TE TR R o s
25~100| /5 RX AR #EADZE / Crossed Roller Bearin
Output Table Supporting Bearing / Ball Bearing - ! ing
25 5 19 33 43 116 212 402

XA EH 1 4E / Rated Output Torque

- | CUipHE 1Or T | Nm | 50 4 14 26 34 9 | 183 | 334

(Nominal output torque)
100 4 14 26 34 90 183 334
B A N%RAEE / Max. Acceleration Torque T, | Nm [25~100 1.5 (SR8 EM LR 1.5 Times of Rated Output Torque
R ABEHAE / Max. Output Torque
T. Nm |25~100 2 [ZXEEH TR 2 Times of Rated Output Torque
2 /F#%B / Emergency Stop Torque or - I 2 g
Py yy— . 2 - 7 1203 x 1483 2772 27619 | 27619 | 53551
{E 418 E / Inertia Moment kg.m? |25~100| 777 x 10 10° «10° | x10° | x10° | x10° | x10°
\ 7175 25 883% / Output Permissible Speed rpm |25~100 300 200 | 200 | 200 | 200 | 200 | 200
[E|#2fEPR / Torsional Backlash arcmin|25~100 <2 <2 <2 <2 <2 <2 <2
ENRREIEm = / Lost Motion arcmin|25~100 3(0.05°)
SBEMEE /
EeEEE arcsec|25~100 +15(0.0042° )

Repetitive Positioning Accuracy
AEFEE / Permissible Thrust Load N |25~100 350 900 1200 2200 4000 4000 4000
BHFEEAS / Permissible Moment Load Nm [25~100 7 18 24 45 65 120 100
T{EEME®E / Runout of Output Table Surface mm |25~100 0.01 0.01 0.015 | 0.015 0.02 0.02 0.025
TEERLNE /

e . mm |25~100 0.01 0.01 0.015 0.015 0.02 0.02 0.025
Runout of Output Table Inner / Outer Diameter
TYEGF1TE / Parallelism of Output Table mm [25~100 0.02 0.02 0.025 | 0.025 0.03 0.03 0.035
B = / Weight kg [25~100

& LIMING



= E R P ZE e i Y 50 &% HOLLOW ROTARY REDUCER

MODEL : GT-B

RATIO : 5.10.18 ( & 1-Stage)

85#~200#

B10

4- M3X0.5 deepb

C10
C11
C12
C13
C14

DAl

® 19
(@)
& | o
o L
.
<
B1 13) 14
B2
B4 B3
1 B5 2-C6 H7
B9
[ N~ ]
ot T *
-1 0 N~ ©
- Qy M O
I ISTERSY
i } 7
| L
S - 2-C11 H7
PCD C12

unit: mm

I T T N T
14

8 8-14 1419 19-24
30-40-50 30:40-50 50-60-70 50-60-70 70-80-95-110
M3~ M4-~M5 M3~ M4-~M5 M4-~M5-~ M6 M4-~M5-~ M6 M5~ M6 - M8
46-63-60 46-63-60 70-75-90 70-75-90 90-100-115-145

4655 4655 64-70-80 64-70-80 92-110-130
M4 x 0.7 M4 x 0.7 M5 x 0.8 M5 x 0.8 M6 x 1.0

66 86.5 90.5 111 125.5-139.5

31 445 45 55 70

6 21.5 18 22 30

10 10 12 15 20

2 3 3 3 4

45 70 95 115 170

- 52 59 92 120

20 22 30 50 75

26.5 31 315 41 44.5-575
6.5 5 5.5 6 8.5°7.5
29.2 41.6 54 66.6 92.5

60 85 110 135 200

69 87 112 138 202

80.2 1101 144 169.1 242.5

4.5 5.5 6.8 9 11

50 70 90 110 170

- 4 5 5 8

- 28 35 45 68

- 38 49 60 85

M4 x 0.7 M4 x 0.7 M5 x 0.8 M5 x 0.8 M6 x 1.0

38 62.5 80 104 155

5 deepb 5 deepb 5 deepb 5 deep5 8 deep8

36 62.5 80 104 155

4 4 5 5.5 9

- 7.5 12.5 17 24




Characteristic of GT-B 1-Stage Series

GT-B Bz S Emis 1

C13

F—T 2-M3X0.5 Deep6
|

B2

60#

4-C4 nr

2-C11 w7
PCD C12

GT-B EEZ R 1-Stage

o 08 | 138 2008

BT ESTEE /

5~18 OIS / Ball Bearin
Output Table Supporting Bearing ™ 5
5 5 18 33 43 142
. Toy Nm 10 4 14 26 34 112
(Nominal output torque)
18 3 10 19 25 85

B ANNZRIAEE / Max. Acceleration Torque T, | Nm |5~18 1.5 ZEEEH L IR 1.5 Times of Rated Output Torque
R#EHHE / Max. Output Torque _ o )
= 54145 / Emergency Stop Torque Tovor| Nm | 5~18 2 fEEAEH HAE 2 Times of Rated Output Torque

B8 / Inertia Moment kg.m® | 5~18 | 777 x 10-7 | 1268 x 10-6 | 1562 x 10-6 | 2918 x 10-6 {29072 x 10-6

HAFFER / Output Permissible Speed rom | 5~18 300 300 300 300 300
B 2= / Lost Motion arcmin | 5~18 2(0.033°)

BEBETEMBE

ijizii\iﬁi;itioning Accuracy arcsec | 5~18 +10(0.0028°)

AEFHE / Permissible Thrust Load N 5~18 350 600 800 1450 2500
BEFE e s / Permissible Moment Load Nm | 5~18 7 12 16 30 50
T{EAE®E / Runout of Output Table Surface mm | 5~18 0.01 0.01 0.015 0.015 0.02
TERRIMNE /

Runout of Output Table Inner / Outer Diameter mm | 5~18 0.01 0.01 0.015 0.015 0.02
T{E&¥17E / Parallelism of Output Table mm | 5~18 0.02 0.02 0.025 0.025 0.03
E S / Weight kg 5~18 0.54 117 2.54 3.83 10.09

& LIMING



= E R P ZE e i Y 50 &% HOLLOW ROTARY REDUCER

MODEL : GT-B

RATIO : 25.50.100 ( #E% 2-Stage)

85#~200#

B10

C10
C1
C12
C13
C14

B1

C13

19

o

B9

8
304050
M3-M4 M5
466360
46-55
M4 x 0.7
103
31
6
10
2
45
20
32
4.5
29.2
60
69
80.2
4.5
50

M4 x 0.7
38

5 deepb
36
4

I

&
o g |
- \ ﬁ\‘ J
3) M 4- M3X0.5 deep6
B2 oct
B4 B3 cs5
22 2-C6
BE ad F 4-Cc4
o7 o N\
_ N7/
/ﬁf & 5
EetEFEE @ — 8
] 58 a\% 3 5
‘ o ¢
N 2-C11 H7 6-C9
PCD C12 PCD C10
N1
c8 cs8
unit: mm

30:40-50 50-60-70 50-60-70
M3~ M4~ M5 M4~ M5~ M6 M4-~M5 - M6
46~63-60 70-75-90 70-75-90
4655 64-70-80 64-70-80
M4 x 0.7 M5 x 0.8 M5 x 0.8
116.5 131 141
445 45 55
21.5 18 22
10 12 15
3 3 3
70 95 115
52 59 92
22 30 50
32 33.5 33.5
5 6 6
41.6 54 66.6
85 110 135
87 112 138
1101 144 169.1
5.5 6.8 9
70 90 110
4 5 5
28 35 45
38 49 60
M4 x 0.7 M5 x 0.8 M5 x 0.8
62.5 80 104
5 deep6 5 deep6 5 deep5
62.5 80 104
4 5 5.5
75 12.5 17

14 14 14 19

50-60-70
M4~ M5~ M6
70-75-90
64-70-80
M5 x 0.8
166.5
70
30
20
4
170
120
75
455
10
92.5
200
202
242.5
1"

170

68
85
M6 x 1.0
155
8 deep8
155

24




Characteristic of GT-B 2-Stage Series

GT-B xS Emis 1

® 19
5 2-M3X0.5 Deepb
|
& | £
N
m
T ; T
0c1
4-C4 Hr
C5

60#

2-C11 w7
PCD C12

GT-B ZEERIIER 2-Stage

o o8 | 1358|2008

ez /
25~100 RIS / Ball Bearin

Output Table Supporting Bearing ™ e

25 5 18 33 43 142
EETE / Rated Output T
B EE T 4E / Rate : utput Torque 7, | Nm = a hy - - I

(Nominal output torque)

100 4 14 26 34 112
B A/N%RAEE / Max. Acceleration Torque T, | Nm |25~100 1.5 ZEEEH LR 1.5 Times of Rated Output Torque
?j(%f;;&gn /el\r/;iﬁc(;ustfou; E:gzz Tovor| Nm [25~100 2 ERAEH T 2 Times of Rated Output Torque
B8 2 / Inertia Moment kg.m* [25~100| 777 x 107 | 1268 x 10° | 1562 x 10° | 2918 x 10 | 29072 x 10°®
H A EFEE / Output Permissible Speed rom |25~100 300 300 300 300 300
[E|#2fEPR / Torsional Backlash arcmin| 25~100 <2 <2 <2 <2 <2
E)REE = / Lost Motion arcmin| 25~100 3(0.05°)
SBEMEE /

arcsec|25~100 +15(0.0042°

Repetitive Positioning Accuracy ( )
AEFEE / Permissible Thrust Load N |25~100 350 600 800 1450 2500
BHFEFEAS / Permissible Moment Load Nm |25~100 7 12 16 30 50
T{E&E®#E / Runout of Output Table Surface mm |25~100 0.01 0.01 0.015 0.015 0.02
(RN mm |25~100|  0.01 0.01 0.015 0.015 0.02
Runout of Output Table Inner / Outer Diameter ' ) ) ' )
TYEGF1TE / Parallelism of O mm |25~100 0.02 0.02 0.025 0.025 0.03
E= / Weight kg |25~100 1.1 1.95 3.76 4.92 11.8

& LIMING



=

5% h 2= g dEF 5 E 2 HOLLOW ROTARY REDUCER

MODEL : GT-C

RATIO : 5.10.18 ( & 1-Stage)

85#~200#

C6

C10
C11
C12
C13
C14

30:40-50
M3 M4 M5
46-63-60
46-55
M4 x 0.7
66
31
6
10
2
45
30
15
26.5
6.5
29.2
60
69
80.2
4.5
50

M4 x 0.7
38

5 deep6
36
4

o 19
O
- | -
3 N
N E—
q- '
O M 4- M3XO0.5 deep6
B1
B4B2 B3 —C
] ] B5 2-C6 H7 €s 4-C4
B9
B10
— 5 o= N };\\ 5
- X o [Te}
IR “T o
ay
N
2-C11 Hr 6-C9
PCD C12 PCD C10
unit: mm
110 135 170 200
14 14-19 19-24 19-24
30-40-50 50:60-70 50:60-70 70-80-95-110 70-80-95-110
M3~ M4~ M5 M4~ M5~ M6 M4~ M5~ M6 M5-M6- M8 M5-M6 M8
46-63-60 70-75-90 70-75-90 90-100-115-145 | 90-100-115-145
46-55 64-70-80 64-70-80 92-110-130 92-110-130
M4 x 0.7 M5 x 0.8 M5 x 0.8 M6 x 1.0 M6 x 1.0
78.5 82.5 98 115.5-128.5 113.5-127.5
36.5 37 42 60 58
13.5 10 9 6 18
10 12 15 36 20
3 3 3 6 4
70 95 115 135 170
52 59 92 104 120
22 30 50 85 75
31 315 41 44.5-57.5 44.5-57.5
5 5.5 6 8.5-75 8.5°75
41.6 54 66.6 92.5 92.5
85 110 135 170 200
87 112 138 176 202
110.1 144 169.1 227.5 242.5
5.5 6.8 9 1 1
70 90 110 145 170
4 5 5 6 8
28 35 45 60 68
38 49 60 72.5 85
M4 x 0.7 M5 x 0.8 M5 x 0.8 M8 x 1.25 M6 x 1.0
62.5 80 104 120 155
5 deep6 5 deep6 5 deep5 6 deep8 8 deep8
62.5 80 104 120 155
4 5 5.5 - 9
5 4.5 4 - 12




Characteristic of GT-C 1-Stage Series

GT-C ERZISIEmiTHE

19

F—T 2-M3X0.5 Deepb
1/

AN
m
( ]
60# Jc1
4-C4 n7 C5
\\\
N
Yo}
™ & ©
3] &
9,
C
2-C11 w7 6-C9
PCD C12 PCD C10

GT-C EEURIE W 1-Stage

f?uﬂﬁpfﬁiﬁimu/ppomng Bearing 5~18 R X R A& / Crossed Roller Bearing
5 & 18 33 43 100 142
LI /:T\lf;?n(zrltt:)lftr:;eue) T,y | Nm 10 4 14 26 34 - 112
18 8 10 19 25 - 85
T, | Nm |5~18 1.5 (388 EHM L %R 1.5 Times of Rated Output Torque
iﬁéﬁfﬁ?ﬁé}i g:gzﬁccjustfou; ?;:gaz Tovor| Nm | 5~18 2 ZEEEH K 2 Times of Rated Output Torque
1B 14182 / Inertia Moment kg.m® | 5~18 | 735 x 107 | 1203 x 10° | 1483 x 10° | 2772 x 10°® |27619 x 10°°|27619 x 10°®
AR / Output Permissible Speed rom | 5~18 200 200 200 200 200 200
[BI32 /PR / Torsional Backlash arcmin| 5~18 <1 <1 <1 <1 <1 <1
ENRREIER = / Lost Motion arcmin| 5~18 2(0.033°)
EEEMNEE
Rjifit{ix\i/fiéitioning Accuracy arcsec| 5~18 +10(0.0028)
AFFHE / Permissible Thrust Load N 5~18 500 900 1200 2200 4000 4000
BErEEASH / Permissible Moment Load Nm | 5~18 10 18 24 45 65 80
T{EAME®IE / Runout of Output Table Surface mm | 5~18 | 0.01 0.01 0.015 0.015 0.02 0.02
TEBRIMNE
ij(:JTo:i:put Table Inner / Outer Diameter mm | 5~18| 0.01 0.01 0.015 0.015 0.02 0.02
TYEGF1TE / Parallelism of Output Table mm | 5~18 0.02 0.02 0.025 0.025 0.03 0.03
E= / Weight kg |5~18 0.62 11 2.04 313 8.66

& LIMING



=

5% h 2= g dEF 5 E 2 HOLLOW ROTARY REDUCER

MODEL : GT-C

RATIO : 25.50.100

85#~200#

C10
C1
C12
C13
C14

B1

( #E% 2-Stage)

B9

B2

B4 B3
I Iss

8
304050
M3~ M4 M5
46°63-60

46-55
M4 x 0.7

103

31

6

10

2

45

30

15

32

4.5

29.2
60
69

80.2
4.5
50

M4 x 0.7
38

5 deep6
36
4

T——1

»B8

30:40-50 50-60-70 50-60-70
M3~ M4-~M5 M4 - M5 - M6 M4~ M5 - M6
46~63-60 70-75-90 70-75-90
4655 64-70-80 64-70-80
M4 x 0.7 M5 x 0.8 M5 x 0.8
108.5 123 128
36.5 37 42
13.5 10 9
10 12 15
3 3 3
70 95 115
52 59 92
22 30 50
32 33.5 33.5
5 6 6
41.6 54 66.6
85 110 135
87 112 138
1101 144 169.1
5.5 6.8 9
70 90 110
4 5 5
28 35 45
38 49 60
M4 x 0.7 M5 x 0.8 M5 x 0.8
62.5 80 104
5 deepb 5 deepb 5 deep5
62.5 80 104
4 5 5.5
5 4.5 4

o 19
O
< | o
AN
2 |
e — J
g 14| \ 4- M3X0.5 deep6
mfo}
- c5
2-C6 Hr 4Ca
NE,
%\ -
T = (&)
b % R .
o @ ::i%% ¥ O
ASIRSY SIS
& o
N
9 i
2-C11 w7 6-C9
PCD C12 |

50-60-70
M4~ M5 - M6
70-75-90
64-70-80
M5 x 0.8
156.5
60
6
36
6
135
104
85
45.5
10
92.5
170
176
2275
11
145
6
60
72.5
M8 x 1.25
120
6 deep8
120

unit: mm

14 14 14 19 19

50-60-70
M4-M5- M6
70-75-90
64-70-80
M5 x 0.8
154.5
58
18
20
4
170
120
75
45.5
10
92.5
200
202
2425
11
170

68
85
M6 x 1.0
155
8 deep8
155

12




Characteristic of GT-C 2-Stage Series
GT-C £z EmEtt

e 19 2-M3X0.5 Deep6
O
|
& | £
AN
m
[ ]
c1
4-C4 Hr C5
\\ N
N
Te]
e
(@]
™
2-C11 w7 6-C9
PCD C12 PCD C10

GT-C ZE5 s %% 2-Stage

ez g / — .
gutput?abi Supporting Beating 25~100 % W44 AL 8% / Crossed Roller Bearing

25 5 18 33 43 100 142
B / Rated Output T

i, ekl (R U T | Nm | 50 4 14 26 34 - 12
(Nominal output torque)

100 4 14 26 34 - 112

B ANMNZRIAEE / Max. Acceleration Torque T, | Nm [25~100 1.5 ZEEEH LR 1.5 Times of Rated Output Torque
7;?%%%;%‘” /eﬁgiﬁc(;lgf;; %232 Tovor| Nm |25~100 2 EXEERHHIAE 2 Times of Rated Output Torque
1E 1418 E / Inertia Moment kg.m* |25~100|735 x 107|1203 x 101483 x 10°|2772 x 10°°|27619 x 10°|27619 x 10°®
H A FFER / Output Permissible Speed rom |25~100| 200 200 200 200 200 200
[SI#2fEPK / Torsional Backlash arcmin|25~100| <2 <2 <2 <2 <2 <2
B2 / Lost Motion arcmin [25~100 3(0.05°)
BEETEMBE /
arcsec|25~100 +15(0.0042°
Repetitive Positioning Accuracy ( )
AEFHE / Permissible Thrust Load N [25~100 500 900 1200 2200 4000 4000
BEFEEEE / Permissible Moment Load Nm |25~100 10 18 24 45 65 80
T{E&E®H#E / Runout of Output Table Surface mm |25~100| 0.01 0.01 0.015 0.015 0.02 0.02
TERNE / 25~100| 0.01 0.01 0.015 0.015 0.02 0.02
mm ~ . . : . . .

Runout of Output Table Inner / Outer Diameter
T{E&¥1TE / Parallelism of Output Table mm |25~100| 0.02 0.02 0.025 0.025 0.03 0.03
S £ / Weight kg [25~100 1.1 1.78 3.51 4.21 10.3 10.3

& LIMING



= E R P ZE e i Y 50 &% HOLLOW ROTARY REDUCER

MODEL : GT-H

RATIO : 10.18 ( EEE¢ 1-Stage)

< 19
O 1
i - I - |
N L]
| N
7o)
B1 O ﬁf\ 4-M3X0.5 deepb
B2
] C5 4-C4
1B5 2-C6 H7
] 3 A
B9 ﬁm’
21 h2d
| © © 5
oof T| < &
m N~ © + 8
S o] @ &
ASTIRSY [+9) N~
o © © 8) (@]
NN o DAL
D% 594
2-C12 H7 / 6-C10
PCD C13 PCD C11
N———
C8 _L C8
unit: mm
135 200 250
14 14-19 19-24 35
A2 304050 30-40-50 50-60-70 50-60-70 70-80-95-110 95-110-114.3
A3 M3-~M4-M5 M3~ M4~ M5 M4~ M5~ M6 M4 -~M5 - M6 M5~M6 - M8 M6~ M8 M12
A4 46-63-60 46-63-60 70-75-90 70-75-90 90:100-115-145 115~145-200
A5 46-55 46-55 64-70-80 64-70-80 92110130 122-130-180
A6 M4 x 0.7 M4 x 0.7 M5 x 0.8 M5 x 0.8 M6 x 1.0 M10 x 1.5
B1 66 78.5 90.5 104 125.5-139.5 184
B2 31 38.5 45 48 70 84
B3 6 13 17 12 25 27.5
B4 10 10 12 15 20 25
B5 2 3 3 3 4 5
B6 45 70 95 115 170 218
B7 - 52 59 92 140 160
B8 26 33 40 63 100 120
B9 26.5 31 315 41 44.5-575 82
B10 6.5 5 5.5 6 8.5-7.5 10
B11 29.2 41.6 54 66.6 98.5 122
C1 60 85 110 135 200 250
C2 69 87 112 138 202 254
C3 80.2 110.1 144 169.1 248.5 307
C4 4.5 5.5 6.8 9 11 13
C5 50 70 90 110 170 220
C6 - 4 5 5 8 10
Cc7 - 28 35 45 68 90
C8 - 38 49 60 85 110
Cc9 30 30 45 30 30 30
Cc10 M4 x 0.7 M4 x 0.7 M5 x 0.8 M5 x 0.8 M6 x 1.0 M8 x 1.25
C11 38 62.5 80 104 155 200
C12 5 deep6 5 deepb 5 deep5 5 deep5 8 deep8 8 deep14.5
C13 36 62.5 80 104 155 200
C14 4 4 5 5.5 9 9
C15 - 5 4.5 6 12 8




Characteristic of GT-H 1-Stage Series

GT-H EERZSEmFIt

2-M3X0.5 deep6

B2

4-C4 w7 C5

2-C12 H7
PCD C13

GT-H EEEE W 1-Stage

By TFaszEE / BRI
1018 7Y X RX AR EEAKDZE / Crossed Roller Bearin
Output Table Supporting Bearing / Ball Bearing - e
28 £ 8 L4745 / Rated Output Torque o N 10 4 14 26 34 183 334
m
(Nominal output torque) ” 18 3 10 19 25 128 234
B AMNZRAEE / Max. Acceleration Torque T, | Nm [10-18 1.5 ZRETEMLHE 1.5 Times of Rated Output Torque
RABEHAE / Max. Output Torque
T. Nm [10-18 2 [ZXEEHHIAE 2 Times of Rated Output Torque

= /F#%B / Emergency Stop Torque or - I 2 4
e = . 2 R 7 1203 x 1483 x 2772 x 27619 53551
{E 418 E / Inertia Moment kg.m?[10-18| 777 x10 10° 10 10° < 10° % 10°
AR / Output Permissible Speed rom |10-18 300 200 200 200 200 200
[E|#2fEPR / Torsional Backlash arcmin|10-18 <1 <1 <1 <1 <1 <1
EfREE¥m 2 / Lost Motion arcmin|10+18 2(0.033°)
BEEMEE /

e arcsec|10-18 £10(0.0028° )
Repetitive Positioning Accuracy
REFHE / Permissible Thrust Load N [10-18 350 900 1200 2200 4000 5060
BIHEMEAH / Permissible Moment Load Nm [10-18 7 18 24 45 80 100
T{EEME®E / Runout of Output Table Surface mm |10-18 0.01 0.01 0.015 0.015 0.02 0.025
TEBRIMNE /

ASIRNS _ mm |[10-18]  0.01 001 | 0015 | 0.015 0.02 0.025
Runout of Output Table Inner / Outer Diameter
TYEGF1TE / Parallelism of Output Table mm [10-18 0.02 0.02 0.025 0.025 0.03 0.035
E£ / Weight kg (10-18 9.7 2041

& LIMING



= E R P ZE e i Y 50 &% HOLLOW ROTARY REDUCER

MODEL : GT-H

RATIO : 50.100 ( 2% 2-Stage)

¥ 19
© |
% & I & [
N |||
| N |
by ﬁr\‘l_ M3X0.5 deep6
o
B1
85#~250# B2 DC1
ol 2-C6 w7 = a-ca_
1B5
BO -
B10 - s 5
[ee]
- m !
| o| @ & o 3}
T slel o BN
EE- 3} @ o)) & ©
/ey
® ;%f . 1) @ﬁ@ © LY
— / N
%L 2C12 W |y 6.C10
PCDC13 1§ PCD C11
- N——
cs | cs
unit: mm

14 14 14 19

8 19-24
A2 30:40-50 30:40-50 50-60-70 50:60-70 50-60-70 70-80-95-110
A3 M3~ M4 - M5 M3 M4~ M5 M4~ M5~ M6 M4~ M5 - M6 M4~ M5 - M6 M5~ M6~ M8
A4 46-63-60 46-63-60 70°75-90 70-75-90 70-75-90 90-100+115-145
A5 4655 4655 64-70-80 647080 647080 92-110+-130
AB M4 x 0.7 M4 x 0.7 M5 x 0.8 M5 x 0.8 M5 x 0.8 M6 x 1.0
B1 103 108.5 131 134 166.5 198-212.5
B2 31 36.5 45 48 70 84
B3 6 13 17 12 25 275
B4 10 10 12 15 20 25
B5 2 3 3 3 4 5
B6 45 70 95 115 170 218
B7 - 52 59 92 140 160
B8 26 33 40 63 100 120
B9 32 32 33.5 33.5 45.5 51-65.5
B10 4.5 5 6 6 10 8:22.5
B11 29.2 41.6 54 66.6 98.5 122
C1 60 85 110 135 200 250
C2 69 87 112 138 202 254
C3 80.2 1101 144 169.1 248.5 307
C4 4.5 5.5 6.8 9 1 13
C5 50 70 90 110 170 220
C6 - 4 5 5 8 10
Cc7 - 28 35 45 68 90
C8 - 38 49 60 85 110
C9 30 30 45 30 30 30
C10 M4 x 0.7 M4 x 0.7 M5x0.8 M5 x 0.8 M6 x 1.0 M8 x 1.25
Cc1 38 62.5 80 104 155 200
C12 5 deep6 5 deepb 5 deep5 5 deep5 8 deep8 8 deep14.5
C13 36 62.5 80 104 155 200
C14 4 4 5 5.5 9 9
C15 - 5 4.5 6 12 8




Characteristic of GT-H 2-Stage Series

GT-H %S EmE1t

A 19 2-M3X0.5 deepb
O i
%5 £
o
o
60# -
4Camr c5

2-C12 H7
PCD C13

GT-H EEZ Rl 2R 2-Stage

ez g / e N ]
& e : : 50100 | /% & EB@H.N%( R Y B AR #EKFZE / Crossed Roller Bearing
Output Table Supporting Bearing / Ball Bearing
32 E#A %R / Rated Output T

= afed DUIpHE TorgEe T | Nm | 50-100 4 14 26 34 183 334

(Nominal output torque)

B ANNZRIAEE / Max. Acceleration Torque T, | Nm | 50100 1.5 ZREEH LR 1.5 Times of Rated Output Torque
B AH B / Max. Output Torque . SN )
& {53745 | Emergency Stop Torque Tovor| Nm | 50~100 2 [EEAEH T 2 Times of Rated Output Torque
A . 2 . 7 1203 x 1483 x 2772 x 27619 53551
BB E / Inertia Moment kg.m? | 50100 | 777 x 10 10 10 10° ©10° < 10°
H A EFER / Output Permissible Speed rom | 50-100 300 200 200 200 200 200
[E1#2 /4 / Torsional Backlash arcmin | 50100 <2 <2 <2 <2 <2 <2
EREEIER = / Lost Motion arcmin | 50100 3(0.05°)
BETEMRE /

HEUREL arcsec| 50100 +15(0.0042° )
Repetitive Positioning Accuracy
BEFHE | Permissible Thrust Load N 50100 350 900 1200 2200 4000 5060
B EEEE / Permissible Moment Load Nm | 50-100 7 18 24 45 80 100
T{E&ME % / Runout of Output Table Surface mm | 50100 0.01 0.01 0.015 0.015 0.02 0.025
THEERLE/

mm | 50100 0.01 0.01 0.015 0.015 0.02 0.025

Runout of Output Table Inner / O
T{E&¥1TE / Parallelism of Output Table mm | 50100 0.02 0.02 0.025 0.025 0.03 0.035
E = / Weight kg | 50-100 17

& LIMING



SIE%

B p EfEdE T SR %% HOLLOW ROTARY REDUCER

Glossary

R VRS

Tl = VY
ERRBELFEH
B EREAE -

Output Table Supporting Bearing
This is the type of the bearing used for the output table.

EREE L IHAE [N.m]
ER R R E T LIS R HAE -

Reted Output Torque [N.m]
This is the limit of mechanical strength of the speed reduction mechanism. Make sure that the applied
torque, including the acceleration torque and load fluctuation, does not exceed the permissible torque.

B ANEEHAE / 2EHE (Tonor) IN.mM]
R R R B I PR BE DN SRV B A B - iE B H AR ol el & i = an AN &L 1000 K - #8538 1000 R
CJEEE S AN BN SRR - (e : GT RIMEELS Tovor =2+ Ty, BN 2 EEREHELHE ) -

Max. Output Torque / Emergency Stop Torque (T, or) [N-m]

The emergency stop torque 7, is the maximum permissible torque at the gearbox output end and must not be
reached more than 1000 times during the service life of the gearbox. It must never be exceeded to prevent inside
parts from damage. LIMING GT 7y, = 2-T5; (2 times of rated output torque)

BB E [kg.m?]
EKERIETEEEnEAE-

Inertia Moment [kg.m?]

This is the total sum of the inertial moment of the speed reduction
mechanism converted to a moment on the output table.

HAEEFEZE [rpm]
R R E - DB R L T e R

Output Permissible Speed [rpm]

This is the output table speed that can be tolerated by the mechanical
strength of the speed reduction mechanism.

[CIF2ER (/) [arcmin]
R D EAE A RN RES AERTCHEREARBEE KRB L EINSEEE TR 2% BB -
R A i 1 E R ERA— @M RBLE - ItAUBEAREIRERR - EAR "o " B—ERNAt+oZz—E-

Torsional Backlash (;,) [arcmin]

Torsional backlash j, is the maximum angle of torsion of the output shaft in relation to the input.
Torsional backlash is measured with the input shaft locked. The output is then loaded with a
defined test torque (2% rated output torque) in order to overcome the internal gearhead friction.
The main factor affecting torsional backlash is the face clearance between the gear teeth.

BREEPR = [arcmin]
BIIEREEMBEZ B FAEEEMER FEAQEUR AfyrEsaEERuEEuRFLAE  Z=-

Lost Motion [arcmin]

This is the difference in stopped angles achieved when the output table is
positioned to the same position in the forward and reverse directions.




Glossary

R VRS

EBENEE [arcsec]
ERNBRREABREEMMEESREE-

Repetitive Positioning Accuracy [arcsec]
This is a value indicating the degree of error that generates when positioning
is performed repeatedly to the same position in the same direction.

BEFHEE [N]
TN INER L FERE S RENHENSE-

Permissible Thrust Load [N]
This is the permissible value of thrust load applied to the output table in the axial direction.

BRFEMEEH [N.m]
Eitm et oRONUERNSER EEEH D FaEMNERD -
TR ONROE x BEMENIBEEHESHE

Permissible Moment Load [N.m]

When a load is applied to a position away from the center of the output table, the output
table receives a tilting force. The permissible moment load refers to the permissible value
of moment load calculated by the eccentricity from the center by the applied load.

TrramfmEE [mm]
EERAFE M AL TeEER BhVeRRKENREEKE-

Runout of Output Table Surface [mm)]
This is the max. value of runout of the installation surface of the output
table when the output table is rotated under no load.

TAr&aEILE [mm]
ERAHE MBLTaBER FTaRNEIIMNRBERAE-

Runout of Output Table Inner / Outer Diameter [mm]
This is the max. value of runout of the inner diameter or outer diameter
of the table when the output table is rotated under no load.

TEEFATE [mm]
R Z R E AR T AN EREERNNEE -

Parallelism of Output Table [mm]
This is the inclination of the installation surface of the output table compared

with the actuator installation surface on the equipment side.

G
1212 P65 - SHREBIE  JETRRENE TR SRS -

Protection Class
Based on IP65, dustresistance and waterproofing regarding the degree
of protection of the device is classified using a grade.

g & Weight [kg]
EMES- Product weight.

& LIMING




Permissible Moment Load

B EE

GT60/GT85/GT110/GT135/GT170/GT200

GT60/GT85 :[[o01]"2 GT60/GT85 : [/To01]?

GT110/GT135 :[#Jooss]"2  —  GT110/GT135 : [Joors)

#0022 GT170/GT200 GT170/GT200 : [Zoo2 ]
e

11?:;FEParallelism

& GT60/GT85 : [//[002[A]3
GT110/GT135 : [//[o0zs[4]"3
GT170/GT200 : [//[o03 [4]"3

o iEMotor

* & B e mixig
Runout of output table surface

* 28 B e N IMEIRIE
Runout of output table inner and outer diameter

*3WMETFETTE (ZEEFE)
Parallelism of output table (against the installation surface)

=1

THEERE  FESFH ML VYaBER BHVYaLRENRERAE -

THEERLE IEEEH MW HFEEER  FaREIMENREESEAE -

THEFTE DR LRSS Fam T KHERNEE -

Runout of Output Table Surface: This is the max. value of runout of the installation surface
of the output table when the output table is rotated under no load.

Runout of Output Table Inner / Outer Diameter: This is the max. value of runout of the inner
diameter or outer diameter of the table when the output table is rotated under no load.

Parallelism of Output Table: This is the inclination of the installation surface of the output
table compared with the actuator installation surface on the equipment side.




Permissible Moment Load
A =]

BEsE LAY ER B —
Distance From Center £
of Rotation L[mm] FINl =&
O
s <
=
| T{EFAaTable #o
i S ———
+ 1+
:IT_ | ]|
| @ |
o H#EMotor
|

BE&EMoment Load [ Nm ] =0.001 x F(N) x L(mm)

BEFHE5RNENSE (2%EE)

TWa LS ERg5 e -

B tWEUEEFEEFHEFA—ELOR  BRbFaEE 0 kR L NEuS-
EEFHEE I LAEMAS AR BUSNs 2 E-

Displacement by Moment Load (Reference Value)

The output table will be displaced when it receives the moment load.

The graph plots the table displacement that occurs at distance L from the rotation center
of the output table when a given moment load is applied in the negative direction.

The displacement becomes approximately twofold when the moment load is applied in
both the positive and negative directions.

& LIMING



= E R P ZE e i Y 50 &% HOLLOW ROTARY REDUCER

Applications

ol 2R 1% e PR e B

Ol AR FAFER OsiBEEMER

OfEHPZ=EARERN




Hollow Rotary Reducer and Motor Mounting Instructions
SEE P ZE e s 2R iR ik B FR i L Ak ia e

2B HFERRENERREE S
It - USRS EERZF -
Confirm the motor, and gearbox
size. Clean up the mounting
surface.

MESEMEE @ 35 LU - 5Bl
HEH TREER -

Remove the motor key if the
diameter of motor shaft is
under ¢ 35.

MEFEL N - NFTH
E BAREANAA -
Check motor shaft size and
insert bushing into input bore if
necessary.

ML ER FHAAARFBER
RBAMHFRR - WA E AT -
Remove the plug on the adapter
plate. Rotate the set collar till
the bolt is line up.

EEEFERAREK -
Put the motor into the gearbox
vertically.

B

FEHRBARFHEEREHE
B2,

Tighten the set collar bolt with
torque wrench.

$[O1ZE5R -
Tighten back the screw plug.

2. FIRTRIEFFHEE -

WK 1~4 £ AHE DR FHE L5
INEE -

Tighten the mounting bolt in
1~4 order with torque wrench.

1. %%L\u\%ﬁé%—%m\ E ’ Z—ﬁgﬁé%—%m\
ZEHOVBEIR
To be sure to tighten motor
first and then to tighten the set
collar on motor shaft.

LEDR
67 AOJEEf -

Please assembly in order
according to above steps,
especially for step 6 and step 7.

& LIMING



s AR
Shaft Bore

B
HWE_ AL
Bushing Bore

12.7
14

15.85
16
19
22
24
28
32

B = YL A% P {5 P 5] AR R 22 RO B L B B A -
NERPRENER N EEBAME - EEF
52 PRV L B B A RO B P B A (E -

R

[ ] [ ]




Collet Locking Mechanism
SIS ER T

ARRIRIE R
$E§§ Collet Screw

Bushing

HEIR
Set Collar

B

Input Shaft

FEEHL

Motor Shaft

BEIRIB4A KB EIRIAFER Collet Screw & Collar Torque Table

B3R O TR AR BUHTIE | BTG

WE hadel Spec. of msgcfsréjdg Tighten Torque [ Clench Torque
30 30 60
- 55 40 40 85 M4 x P0.7 12.9 4.83 87
110
e 75 50 gg L M5 x P0.8 12.9 10 164
75 70 170( EE% 2-Stage) ’ ’
200( 5 2-Stage)
90 90 60 170( E2E% 1-Stage)
110 115 70 ) 200( EE¢ 1-Stage) M6 x P1.0 129 16.3 233
140 130 - - - M8 x P1.25 12.9 41 423
170 ]gg
210 - - - M10 x P1.5 12.9 81 678
240 190
230
M10 x P1.5 81 678
N - - M12 x P1.75 (28 110 813

X BiEMEEE B BRI - OJBEEEFTIB - It will cause slip when motor torque exceed clench torque.

lﬁﬁLmMNG



Clamping Sets
I EA

HEFB :

Shrink Disc B BETA

Shrink Disc A 9I\7L\‘ﬁq]«$‘*i

Outside Hexagon Bolt

00
0

i

Bushing
AN
Washer
RHRILEEZ Clamping sets

1o P 44 S B =23 shEh=

%% Model AL P F— Tm%ﬁ,%fajﬂfﬁ ESIRAE m?;,.‘%gﬂf

Spec. of Screw | Screw Grade ighten Torque | Clench Torque | Quantity o
pec. o

Output Bore

(mm) (Nm) (Nm)
2 - 30 @14 M6 x P1.0 12.9 16.3 127.53 6
90 | - . 218 M6 x P1.0 12.9 16.3 196.2 6
- | 55 40 @20 M6 x P1.0 12.9 16.3 196.2 6
10 | - ] @22 M6 x P1.0 12.9 16.3 353.6 8
- 75 o @25 M6 x P1.0 12.9 16.3 353.6 8
- | 9 70 @30 M6 x P1.0 12.9 16.3 353.6 8
140 | - - @32 M6 x P1.0 12.9 16.3 735.75 8
170 | 115 ; @40 M8 x P1.25 12.9 41 882 8
- | 130 - 048 M8 x P1.25 12.9 41 882 8
210 | - . @50 M8 x P1.25 12.9 41 1400 8
240 | - ] @55 M8 x P1.25 12.9 41 2200 8
- | 140 - @55 M8 x P1.25 12.9 41 1600 8
- | 160 - @60 M8 x P1.25 12.9 41 2200 8
280 | - - @60 M10 x P1.5 12.9 81 2880 8
- | 190 - @70 M10 x P1.5 12.9 81 2880 8
- | 230 - @80 M12 x P1.75 12.9 110 8
- | 270 . @90 M12 x P1.75 12.9 110 8




Selection Table of Motor for Reference

0

5 E% 1-Stage

- | - |65 - 75 | - | 90 - 110 | 140 |170| 210 | 240280
- | 60| - 70 -l -] - - - - -
55 | - 75 - |90 | - - 115 | 130 | 140 | 160 190 ~ 230
6070 | - | - | - | - -
170 - 200

- | 270

85-110| 135

14 19

14 19 24

- | - |es 75| 75| - 110|140 - - |170] - |210| 240 280
- 160 | 70 | - - - - - . -
- | - | 5 |75 - |90 |15 - - 1130|140 | 160 | 190 |230- 270
- 130 | 40 | - 50 -l - 8070 - | - | - | - | - | - -

ADFLE
Input
Bore

& LIMING




LIMING REDUCERS

FIRRRER 2R 2251 E am

/ 1B ARl Z& Y% Reducers for Servo Motor

SIBEZTERER High Precision Planetary Reducers

‘ ‘ SIEE AR R
Bk APz hie 8 - Rl iR A RE BBl SR 17 High Precision
Hollow Rotary Actuator Reducers Harmonic Reducers Cycloidal Reducers

B R #haE) A AR R
High Precision Right Angle Reducers

s

F_J




LIMING REDUCERS
FIRR AR 2R 1% 2 51 E an

— X EENE % General Speed Reducers

B8R 2214 Gear Reducers

& LIMING



Inquiry Information

BRERIEETR

fEAR S

Servomotor -

TEZEKR] BART

BRI T BUSR iRED aewaL:ifzELd BRER BEISE
Type Model Ratio Output Shaft ~ Backlash Class MOTOR NO.
Keyway
FIE=C=FIR General Notices:
oikTE AR TBH + Type, model and horsepower
*RIRLEE S O E] + Speed ratio or R.P.M of output shaft
TSR KRBt 7T T + Method of connection and loading
*HE MWL RN EE + Quantity and applied mechanism
*ANFH AN EER + Input connection method and input speed
* B IE M R B SR S ARE A S EEI R T + Motor band Model no or frame & motor shaft dimension
NSIEZYH A
Company Name Contact Person
ik
Address
&7 BE B =7
Tel Fax E-Mail
st

Notes




T

I I

1
\
\

4;444
4

L EE

L b

2023F8H kR
- BEREMAR - KMEBESEIRIHGARE - 5

-II‘Z}

RE
- BRENRIR M ERERMAEEG - ERIBRSREYHEEER  FHE -
- EMBNRIRERE  FERQTYERE  AREHATEOTEXHHEEm -

HIII'

- REFRBFIBENKTE - BEAKEBES - RIBRMAEMESR - BRI BEREEBABEITHER -
August, 2023

- We ask for your understanding if due to product improvements and the product in this catalogue have
not yet been updated.

- We also ask for your understanding if due to printing limitations the objects and colors in this catalogue
do not match the actual products exactly.

- The products in this catalogue have been registered with the patents office.

- The reprinting of this publication in any from or the imitation of any of the products described within is

expressly forbidden without the express permission of the LI MING MACHINERY CO., LTD.

©

T—
\
\




High Accuracy & Efficiency

ﬁ BOmET EEEE 1685
IM LIMING No. 168, Sec. 1, Tanfu Rd.,
Tanzi Dist., Taichung City 427226, Taiwan
*ugﬁmﬂgﬁﬁ mﬂa Tel:886-4-25314888 Fax:886-4-25338982

LI MING MACHINERY CO., LTD. http://www.li-ming.com E-mail:info@li-ming.com



